Parts Price List

Part Number
0020-2021A
0020-7005A
0021-7006A
0027-2010A
0027-2011A
0027-2012A
0027-2013A
0027-2014A
0027-2083A
0027-2086A
0027-2127A
0027-7004A
0027-7005A
0027-7006A
0027-7007D
0027-7017A
0027-7025A
0027-7027A
0027-7056A
0027-7065A
0033-2006A
0033-7009A
0035-2004A
0035-7007A
0035-7008A
0035-7009A
0035-7011A
0035-7012A
0035-7014A
0037-7003A
0044-5014A
0049-7010A
0055-2020A
0055-2039A
0055-7006A
0055-7016A
0055-7020A
0055-7021A
0055-7024A
0055-7026A
0055-7027A
0055-7028A

permgbil
Part Description CAD Retail CAD Dealer
FOOT CONTROL MOUNTING BRACKET $418.22 $292.76
FOOT CONTROL- PROP. OMNI+ W/BRACKET $5,174.77 $3,622.33
CABLE PWR, 3A XLR-DC PLUG (5.5X2.1) V.2 $73.20 $51.24
PERMOFIX ROD 5/16" X 2" L (BMMX50MM) $14.20 $9.93
PERMOFIX ROD 5/16" X 3" L (BMMX75MM) $15.19 $10.63
PERMOFIX ROD 5/16" X 4" L (8BMMX100MM) $16.13 $11.29
PERMOFIX ROD 5/16" X 6" L (BMMX150MM) $18.12 $12.69
PERMOFIX ROD 5/16" X 8" L (8BMMX200MM) $20.09 $14.06
PERMOFIX, PANEL MNT ADAPT 16MM-8MM, 10"/250MM $42. $30.01
PERMOFIX, OMNI MOUNTING ADAPTER, EACH $ $23.53
PERMOFIX, R-NET/VR2 JSM MOUNTING ADAPTER RING & /4. $52.46
PERMOFIX, BASE JNT+5/16" (8MM) THRU MOUNT 19 $89.03
PERMOFIX, BASE JNT+45° SWIVEL END, EACH 2 Ql 7.19 $89.03
PERMOFIX, BASE JNT AND ROUND FLAT PLATE \ 126.66 $88.67
PERMOFIX, SWNG-AWAY JOINT W TWO 90° SWIVEL K $525.95 $368.17
PERMOFIX GOOSENECK ROD 5/16" X 8" L (8MMX20 $222.05 $155.43
PERMOFIX, BASE JNT+COMBI 90° SWIVEL EN $127.19 $89.03
PERMOFIX, BASE JNT+9/16" (14MM) THRU M E& $127.19 $89.03
PERMOFIX, BASE JNT & UT ADJ. DISC ADAPGER $127.19 $89.03
PHA, PERMOFIX ADPTR FOR SWING-A T $218.20 $152.74
KEYPAD, CJ ADVANCED K $62.69 $43.88
CJA - HAND SUPPORT KIT &E $391.86 $274.30
PERMOFIX, HOLDER PLATE CJYW CK SWITCHES $52.71 $36.90
PERMOFIX, MTNG BRKT FORGQOSENECK SWITCH $37.23 $26.06
SWITCH, GOOSENECK, 6' @ 15CM) CBL, 3.5MM PLUG $305.69 $213.99
PERMOFIX, CJ(A) PLATE T@ 8MM ROD (L=50MM) $204.28 $142.99
SWITCH ASSY-DBL GO€ NECK FOR COMPACT $662.23 $463.57
SWITCH, G ENECK, 6" L, 55"(1.4M) CBL, 3.5MM PLUG $242.95 $170.06
OVLE FIXED FOR COMPACT JOYSTICK $274.66 $192.27
T, 3.5MM PLUG W/CR2032 BATTERY $556.86 $389.80
SP IM JACK MALE STEREO-> 2XJACK FEM. $64.59 $45.21
RE TTON INTERFACE $1,721.64 $1,205.15
TERAL PAD COVER ONLY $57.84 $40.48
A, SOLID LAT PAD ONLY (NO PLATE/JOINT) $44.48 $31.14
A, PROX SENSOR ONLY, LTERAL, L =55CM (LONG) $354.52 $248.16
ADJUSTABLE SWIVEL OPTION FOR OCCIPITAL PAD $684.79 $479.36
PHA, LTERAL ARM ONLY, LNG - LEFT $363.85 $254.70
PHA, LTERAL ARM ONLY, LNG - RIGHT $363.85 $254.70
PHA, LAT PAD ASSM W/JINT & PRX SNSR, L =55CM $541.12 $378.79
PHA, LAT PAD ASSM W JNT - SOLID PAD (NO SWI/SNSR) $251.90 $176.33
PHA, LAT PAD ASSM W/JNT & EGG SWITCH $401.19 $280.83
PHA, OCPTAL PAD W/ HDWR, SMALL $117.89 $82.52

Effective 09/09/2019
Prices subject to change without notice. lofl

Permobil Inc.
300 Duke Drive
Lebanon, TN 37090
1-800-736-0925

Sales Fax: 1-800-231-3256

Parts



Parts Price List

0055-7029A
0055-7034A
0055-7035A
0063-7001A
102059-99-0
103070-99-0
104027-99-0
104028-99-0
104165-99-0
104196-99-0
104316-99-0
104319-99-0
104321-99-0
104322-99-0
104323-99-0
104553-99-0
104572-99-0
104574-99-0
104575-99-0
104705-99-0
105078-99-0
105219-99-0
105428-99-0
105777-99-0
105778-99-0
106072-99-0
106210-99-0
106804-99-0
106805-99-0
11139
1820029
1820039
1820095
1820096
1820100
1820109
1820249
1820250
1820280
1820281
1820292
1820302
1820306

PHA, OCPTAL PAD, LARGE W/HDW

PHA, OVAL LTERAL PLATE W JOINT (NO SWI/SNSR)
PHA, OCPTAL PAD MOUNT ASSM, FIXED

SWITCH, GOOSENECK, 9" L, 50"(1.3M) CBL, 3.5MM PLUG
MEDICAL NECESSITIES BAG W/UNIVERSAL BAG HOOKS
AMPUTATION SUPPORT, "H" PAD, UPHOLST, & BRKT, UT
FOOTPLATES MAX LEG WIDE ( 1 PAIR) PS
FOOTPLATES MAX LEG NARROW (1 PAIR) PS

UT RAIL CHARGE SOCKET R-NET

ICS ALTERNATIVE SWITCHBOX SPARE PARTS: 1823591
HEIGHT ADJ ARM ASSEM MX SEAT(L & R)-

SEATPLATE 3 350X350

BACKREST MX 250

BACKREST MX 300

BACKREST MX 350

WC 19 TRANSIT KIT COMPLETE K\ $2,388.72

HEADREST CIl LEATHERETTE K450
LATERAL SUPPORT MOD F MEDIUM
LATERAL SUPPORT MOD B SMALL \
TRANSPORT KIT ISO - EUROPEAN MARKET @
LEGREST, POWER TRANSFER CORPUS

LATERAL SUPPORT SEAT CUSH C3G
ESP, M300 M400 ALL SEATING S
LEGREST,POWER EXTENDING
LEGREST,POWER EXTENDINGW/NARROW
DIRECT BACKREST ADAP,
RAM SELF LEVELING
TCHA SS ARM KIT

TCHA WITH SS ARMS, 3-

R SPARE PARTS-1829004

BASE--NO ARM SENSORS

PERMOFI E KIT
MINI C C
MICROL TCH

BU N, BLACK 2.5" DIAMETER

BUTTON, RED 2.5" DIAMETER

BUTTON, YELLOW 2.5" DIAMETER

INI JOYSTICK 5 SWITCH

MR BRACK PLG V.2 HIGH RIGHT/LOW LEFT
ARMR BRACK PLG V.2 HIGH LEFT/LOW RIGHT
SLIDEBEAR35/39/48-13PDE-F *

WHEELFORK, LEFT, STR C500 FOR 210X65 WHEEL
COVER REAR GOLD/BLACK STREET

WHEELFORK, RIGHT,STR C500 FOR 210X65 WHEEL
WHEEL BOLT KIT - C SERIES INCLUDE INSTRUCTION

permgbil
$180.59 $126.41
$312.66 $218.87
$145.48 $101.83
$348.74 $244.12
$542.92 $380.04
$379.77 $265.83
$681.21 $476.85
$401.85 $281.30
$134.14 $93.89
$896.72 $627.71
$2,303, $1,612.57
$ $204.01
> 8 $253.32
$264.64
370.65 $259.46
$1,672.10
$265.95 $186.16
$503.02 $352.12
$1,735.67 $1,214.97
$802.04 $561.43
$4,729.37 $3,310.56
$349.98 $244.99
$1,222.09 $855.46
$4,298.79 $3,009.15
$4,298.79 $3,009.15
$1,307.93 $915.55
$119.79 $83.85
$363.85 $254.70
$7,948.80 $5,564.15
$2,896.06 $2,027.24
$260.38 $182.26
$332.63 $232.84
$219.53 $153.68
$269.55 $188.68
$219.53 $153.68
$1,051.96 $736.37
$90.43 $63.31
$90.43 $63.31
$45.71 $32.00
$221.17 $154.82
$812.31 $568.61
$221.17 $154.82
$43.72 $30.60

Effective 09/09/2019
Prices subject to change without notice. lofl

Permobil Inc.

300 Duke Drive

Lebanon, TN 37090
1-800-736-0925

Sales Fax: 1-800-231-3256
Parts



Parts Price List

1820308
1820309
1820314
1820324
1820410
1820415
1820421
1820425
1820426
1820429
1820432
1820433
1820435
1820446
1820449
1820450
1820451
1820452
1820453
1820454
1820457
1820458
1820459
1820460
1820461
1820466
1820525
1820528
1820529
1820532
1820537
1820552
1820554
1820714
1820716
1821057
1821069
1821072
1821089
1821179
1821227
1821243
1821244

BULB 24/10 FRONT STREET C350

BULB 24/5, *EACH*, FRONT SIGNAL STREET, C350
REFLECTOR WHITE, FRONT 40MM C500/400/300 K450
REFLECTOR YELLOW SPARE K450, C300 VENT, STREET
SCREW M8X20 ESL ISO 10642

MEDICAL NECESSITIES BAG W/UNIVERSAL BAG HOOKS
CAP SEATELEVATOR/SEATTUBE C300/350, M300/400
MOTOR SEAT ELEVATOR C300 C400 C500 M300 M400
PLASTIC SLEEVE SEAT ELEV C300 C350

SEAT TILT 45°, C300 C350 P+ VSI VR2

SAFETY DEVICE TILT C300 *

COVER, C300 TILT (BLACK)

LIMITSW KIT,45° SEAT TILT VSI VR2 P+, C300 C350
SEAT TUBE, TILT/NO TILT C300 K300 C350

SWINGARM, LEFT C300

SWINGARM, RIGHT C300 K\ $486.49

SHOCK ABSORBER, SILVER EACH, K450

SLIDE BEAR KIT, SWINGARM C300

SPACER WHEELFORK C300 * \
SPACER WASHER WHEELFORK C300 0
BOLT, WHEELFORK C300 C350 K450

SOCKET, WHEELFORK C300 C350 @
DECAL SET HOOKBRACKET C30

DRIVE MOTOR, C300, LEFT INC RAKE & HUB
MAGNETIC WHEEL LOCK C30@, NO%FOR C300HS
DRIVE MOTOR, C300, RIG DING BRAKE & HUB

CABLE UPPER PERM
SWINGARM SHORT 0 INGARM ONLY
LOCK PLUNGE, PERMOLOCK C PLUNGER KIT

REFLECTOR RED,DIAM 1-1/2" K/C300 C350 K450 STR
ACKET FUSE, KOALA, C350 C3/4/500 M3/400

COVER SEAT ELEVATOR, SET W/HW 500, LOWRIDER &
ROLL BRACKET, LEGREST CIl, CORPUS/3G

SQUEEZE GUARD - LEGREST C300
LUGGAGE/ESSENTIALS CARR. INSTALL KIT,BRKTS,HDW
FOOTPLATE, LEFT, STANDARD LEGREST, WIDE, Cll PS
FOOTPLATE, RIGHT,STANDARD LEGREST, WIDE, CII PS

Effective 09/09/2019

Prices subject to change without notice. lofl

permgbil
$13.07 $9.14
$8.04 $5.63
$15.50 $10.85
$27.13 $18.99
$5.49 $3.85
$312.69 $218.88
$9.08 $6.36
$495.10 $346.57
$25.32 $17.72
$4,905.35 $3,433.74
$598. $419.22
$ $70.58
g 7 $270.01
04 $251.32
486.49 $340.54
$340.54
$90.53 $63.37
$25.41 $17.78
$33.26 $23.28
$33.26 $23.28
$75.79 $53.05
$86.12 $60.28
$7.91 $5.54
$1,143.88 $800.72
$384.46 $269.12
$1,143.88 $800.72
$266.45 $186.51
$853.08 $597.16
$234.17 $163.91
$6.90 $4.83
$312.84 $218.99
$58.05 $40.63
$1,322.43 $925.71
$84.92 $59.44
$131.57 $92.10
$5.49 $3.85
$25.55 $17.88
$255.31 $178.72
$31.52 $22.06
$89.41 $62.58
$181.26 $126.88
$170.31 $119.22
$170.31 $119.22

Permobil Inc.

300 Duke Drive

Lebanon, TN 37090

1-800-736-0925

Sales Fax: 1-800-231-3256

Parts



Parts Price List

1821245
1821249
1821250
1821259
1821260
1821261
1821264
1821297
1821304
1821382
1821416
1821420
1821513
1821526
1821527
1821530
1821531
1821533
1821535
1821537
1821538
1821577
1821578
1821579
1821581
1821602
1821603
1821605
1821665
1821681
1821682
1821683
1821684
1821685
1821688
1821689
1821690
1821691
1821692
1821693
1821694
1821695
1821696

UT SUPPORT PAD (J) 5"W X 6.5"T, EACH

STAR HANDLE M5X20 EACH

PLASTIC WASHER, WHEEL 8.4X15X1.5 WHITE
ROLLER O 17 MM, WEB BELT LEGREST, ClI
SPRING, WEB BELT, LEGREST CIl, CORPUS/3G
LOCK NUT M6 HIGH FZB DIN982/ISO7040

SCREW MF6S 8X 75 FZB *

DECAL SET - C300 SHROUD *

8 PORT JUNCTION HUB ICS

GENERAL MODULE ICS, SEAT ELEVATOR

POLE PROTECTION KIT, 4PCS WITH 4 WASHERS
PLASTIC PLUG SEAT FRAME (NEW STYLE) Cll VS
SWITCH BRAKE RELEASE RNET,STREET, X850, K450
R-NET BUS CABLE 2.5M / 98.5" LONG, MALE-MALE
CABLE, ICS SWITCHBOX 1.4M CORPUS

O
ICS BUS CABLE 1.0M 39.5"L, MALE - MALE K\ $57.28

ICS BUS CABLE, 1.5 METER ~59"LONG, MALE-MALE

ICS CABLE EXTENSION 500MM APROX 20", MALE -

ICS MASTER MODULE, INCL. CASE, ADV. SEAT%FR
R-NET BUS CONNECTOR BLOCK 4-PORT g
R-NET BUS CABLE 0.5M / 20" LONG, MA

MOUNT. KIT SEAT ELEVATOR PILLA zi%)o
MOUNT KIT SEAT ELEVATOR C5 %I R LIFT
SEAT ELEVATOR C500 RS VS, % 0" PILLAR LIFT
SOFT POT,PILLAR LIFT,RNET@50 , C400 VS, STR
HAND HEATER W PWR C DDY BTN & 5/16" MTG
HAND HEATER CONE, Y2"W 13%"L 8"H (NO PINS)

ADAPTER CABLE, 3PIN:DINJTO 1/8" (3.5MM) JACK
WHEEL BOLT KIT, DRIV HEEL, LONG AXLE

UT CALF S FWACKET & HARDWARE - EACH
% ORT BRACKET,W/HDW,LOW

UPPT BRACKT & HDW - HIGH
JPPORT BRACKET & HARDWARE - LEFT
NK SUPPORT BRACKET & HARDWARE - RIGHT
H/HIP ADAPTER BRACKET, PS SEAT, EACH
T SUPPORT PAD (A) - 6"W X 5'T
SUPPORT PAD (B) - 3.5"W X 4.5"T
UT SUPPORT PAD (D) - 8"W X 8"T, EACH
UT SUPPORT PAD (E) 8.5"W X 6"T
UT SUPPORT PAD (F) 8.5"D X 3.5'T
UT SUPPORT PAD (H) - 7’W X 7"T CURVED
UT SUPPORT PAD (C) - 8"W X 3.5"T
UT SUPPORT PAD (G) - 12"W X 3.5"T

uT

Effective 09/09/2019

Prices subject to change without notice. lofl

permgbil
$93.77 $65.64
$17.12 $11.99
$5.49 $3.85
$58.79 $41.16
$18.66 $13.07
$11.25 $7.88
$7.45 $5.22
$32.64 $22.85
$84.29 $59.01
$226.08 $158.26
$33. $23.49
$4.83
> 2 $31.65
52 $47.97
$49.98 $34.99
$40.09
$48.63 $34.05
$52.74 $36.92
$488.41 $341.89
$83.01 $58.10
$67.72 $47.41
$214.95 $150.47
$263.75 $184.63
$4,638.83 $3,247.18
$655.58 $458.92
$2,017.22 $1,412.05
$419.21 $293.45
$111.49 $78.04
$45.24 $31.67
$141.39 $98.97
$141.39 $98.97
$141.39 $98.97
$232.07 $162.46
$232.07 $162.46
$112.37 $78.66
$84.92 $59.44
$84.77 $59.33
$124.57 $87.20
$118.83 $83.18
$118.74 $83.12
$119.00 $83.30
$84.92 $59.44
$84.92 $59.44

Permobil Inc.

300 Duke Drive

Lebanon, TN 37090

1-800-736-0925

Sales Fax: 1-800-231-3256

Parts



Parts Price List

1821697
1821698
1821699
1821700
1821701
1821702
1821703
1821704
1821706
1821714
1821743
1821755
1821773
1821774
1821778
1821779
1821781
1821823
1821824
1821825
1821827
1821828
1821861
1821887
1821889
1821899
1821900
1821915
1821922
1821990
1821994
1822017
1822060
1822061
1822062
1822079
1822081
1822082
1822083
1822085
1822086
1822087
1822092

UT MESH COVER FOR PAD (A) EACH

UT MESH COVER FOR PAD (B) EACH

UT MESH COVER FOR PAD (C) EACH

UT MESH COVER FOR PAD (D) EACH

UT MESH COVER FOR PAD (E) EACH

UT MESH COVER FOR PAD (F) EACH

UT MESH COVER FOR PAD (G) EACH

UT MESH COVER FOR PAD (H) EACH

UT MESH COVER FOR PAD (J) EACH

UT EXT KIT LINKAGE 2" & 3" 'DOGBONES'

MINI JOYSTICK FOR OMNI,P+ R-NET, PROPORTIONAL
CLIP NUT KIT M6 (4PCS)

UT THIN RAIL, VS SEAT, FOR 17"W, PAIR

UT THICK RAIL, VS SEAT, FOR 19"W, PAIR

SEAT TUBE FIXED-C400/C500

UT THICK RAIL, VS JUNIOR SEAT, FOR 19"W, PAIR
SERVO KIT, C500 VS ONLY

INSTALL ASSEM TILT, VS SEAT

CRUSH GUARD COVER, VS SEAT, TILT \
CRUSH GUARD COVER TILT REAR VS Q
ICS CABLE EXTENSION 700MM MALE - F

CABLE STAND ACTUATOR, VS POW PROTECT

BUSHING, BRAKE RELEASE C30
BRACKET, HEADREST, UT

UT QUICK RELEASE RECEIVE@-{, HEADR,
ICS CABLE EXTENSION 1. - FEMALE
M.SWITCH/CABLE EL m PROTECT VS

ICS SWITCHBOX W T@Es, 3000MM, VS, K450
CRUSH PROTECT SWITCH, VS STAND ACTUATOR

ACTU ICS TIL S SEAT W/MOUNTING HDW

EAT, WOWER
R EEL, 1000DX24W BLACK TIRE HD3

ACTUM STAND, VS SEAT INCLUDING MOUNTING
S LEGREST, VS SEAT INCL MOUNTING HDWR
ATOR, ICS RECLINE VS SEAT, W/MOUNTING HDW
SRKT LEG ACTU, VS SEAT

RUSH GUARD KIT, VS SEAT

GENERAL MODULE ICS, STAND

BACKREST HINGE, VS SEAT INCL SLIDE BEARINGS
STAND ACTU COVER, VS SEAT

WEB BELT TIGHTENER

HDW KIT, LEGREST ACTU, VS SEAT

KNEE STOP CHAIN VS JR. 7 LINKS

Effective 09/09/2019

Prices subject to change without notice. lofl

K\ $383.71

permgbil
$60.49 $42.34
$57.22 $40.06
$78.95 $55.27
$76.10 $53.27
$92.06 $64.45
$79.72 $55.81
$79.01 $55.31
$123.44 $86.41
$61.66 $43.17
$124.66 $87.26
$3,999. $2,799.85
$14.28
g 0 $154.03
$276.40
11.57 $498.09
$268.59
$1,130.31 $791.22
$3,675.78 $2,573.05
$146.20 $102.35
$25.63 $17.95
$31.35 $21.95
$70.84 $49.59
$16.44 $11.51
$56.25 $39.38
$75.95 $53.16
$120.57 $84.40
$51.24 $35.87
$530.31 $371.22
$111.53 $78.07
$2,287.77 $1,601.43
$941.24 $658.87
$52.74 $36.92
$2,625.35 $1,837.74
$2,253.09 $1,577.16
$1,139.51 $797.65
$82.90 $58.03
$67.82 $47.48
$355.68 $248.98
$664.65 $465.26
$19.60 $13.72
$41.05 $28.73
$40.71 $28.49
$26.45 $18.51

Permobil Inc.
300 Duke Drive
Lebanon, TN 37090
1-800-736-0925

Sales Fax: 1-800-231-3256

Parts



Parts Price List

1822118
1822126
1822130
1822139
1822200
1822209
1822211
1822212
1822232
1822286
1822288
1822290
1822329
1822339
1822340
1822361
1822363
1822364
1822365
1822366
1822367
1822368
1822369
1822370
1822373
1822375
1822376
1822377
1822380
1822381
1822382
1822383
1822384
1822385
1822386
1822387
1822389
1822390
1822392
1822393
1822394
1822410
1822411

BOLT KIT ACTU BACK VS

UPHOLSTERY - UT HEADREST, ERGO, BLACK MESH
EXTRA PANEL MOUNT ATTENDANT CONTROL, P+
FINGER CUP- MINIJOYSTICK

BACKREST HINGE CIl R-NET AND VR2

COVER, SEAT ELEV. C400 PILLAR LIFT

FRAME SUPPT, VS SEAT

WEB BELT, KNEE BLOCK, VS SEAT

SPLIT RIM TRI-SPOKE 1.5X8 NO HUB OR HUBCAP
MOTOR SEAT ELEVATOR C350

GENERAL MODULE ICS, TILT ClI, MX, PS, PSJR

CABLE SOFT POT ICS 1000MM TILT K/C300, C350/400/500

DECAL SET, SWITCHBOX ICS

CLAMP RING, ARMREST, LEFT ClII

CLAMP RING, ARMREST,RIGHT CII

TIRE, 3.00X8" SOLID, GRAY HD3, C3/5/350, MWD
CABLE INHIBIT/LOW SPEED VR2 C300 C350
CABLE SEAT ELEV VR2 C300 C350

CABLE, SEAT TILT, VR2 C300 C350 \
FUSE KIT, CIRCUIT BREAKER C350 < ’

CABLE ADAPTER LIGHT, HD3, ROBO, C3
ICS CABL ACTU CTRL 1500MM 45° S 400/C500

ICS CABLE SOFT POT 1500MM S T,“€400/C500 ClI

CABLE,BRAKE RELEASE,R-NET, 3/350/4/500 KO
CABLE MOTOR VR2 C300 CSSQ
SWITCH BRAKE RELEAS

CABLE MOTOR C300 /M400, K450, R-NET
CABLE BATTERY C308)C350 KO M300/S M400, R-NET
UT WIDTH BARS THIN P 17 X 18 ClI

PAIR 17X20, C3/350 C4/500 ClI

BARS- THICK PAIR 19 X 20
TH BARS -THICK PAIR 19 X 22
ET RECLINE ACTU,INCL HDW, R-NET, CIl C350
R2 BASIC JSM W/2.5M CABLE, M1
-NET STD JOYST MODULE W/ LIGHTS, MONO-JACKS
R-NET STD JOYST MODULE W/ LIGHTS, TOGGLES
POWER MODULE VR2 ADVANCED 70 AMP
POWER MODULE R-NET, 120 AMP
REAR LIGHT C350, COMPLETE *
SWING ARM LEFT C350 *
SWING ARM RIGHT C350 *

Effective 09/09/2019

Prices subject to change without notice. lofl

permgbil
$28.36 $19.85
$248.68 $174.07
$122.39 $85.67
$52.08 $36.46
$670.98 $469.69
$118.65 $83.06
$108.52 $75.96
$35.63 $24.94
$206.48 $144.54
$363.64 $254.55
$275. $193.07
$22.35
> 7 $11.74
\ 18 $48.42
¢ 0$69.18 $48.42
\ $168.97 $118.27
$41.80 $29.26
$22.94 $16.05
$28.66 $20.07
$205.05 $143.53
$52.52 $36.77
$36.17 $25.32
$36.17 $25.32
$22.26 $15.59
$70.74 $49.52
$47.89 $33.52
$97.95 $68.56
$79.45 $55.62
$131.29 $91.90
$141.60 $99.12
$152.62 $106.84
$296.06 $207.24
$318.43 $222.90
$336.99 $235.90
$116.03 $81.22
$660.24 $462.16
$763.04 $534.12
$1,076.50 $753.55
$944.91 $661.44
$1,955.23 $1,368.66
$396.49 $277.55
$678.20 $474.74
$678.20 $474.74

Permobil Inc.

300 Duke Drive

Lebanon, TN 37090
1-800-736-0925

Sales Fax: 1-800-231-3256
Parts



Parts Price List

1822413
1822414
1822415
1822417
1822419
1822420
1822421
1822422
1822423
1822424
1822435
1822437
1822455
1822456
1822468
1822469
1822538
1822567
1822585
1822626
1822628
1822676
1822683
1822685
1822695
1822696
1822697
1822698
1822703
1822704
1822705
1822706
1822707
1822708
1822709
1822710
1822711
1822712
1822713
1822714
1822715
1822716
1822717

permgbil

WHEELFORK PATTERN LEFT C300, C350, K450 $135.71 $95.00
WHEELFORK PATTERN RIGHT C300, C350, K450 $135.71 $95.00
WHEEL, 210X65 SOLID, TRI- SPK, C300/350/500/450 STR $90.57 $63.40
BOLT KIT, CASTER 210X65C3 C300 C350 C500 $35.63 $24.94
WHEELFORK AXLE KIT C350 K450 INCL 2 BALL BEARING+ $115.99 $81.19
SLIDE BEARING KIT C350 SWING ARM $27.13 $18.99
DRIVEMOTOR RIGHT C350 VR2 $1,265.96 $886.18
DRIVE MOTOR LEFT C350 VR2 $1,265.96 $886.18
DRIVE MOTOR, RIGHT C350 R-NET $909.77 $636.84
DRIVE MOTOR, LEFT C350 R-NET $909.77 $636.84
HUB, DRIVE MOTOR, W/HDW C3/350/4/500,KO,M3/HD/400 $105. $73.85
CABLE ANGLE STOP * $37.54
PANEL HOLDER STANDARD,335 R-NET VR2 * .5 $52.86
PANELHOLD LONG, 435 R-NET VR2 $70.08
FUSE 70A INCL CABLE C300 K300 $61 78 $43.24
SWITCH BRAKE RELEASE C300 P+ VR2 VSI R-NET K\ $49.34 $34.54
DECAL SET C350 $51.42 $35.99
REINFORCEMENT KIT, ARMR. PAIR $479.26 $335.49
R-NET PROGRAMING KEY W/6' USB CABLE & P\ $562.65 $393.86
NUT M14X1,5 8 FE/ZN 8 C1 Q $6.90 $4.83
FRICTION BRAKE KIT, PAIR CASTER W , 500 $98.35 $68.84
LATERAL SUPP, "A" PAD W/ BRACKE STERY- $643.87 $450.71
HIP SUPPORT, "B" PAD, W/ BRAC! $439.69 $307.78
HIP SUPPORT; "A" PAD WITH BRAC HOLSTERY- $481.06 $336.74
THIGH SUPPORT; "J" PAD W/ & UPHOSTERY- $480.75 $336.53
THIGH SUPPORT, "C" PA CK & UPHOLSTERY, $493.18 $345.23
THIGH SUPPORT; "G" ACKET- PAIR $440.42 $308.30
THIGH SUPPORT; "G" / BRACK & UPHOLSTERY- $496.43 $347.50
LIGHT, COMPLETE FRO RIGHT, C350 $374.61 $262.23
LIGHT, CO FWONT LEFT, C350 $374.61 $262.23
PS JR CETILT * $99.79 $69.85
SEAT F S JR $1,061.73 $743.21
uT Y RAIL, PS JR SEAT, PAIR $346.18 $242.33
ACKREST HINGE KIT- RIGHT AND LEFT SIDE, $93.46 $65.41

EST PLATE 11 INCH PS JR $226.29 $158.41
ACKREST PLATE 12 INCH PS JR $226.29 $158.41
ACKREST PLATE 13 INCH PS JR $226.29 $158.41
BACKREST PLATE 14 INCH PS JR $226.29 $158.41
BACKREST PLATE 15 INCH PS JR $445.08 $311.56
BACKREST PLATE 16 INCH PS JR $226.29 $158.41
PS JR ARMR ASSEM - RIGHT COMPLETE LOWER $254.71 $178.30
PS JR ARMR ASSEM - LEFT COMPLETE LOWER $254.71 $178.30
LEGREST HNGR SWNG RGT 90° PSJR INCL. RECEIVER $141.04 $98.72

Effective 09/09/2019

Prices subject to change without notice. lofl

Permobil Inc.

300 Duke Drive

Lebanon, TN 37090
1-800-736-0925

Sales Fax: 1-800-231-3256
Parts



Parts Price List

1822718
1822719
1822720
1822721
1822722
1822723
1822724
1822726
1822727
1822772
1822778
1822780
1822782
1822783
1822784
1822785
1822786
1822787
1822788
1822789
1822791
1822798
1822799
1822800
1822801
1822802
1822803
1822804
1822805
1822817
1822820
1822821
1822823
1822838
1822845
1822846
1822868
1822869
1822870
1822965
1822969
1822971
1822973

LEGREST HNGR SWNG LFT 90° PS JR INCL. RECEIVER
LEGREST HNGR SWNG RGT 70° PS JR INCL. RECEIVER
LEGREST HNGR SWNG LFT 70° PS JR INCL. RECEIVER
FOOTPLATE RIGHT, PSJR MULTI AXIS ADJ, NARROW
FOOTPLATE LEFT, PSJR MULTI AXIS ADJ, NARROW
PS JR AMREST CLAMP KIT - RIGHT OR LEFT

PS JR LOCK ARMREST PLASTIC (QTY 1)

DRIVE MOTOR,RIGHT P+ RNET C4/500, 5MPH,

DRIVE MOTOR, LEFT P+ RNET C4/500, 5MPH,
COMPACT ADVANCED JOYSTICK R-NET

C JOYSTICK W/ R-NET CONN BUS CONN & 5/16" MNTG

ACTU BRACK SEAT TILT KIT -50 CTRL PWR BACK CII,HD3

ARMR BLK FABRIC 10" (250 MM) COMPLETE, DUAL
ARMR BLK FABRIC 12" COMPLETE, DUAL TAPER
ARMR BLK FABRIC 14" COMPLETE, DUAL TAPER
ARMR BLK FABRIC 16" COMPLETE, DUAL TAPER
ARMR LEATHERETTE 10" (250 MM) COMPLETE, DUA
ARMR LEATHERETTE 12" (300 MM) COMPLETE, DUAL
ARMR LEATHERETTE 14" (350 MM) COMPLETE #RUAL
ARMR LEATHERETTE 16" (400 MM) COMPLEJE,
PERMOLOCK C, 3.6M EXTEND CBL, PLU

BACKR CUSH 11"X13" PS JR LEATHE

BACKR CUSH 12" X13" PS JR LEA

BACKREST CUSH 13"X16" PS J ETTE
BACKREST CUSH 14"X16" PS@

BACKREST CUSH 15"X16" ATHERETTE
BACKREST CUSH 16" @ LEATHERETTE

ESP MODULE R-NET Q

FOOTSTRAP KIT PADD

CABLE ADAP , 2 INPUT GM ICS

| KIT,V.2 RNET ONLY, C400, C500
ACE, R-NET TO ICS, APROX 29-1/2" L
ER LEAD RNET STR, K450, C400, C500
RAP KIT,KOALA, K450

ET, ICS SW.BOX FOR JOYSTICK MOUNT
RACKET, ICS SWITCHBOX, FOR UT ARMR MOUNT(NO
GO CUSHION, HEADREST NO UPHOLSTERY
LOCK HANDLE M6X20 HEADREST, PANEL MOUNT
LOCK HANDLE, M8X35 HEADREST

LIGHT KIT C350 R-NET *

WHEEL 200X50 SOLID TRI- SPOKE, C400 HD3 KOALA

WHEEL 3.00X8 PNEU,3-SPOKE SPLIT RIM, NO

WHEEL 3.00X8, PNEUMATIC 3-SPOKE INCL. HUB AND
CAP

Effective 09/09/2019

Prices subject to change without notice. lofl

permgbil

$141.04
$212.87
$212.87
$234.72
$234.72
$116.03
$25.63
$1,143.88
$1,143.88
$2,147.58
$1,959.

$135.05
$167.52
$171.29
$177.27
$197.94
$204.71
$210.58
$1,132.31
$76.73
$111.77
$57.28
$203.47
$78.38
$79.86
$41.59
$57.02
$81.84
$16.57
$30.14
$1,045.23
$96.73
$264.28
$333.65

$98.72
$149.01
$149.01
$164.30
$164.30
$81.22
$17.95
$800.72
$800.72
$1,503.31
$1,371.44
$179.96
$61.19
$53.36
$61.19
$61.19
$61.19
$63.76
$63.76
$65.23
$94.53
$117.27
$119.91
$124.09
$138.55
$143.29
$147.41
$792.62
$53.71
$78.23
$40.09
$142.43
$54.87
$55.91
$29.11
$39.92
$57.29
$11.60
$21.09
$731.67
$67.71
$184.99
$233.56

Permobil Inc.
300 Duke Drive
Lebanon, TN 37090
1-800-736-0925

Sales Fax: 1-800-231-3256

Parts



Parts Price List

1822974
1822975
1822977
1822978
1822979
1822980
1822983
1822986
1822988
1822990
1823011
1823014
1823029
1823033
1823034
1823043
1823067
1823073
1823081
1823142
1823143
1823165
1823167
1823170
1823171
1823172
1823173
1823174
1823175
1823176
1823191
1823192
1823193
1823194
1823195
1823196
1823197
1823198
1823199
1823200
1823201
1823205
1823206

PS JR BACKREST FRAME HEIGHT & ANGLE ADJUSTABLE
PS JR - SEAT TILT FRAME INCL MOUNTING HDW
WHEEL, 3.00X8 SOLID SPLIT RIM,3-SPOKE,NO HUB OR
WHEEL,3.00X8,SOLID, TRI- SPOKE W/HUB&CAP,C3/5/350
WHEEL 2.50X8 SOLID, SPLIT RIM,3-SPOKE,NO HUB OR
WHEEL 2.50X8 US SOLID TRI SPOKE, INCL. HUB &

TIRE, SOLID, 2.50X8 SPLIT RIM ONLY, C400 KO
COMPACT JS LT R-NET CONN NOT OMNI & 5/16" MNTG
COMPACT JOYSTICK FOR OMNI W/ 5/16"(8MM) MOUNT.
COMPACT JOYSTICK LITE FOR OMNI W 5/16"(8MM) MNT
ARMREST,"SHORT", 10.5"X2" PS M1, EACH

ACTUATOR, SEAT TILT 45° PSJR

TIRE 200X50 REAR SOLID C400 HD3 KOALA ENTRA ROBO
CABLE ADAPT. 2 ANGLE STOP (TO ICS GENERAL
GENERAL MODULE ICS, RECLINE(TERRA) - Cll, MX
ADD'L CHARGER SOCKET RNET MOUNTED TO UT RAIL
DECAL SET C500 - SHROUD

DECAL SET C400 - SHROUD

HEADREST VS, CORPUS, ERGO BLACK FABRI URVE
CALF REST "J" MESH VS INCL. UPHOL, BRK S ER

CALF REST "J" VS,BRKTS & SPACER INC OLST
ARMR LOCKING BRKT, FRONT HEIG %MR, PS,
ARMR HEIGHT LOCKING RIGHT
CABLE SEAT ELEV HALF SPD S ICS MODULE
CABLE, LOW SPEED, MANUAINSEAWTILT, PSJR
BRACKET, ICS WITCHBO)@ KREST MOUNT

S

ARMR HEIGHT LOCKI
HINGE KIT, ARMRESTWHEIGHT ADJUST, REAR, EACH, PS

ARMREST, RIGHT,ADJUSTABLE PS

ARMREST ADJUSTABLE PS
PS LO HARDWARE KIT, LEFT AND RIGHT
TUBE KiI SUPPORT,PS LEFT & RIGHT SIDE, PAIR
SE T ASSEMBLY, PS

ATE KIT PS

SSY BACK/ARMR PS

RMR MOUNTING KIT PS-SEAT ALT. REAR PIVOT POINT
ACKR CUSHION 16"/400MM PS M1

BACKR CUSHION 18"/450MM PS M1

BACKR CUSHION 20"/500MM PS M1

BACKR CUSHION 22"/550MM PS M1

BACKR ADJUSTABLE 16-22" 400-550MM, PS

PANEL MOUNT BRACKET, PS PSJR

CRUSH GUARD SEAT TILT PS

Effective 09/09/2019

Prices subject to change without notice. lofl

permgbil

$517.28
$372.53
$284.98
$393.30
$272.23
$402.25
$138.35
$2,222.95
$1,931.86
$2,563.83
$64.
$1,
g 3
77
242.16
$146.28
$122.07
$122.07
$924.26
$840.95
$699.01
$45.24
$40.71
$31.19
$81.29
$28.66
$36.17
$90.45
$226.08
$226.08
$55.98
$55.98
$365.79
$278.07
$149.20
$25.45
$221.49
$232.71
$247.54
$301.42
$860.62
$80.85
$87.99

$362.10
$260.78
$199.49
$275.31
$190.56
$281.58
$96.84
$1,556.07
$1,352.30
$1,794.69
$45.30
$751.13
$33.85
$28.54
$169.50
$102.40
$85.45
$85.45
$646.98
$588.66
$489.31
$31.67
$28.49
$21.83
$56.90
$20.07
$25.32
$63.31
$158.26
$158.26
$39.19
$39.19
$256.05
$194.65
$104.44
$17.81
$155.05
$162.90
$173.28
$211.00
$602.43
$56.60
$61.59

Permobil Inc.

300 Duke Drive

Lebanon, TN 37090
1-800-736-0925

Sales Fax: 1-800-231-3256
Parts



Parts Price List

1823207
1823213
1823214
1823215
1823216
1823217
1823218
1823220
1823221
1823235
1823238
1823241
1823242
1823244
1823245
1823248
1823249
1823259
1823260
1823270
1823289
1823293
1823294
1823297
1823365
1823394
1823395
1823437
1823438
1823439
1823465
1823500
1823501
1823502
1823551
1823591
1823599
1823601
1823602
1823603
1823604
1823623
1823779

ARMR ADAPTER PS EACH

LEGREST HANGER, SW.AWAY RIGHT, 70°, INCL RCVR,
LEGREST HANGER, SW.AWAY LEFT, 70°, INCL RCVR, PS
FOOTPL, NARROW, RIGHT, PS METAL FOOTPLATE
FOOTPL, NARROW, LEFT, PS METAL FOOTPLATE
FOOTPL WIDE- RIGHT- PS METAL FOOTPLATE

FOOTPL WIDE- LEFT- PS METAL FOOTPLATE ASSEMBLY
FOOTPL CLAMP/HINGE RIGHT

HEEL LOOP ASSM, PAIR W HARDWARE, PS & PSJR
BRACKET, HEADREST SUPPORT BACKREST MOUNT
BACKREST FRAME, SLINGBACK PS SR

BRAKE RELEASE ARM C300 PRE-2012 CHASSIS

BRAKE RELEASE ARM C350

BACKREST SLINGBACK 16" 400MM

BACKREST SLINGBACK 18" 450MM

DRIVE MOTOR KOALA 7.5 KM/H, PERMODRIVE

UT LATERAL ADJUSTMENT BAR FOR HEADREST

ARMR KIT ADJUST. - PAIR PS SR

PLASTIC PLUG, 0.875", PS 022X25 (019-20)(22 .5)
ADAPTER SEAT ELEV & TUBE FOR NO TILT 0, oCll

ACTU ICS LEGREST - C300 / C350 CORP DWR)

ICS SWITCHBOX, BUTTONS, 1.4M IC

ICS SWITCHBOX, TOGGLES 1.4 Al , W/DECALS
2

JOYST KNOB, STANDARD R-N
HANDLE GRIP 021-25,4, EA. A%s,

DRIVM/GEAR 19.5:1 RIGH C500S, PERMODRIVE
DRIVM/GEAR 19.5:1 L @H C500S, PERMODRIVE
BOLT KIT CTRL POW%CLINE, C300 C350

POWER CONTROL RECETNE R-NET, C300 C350

GRBEST- R-NET

MENT DISC (TEETH) UNITRAC - QTY 1

M4X12 4.8 ISO 14583 HEXALOBULAR PAN HEAD
S ALTERNATIVE SWITCHBOX (8-INPUT)

ACKET, SWITCHBOX, ARMR CII, VS, K450,KOALA R-
EXTRA PANEL MOUNT, R-NET VR2 ATT CTRL, Cll VS
R-NET ATTENDANT CONTROL W/BUS BLOCK & 1.5M
VR2 ADVANCED JSM W/2.5M CABLE, C300TO, M1
PERMOLOCK BASE, 2M EXT. CABLE (C, C3)

SHOCK ABSORBER C400, EACH

ARMREST, "LONG", 14"X2" PS M1, EACH

Effective 09/09/2019

Prices subject to change without notice. lofl

permgbil

$7.34
$172.62
$172.62
$154.27
$154.27
$398.78
$398.78
$296.55
$43.40
$100.29
$374.

¢ 2

\ 43
¢ 0$9o.43
\$1,l77.48
$55.77
$452.43
$6.90
$92.52
$1,144.33
$388.52
$450.20
$21.61
$34.59
$1,236.49
$1,236.49
$62.27
$1,722.39
$1,648.40
$1,005.27
$27.13
$5.78
$19.60
$5.49
$896.72
$66.20
$145.34
$1,542.88
$703.32
$64.81
$125.17
$77.74

$5.14
$120.83
$120.83
$107.99
$107.99
$279.15
$279.15
$207.58
$30.39
$70.20
$261.97
$27.44
$23.28
$63.31
$63.31
$824.24
$39.04
$316.70
$4.83
$64.76
$801.04
$271.97
$315.14
$15.12
$24.22
$865.55
$865.55
$43.59
$1,205.67
$1,153.88
$703.69
$18.99
$4.05
$13.72
$3.85
$627.71
$46.34
$101.73
$1,080.01
$492.32
$45.37
$87.62
$54.42

Permobil Inc.

300 Duke Drive

Lebanon, TN 37090

1-800-736-0925

Sales Fax: 1-800-231-3256

Parts



Parts Price List

1823850
1823851
1823859
1823929
1823977
1824003
1824007
1824053
1824116
1824118
1824120
1824121
1824122
1824125
1824126
1824130
1824131
1824132
1824141
1824143
1824151
1824152
1824161
1824177
1824178
1824179
1824190
1824196
1824197
1824198
1824199
1824200
1824210
1824212
1824213
1824214
1824216
1824217
1824218
1824220
1824224
1824226
1824227

permgbil
PUSH BUTTON OVERLAY, ICS SWITCHBOX $25.28 $17.70
TOGGLE OVERLAY, ICS SWITCHBOX $15.26 $10.68
STAR HANDLE M6X20 UNITRAC AMP SUPPORT, ATTEND $17.29 $12.10
SQUARE NUT M6 $6.90 $4.83
R-NET BUS CABLE, 3.5M MALE-MALE $76.86 $53.80
SEAT TILT C300/C350 W/O ACTUATOR, P+, ICS, 45° $985.45 $689.82
T-BRACK SHORT/STD,ARMREST KIT 4 T-HANDLES/4 $73.57 $51.49
WHEEL 2.50X8 US AIR SPLIT 3 SPOKE W/HUB & CAP $301.84 $211.29
CABLE, SEAT TILT INHIBIT SEAT ELEV, VR2, C300/350 $97.12 $67.99
ACTU ICS LEGREST - C4/500 STR CIl RE25 156+150 $1,433.99 $1,003.80
ICS SWITCHBOX W/PUSH BUTTON,3.0M,VS,K450,KO $504. $352.87
ACTU ICS RECLINE, C4/500 CORPUSII, 150° SIDE MOUNT $1, $1,059.24
ACTU ICS RECLINE, LOWRIDR 120° CTR MNT RE25 156- ¢ , . $1,059.24
DECAL SET,ICS ALTERNATIVE SWITCHBOX x .98 $27.99
CO-PILOT, HANDLE ONLY R-NET ¢ @116.52 $2,181.57
CO-PILOT, INCL BRACKET R-NET, HD3 K\ $4,294.06 $3,005.84
ATTENDANT CNTRL CO-PILOT R-NET INCL BRACKET, $4,288.95 $3,002.27
CO-PILOT, INCL BRACKET R-NET, VS Q $3,981.10 $2,786.77
TRANSPORTATION KIT K450 \ $1,158.42 $810.89
SEATBELT SHOULDER K450 TRANSPORT KI $178.75 $125.12
FOOTPL INCL. BRACKET, CII VS, LEFT- $315.85 $221.10
FOOTPL INCL. BRACKET, CIl VS, RIG oW $315.85 $221.10
CABLE ACTUATOR 300MM. PS J $38.40 $26.88
CABLE LOWER END STOP TILT $49.34 $34.54
CABLE, ICS SOFT POT GM STREE S, CORPUS 3G/HD $18.18 $12.73
ACTU ICS RECLINE, C4/5 ° RE25 156+150 $1,545.23 $1,081.67
C300 COVER, VINTAG MPLETE KIT $369.25 $258.47
FOOTPL SMALL, K450§ $476.18 $333.33
FOOTPLATE_LARGE, K $476.18 $333.33
CW)OTPLATE SMALL, K450 $48.42 $33.90
OOTPLATE LARGE, K450 $48.42 $33.90
450, NO PADS LEFT & RIGHT SIDE $868.53 $607.98
INTAGE WINE, COMPLETE 3PC SET $369.25 $258.47
OVER, CRYSTAL BLUE, COMPLETE 3PC SET $369.25 $258.47
8.COVER MET CHAR GRAY, COMPLETE 3PC SET $369.25 $258.47
500 COVER VINTAGE WINE COMPLETE 3PC SET $451.21 $315.85
00 COVER, CRYSTAL BLUE COMPLETE 3PC SET $451.21 $315.85
C500 COVER, GRAY METALLIC COMPLETE 3PC SET $451.21 $315.85
WHEEL 210X65 PNEUMATIC TRI-SPOKE, C350/3/5 K450 $113.03 $79.12
CABLE INTERNAL PERMOL. C3 $56.15 $39.30
PERMOLOCK C3, PLASTIC COVER/SCRATCH PLATE $55.85 $39.09
ARMR ASSY LEFT, MX NO PAD $455.97 $319.18
ARMR ASSY RIGHT, MX NO PAD $455.97 $319.18

Effective 09/09/2019
Prices subject to change without notice. lofl

Permobil Inc.

300 Duke Drive

Lebanon, TN 37090
1-800-736-0925

Sales Fax: 1-800-231-3256
Parts



Parts Price List

1824229
1824230
1824231
1824232
1824233
1824237
1824238
1824239
1824240
1824241
1824242
1824243
1824244
1824247
1824255
1824257
1824258
1824259
1824260
1824261
1824262
1824263
1824264
1824265
1824266
1824267
1824268
1824269
1824270
1824271
1824272
1824273
1824274
1824277
1824278
1824280
1824281
1824282
1824283
1824284
1824285
1824286
1824288

PERMOLOCK C3, LOCKING PIN SET FOR C300 C350
HOLDER BATTERY C300, K300, C350

BACKREST PLATE KIT 250 NO CUSHION- K450
BACKREST PLATE KIT 300 MM NO CUSHION- K450
BACKREST PLATE KIT 350 NO CUSHION- K450
SEATPLATE KIT, 10"X10" 250X250, K450,NO CUSHION
SEATPLATE KIT, 12"X12" 300X300, K450,NO CUSHION
SEATPLATE KIT, 14"X14" 350X350, MX, NO CUSHION
SEATPLATE KIT, 16"X16" 400X400, MX, NO CUSHION
CRUSH PROTECT SWITCH K450 MX

PANEL HOLD SHORT R-NET VR2

SCREW ASSEMBLY WHEEL KIT, K450MX

SEAT FRAME MX SEAT

WHEEL KIT SOLID, K450 INCL 4 WHEELS COMPLETE
POSITION SENSOR ICS 100MM SOFT POT
HEADREST LEATHERETTE CURVED BRKT, CORPUS 3G
HEADREST CUSHION, INCL. BLACK MESH FABRIC
HEADREST CUSHION, INCL. LEATHERETTE CQVER
UPHOLSTERY HEADREST, ERGO BLACK FABR

UPHOLSTERY HEADREST, ERGO STYLE, LE TE

MAGNETIC WHEEL LOCK 4,0NM INCL. 1 3
DRIVE MOTOR, 29:1, LEFT 250W, K45 @
DRIVE MOTOR, 29:1, RIGHT 250

BRAKE RELEASE/MOTOR BRKTgRI 450

BRAKE RELEASE/MOTOR BR LERT, K450

CAP BRAKE RELEASE

SWING ARM FRONT @D

SWINGARM FRONT LEET K450

SWINGARM REAR RIG (K450)

SWINGARM REAR LEFT K450

BUMP TRIP K450

BOLT Ki ATORS HARDWARE KIT (K450)

SE , VS

, 13X5,00-6", SOLID K450

13X5,00-6" PNEUMATIC, K450

ABLE, BATTERY 1000MM K450

ABLE ICS 450MM MAIN MOD. TO R-NET (K450)
CABLE BRAKE RELEASE R-NET K450

CABLE ADAPTER LIGHTS K450

CABLE ICS 400MM MAIN MODULE TO CONN.BOX
CABLE ACTUATOR 500MM K450

CABLE ACTUATOR 800MM K450

CABLE JUMP START ACTUATOR VS/PILLAR LIFT, K450

Effective 09/09/2019

Prices subject to change without notice. lofl

permgbil
$334.56 $234.19
$5.49 $3.85
$698.95 $489.26
$698.95 $489.26
$424.14 $296.90
$523.49 $366.44
$523.49 $366.44
$523.49 $366.44
$317.67 $222.37
$53.22 $37.26
$67. $47.48
$18.50
¢ , 4 $1,170.03
.38 $449.66
& 306.42 $214.49
K\ $635.98 $445.18
$204.90 $143.43
$141.53 $99.07
$83.07 $58.15
$115.06 $80.55
$384.46 $269.12
$979.62 $685.73
$979.62 $685.73
$296.78 $207.76
$391.95 $274.36
$5.49 $3.85
$3,521.87 $2,465.31
$3,521.87 $2,465.31
$374.86 $262.41
$374.86 $262.41
$61.50 $43.05
$204.43 $143.11
$1,144.28 $801.00
$317.41 $222.19
$203.47 $142.43
$69.79 $48.86
$84.75 $59.33
$11.49 $8.04
$48.16 $33.71
$18.94 $13.26
$11.49 $8.04
$39.19 $27.44
$75.37 $52.76

Permobil Inc.

300 Duke Drive

Lebanon, TN 37090

1-800-736-0925

Sales Fax: 1-800-231-3256

Parts



Parts Price List permgbil
1824289 CABLE CRUSH PROT. SWITCH K450 $11.98 $8.39
1824291 R-NET BUS CABLE, 1.5M MALE - MALE $68.52 $47.97
1824301 END CAP FOR UT THIN RAIL (QTY 1) $6.90 $4.83
1824302 END CAP FOR UT THICK RAIL (QTY 1) $6.90 $4.83
1824303 COVERSET K450 CHILI PEPPER RED $799.45 $559.62
1824304 COVERSET K450 BLACK ONYX $799.45 $559.62
1824305 COVERSET K450 PLATINUM SILVER $799.45 $559.62
1824306 COVERSET K450 POP STAR PINK $799.45 $559.62
1824308 COVERSET K450 EXTREME YELLOW $799.45 $559.62
1824309 LIGHT KIT FRONT AND REAR K450 $752.89 $527.03
1824310 ANTITIPPERS, PAIR, K450 COMPLETE ASSEMBLY $215. $150.82
1824311 CENTER SLIDING CHASSIS K450 $4,305.31
1824313 ACTUATOR, TILT - LA28C 156+200 (STROKE), K450 $868.23
1824314 FIXED SEAT ASSEMBLY K450 . $76.91
1824315 TIRE 13X5.00-6",PNEUMATIC K450 ¢ $73.89 $51.72
1824316 TUBE 13X5.00-6", K450 K\ $31.63 $22.13
1824318 BRACKET HEAD SUPPORT MX, MFII $244.63 $171.24
1824319 PUSH HANDLES, K450 COMPLETE ASSEMBLY $499.42 $349.59
1824320 ACTUATOR, SEAT ELEV,LA28C 188+200 (STRO&K%O $762.30 $533.61
1824321 ACTU, SEAT TO FLR (TERRA) LA31 C) $396.49 $277.55
1824322 FRONT SUSPENSION K450 $879.55 $615.69
1824326 SWING ARM LEFT 81CC TRUNK SUPP. %0 $187.78 $131.44
1824327 SWING ARM RIGHT 81CC TRUNK (@) 450 $187.78 $131.44
1824328 BATTERY GUARD (RUBBER) K4 $202.73 $141.91
1824329 BATTERY GUARD LEFT INCL. ARE- K450 $247.75 $173.43
1824330 BATTERY GUARD RIGHT RDWARE- K450 $247.75 $173.43
1824338 C350 SHROUD, BLAC MPLETE 3PC SET $663.67 $464.57
1824339 C350 SHROUD, PLATI MISLVY COMPLETE 3PC SET $663.67 $464.57
1824340 C350 SHROUD, EXTRE YELLOW, COMPLETE 3PC SET $663.67 $464.57
1824341 C350 SHRO INTAGE WINE COMPLETE 3PC SET $663.67 $464.57
1824342 STAL BLUE, COMPLETE 3PC SET $663.67 $464.57
1824343 IT K450 $140.25 $98.17
1824353 AD FOLDING LOCKING FOOTPLATE $458.15 $320.70
1824407 ER PROTECT COVER W/SPRING HINGE C400, $23.63 $16.54
1824415 RELEASE CABLE KIT K450 $47.73 $33.41
1824417 OOTPLATE HARDWARE K450 $178.76 $125.13
1824694 APPING SCREW 3X8 FE/ZN 5 ESP, CO-PILOT HANDLE $6.90 $4.83
1824708 SEATTILT 45° SOFTPOT ICS COMPLETE TILT KIT- C3/350 $3,111.80 $2,178.26
1824710 CABLE 24V PLUNGE-CONTROL PCB PERMOLOCK C $22.62 $15.84
1824711 CABLE 24V CONSTANT PWR W 10A FUSE, REMOTE $23.63 $16.54
1824717 NUT, SLIDE BAR, SHORT,C3G HEADR $6.90 $4.83
1824735 PERMOLOCK C3, RELEASE SW. ONLY (ENHANCED) $479.29 $335.51
1824736 PERMOLOCK C3, C350 BRACE KIT (ONLY C350 CHASSIS) $85.08 $59.56

Effective 09/09/2019

Prices subject to change without notice. lofl

Permobil Inc.

300 Duke Drive

Lebanon, TN 37090
1-800-736-0925

Sales Fax: 1-800-231-3256
Parts



Parts Price List

1824756
1824759
1824760
1824784
1824790
1824794
1824821
1824823
1824824
1824825
1824841
1824843
1824844
1824845
1824847
1824854
1824856
1824857
1824867
1824875
1824877
1824892
1824894
1824899
1824916
1824951
1824965
1824966
1824967
1824968
1824969
1824970
1825041
1825042
1825044
1825045
1825064
1825068
1825069
1825072
1825073
1825083
1825094

PERMOLOCK C3 (US)

PANELHOLD MID.MOUNT W STD JSM BRKT, FOR R-NET
PANELHOLD MID.MOUNT HINGE / ROD ONLY (PERMOFIX
SEAT TILT, MANUAL, PSJR W/O MOUNTING FRAME
LEGREST CENTER MOUNT PS PSJR

ACTU, MANUAL LEGREST,PSJR CENTER MOUNT LEGR
CABLE SET SEAT ELEV, ICS INCLS GEN MOD & CABLES
STROLLER HANDLE PS-JR

CABLE, MANUAL TILT PSJR

ACTU MANUAL TILT PS JR

MANUAL CONTROL LEGREST CENTERMOUNT LEGR, PS
TIRE, 3.00X8 PRIMO, GRAY PNEU, C3/5/350 HD3 MWD
SEAT CUSHION 400X400, MX MESH

SEAT CUSHION 400X400, MX LEATHERETTE

PUSH HANDLES, PS, EACH

BACKR CUSH ERGO, -50 NARROW, 14X21, MESH, ClII K\ $301.11

BACKR CUSH ERGO, STANDARD 16X21, MESH, ClII
BACKR CUSH ERGO, +50 WIDE 18X21, MESH, ClI
PANEL MOUNT ASSEMBLY UNITRACK, PSJR A&EST
LIGHT KIT RNET C300 2012 AND PRIOR SHR

UT TABLETOP 500X332 FOR UPPER EXT,

LIGHT KIT R-NET C400/C500

HARDWARE KIT, SHROUDS C40 &

LEGREST NO EXTENSIONS NO TES C300TO
BP FRAME CLAMP FOR PS SEAT, IA - PAIR
CARRIER SWITCH, SOFT ,C3/350/4/500 ClIl PS
UT WIDTH BAR,10"X10% 0X250, K450

UT WIDTH BAR,12"X1 300X300, K450

UT WIDTH BAR,14"X14",PAIR 350X350, K450

",PAIR 400X400, MX

UT HE MX BACK 250MM, FOR 10"

UT HEA AR, MX BACK 300-350, 12"&14"

ES C3/4/500 INCL ESP,BRKT,HDW & CABLE
ANT CONTROL R-NET INCL BRACKET

ABLE EXTENSION .5M

-NET BUS CABLE EXTENSION 1M, MALE - FEMALE
ACKET CRUTCH HOLDER/O2 HOLDER, CIlI, VS
CRUTCH HOLDER CORPUS/VS INCLUDING MOUNTING
CRUTCH HOLDER PS:SR PS:JR INCLUDING MOUNTING
OXYGEN HOLDER CORPUS INCL MOUNTING BRKT, CII,
OXYGEN HOLDER PS:SR PS:JR INCL INSTALL

BOLT KIT WHEEL FRONT STR, REAR C400/C500
LOCK PIN, CENTER MOUNT LEGR, SIDE PIN, PS PSJR

P

Effective 09/09/2019

Prices subject to change without notice. lofl

permgbil

$4,268.61
$512.53
$200.93
$599.17
$1,021.47
$374.07
$294.89
$222.69
$36.08
$149.01
$386.

251.90

$319.12
$335.08
$192.38
$904.61
$309.56
$809.40
$11.53
$529.53
$116.52
$15.07
$65.43
$69.99
$89.08
$86.77
$33.23
$39.19
$1,290.01
$1,608.04
$117.02
$72.34
$95.76
$864.82
$812.60
$597.74
$700.02
$25.85
$33.69

$2,988.03
$358.77
$140.65
$419.42
$715.03
$261.86
$206.43
$155.89
$25.26
$104.30
$270.54
$43.45
$228.56
$278.80
$176.33
$210.78
$223.38
$234.56
$134.67
$633.22
$216.70
$566.58
$8.06
$370.68
$81.57
$10.55
$45.80
$49.00
$62.35
$60.74
$23.26
$27.44
$903.01
$1,125.62
$81.92
$50.64
$67.03
$605.37
$568.82
$418.42
$490.02
$18.10
$23.58

Permobil Inc.

300 Duke Drive

Lebanon, TN 37090
1-800-736-0925

Sales Fax: 1-800-231-3256
Parts



Parts Price List

1825095
1825098
1825099
1825100
1825103
1825104
1825108
1825109
1825114
1825130
1825147
1825148
1825153

1825156
1825157
1825158
1825189
1825193
1825194
1825195
1825196
1825198
1825201
1825219
1825253
1825254
1825255
1825288
1825295
1825298
1825299
1825300
1825301
1825302
1825303
1825304
1825306
1825307
1825308
1825310
1825313
1825319
1825322

BRACKET FOOTPL LEGR CENTER MT , INCL.HARDWARE
PS JR TILT ACTU RE25 156+100(STROKE) 2X013,1

ARMR ASSY FLIP BACK, LEFT (NO PAD), PSJR

ARMR ASSY FLIP BACK,RIGHT (NO PAD), PSJR
LEGREST BODY, VS, 4 HOLE

LEGREST BODY VS STAND 3 HOLE

TIRE 3.00-8, MUD/SNOW, PNEUMATIC, TIRE ONLY, GRY
INSTALL KIT, WHEELFORK CASTER WHEEL, C400 C500
BEARING RACE INNER PROFIL EASY GLIDE HV
BATTERY CHARGER, SINGLE MODE, 24V 8A (US,EU,UK)
CABLE, ICS SWITCHBOX 3.0M VS, K450

SUPPORT WHEEL KIT V.2 C300/C350, LEFT AND RIGHT
WHEEL 3.00-8, MUD/SNOW, AIR, TRI-SPOKE NO HUB/CAP

SUPPORT WHEEL KIT C350 RIGHT, C300 LEFT *
SUPPORT WHEEL KIT C350 LEFT, C300 RIGHT
ADJUSTABLE HANDLE M10X25 PUSH HANDLES, K450

PLATE PANELHOLDER P+, PG8
PUSH HANDLES VS INCL SLIDING BACK- NEW SZYLE

MOUNT SUPPORT, MINI JOYST EACH
SMALL SOFT FOAM BALL FOR JSM KNOB ONIE,
BRACKET (LONG) SWITCH BOX RNET Ti , ARMR

LIGHT FRONT X850
PANELHOLD, FIXED, R-NET VR2 \
SPACER ACTU L=24 013X1.25LII,%S, CORPUS/VS
WHEEL 2.50X8 AIR TRI-SP@ RIM, NO HUB OR HUB
WHEEL 3.00X8 SOLID TRI OKE W/HUBCAP & LONG
WHEEL 2.50X8 SOLID@ OKE W/HUBCAP & LONG
LINK SLEWING BRACK 350
POWER MO E, 90A VR2 ADVANCED, M1

' BLACK FABRIC(300MM), DUAL
Y, 14" BLACK FABRIC(350MM), DUAL
Y, 16" BLACK FABRIC(400MM), DUAL
AD'ONLY,10"LEATHER- ETTE, (250MM), DUAL
AD ONLY,12"LEATHER- ETTE, (300MM), DUAL
MR PAD ONLY,14"LEATHER- ETTE, (350MM), DUAL
MR PAD ONLY,16"LEATHER- ETTE (400MM), DUAL
MAIN BREAKER LEVER C400, C500
BATTERY LID C500 RIGHT V.2 (SHROUDS AFTER 2010)
BATTERY LID C500 LEFT V.2 (SHROUDS AFTER 2010)
HUB KIT LONG (22X72MM) INCLUDING WHEELBOLT KIT
ADAPTER PLATE ASSEMBLY PS SEAT, M3/400, NO TILT
LIGHTS FRONT HD3, ROBO INCLUDES 2 LIGHTS/1 CABLE
MOUNT KIT ESP R-NET C300, C400, C500

Effective 09/09/2019

Prices subject to change without notice. lofl

permgbil

$332.63 $232.84
$908.74 $636.12
$280.72 $196.51
$280.72 $196.51
$1,297.22 $908.06
$1,216.23 $851.36
$69.34 $48.53
$223.66 $156.56
$183.51 $128.46
$535.50 $374.85
$75. $52.76
$ $369.81
g 7 $251.84
&4.16 $184.92
$264.16 $184.92
$20.08 $14.06
$5.49 $3.85
$249.37 $174.56
$42.58 $29.81
$79.86 $55.91
$78.57 $55.01
$154.27 $107.99
$44.88 $31.42
$9.77 $6.83
$179.36 $125.55
$317.67 $222.37
$305.81 $214.08
$19.21 $13.44
$987.23 $691.06
$33.41 $23.39
$55.88 $39.12
$54.82 $38.38
$30.15 $21.11
$25.13 $17.60
$38.38 $26.86
$33.41 $23.39
$71.27 $49.89
$113.10 $79.17
$113.10 $79.17
$55.88 $39.12
$125.89 $88.13
$284.85 $199.39
$82.31 $57.61

Permobil Inc.

300 Duke Drive

Lebanon, TN 37090
1-800-736-0925

Sales Fax: 1-800-231-3256
Parts



Parts Price List

1825345
1825346
1825347
1825348
1825349
1825350
1825351
1825352
1825354
1825374
1825375
1825376
1825377
1825378
1825379
1825380
1825381
1825382
1825383
1825384
1825385
1825386
1825404
1825405
1825440
1825446
1825447
1825448
1825450
1825463
1825464
1825465
1825527
1825528
1825529
1825534
1825536
1825537
1825539
1825540
1825541
1825542
1825546

permgbil
TRI-SPOKE HUB CAP-VINTAGE WINE, PAIR $36.90 $25.82
TRI-SPOKE HUB CAP,CRYSTAL BLUE, PAIR $36.90 $25.82
TRI-SPOKE HUB CAP, BLACK ONYX, PAIR $36.90 $25.82
TRI-SPOKE HUB CAP, SILVER PLATINUM SILVER, PAIR $36.90 $25.82
TRI-SPOKE HUB CAP, XTREME YELLOW, PAIR $36.90 $25.82
TRI-SPOKE HUB CAP, CHILI PEPPER RED, PAIR $36.90 $25.82
TRI-SPOKE HUB CAP, TITAN BLUE, PAIR $36.90 $25.82
TRI-SPOKE HUB CAP CHARCOAL GRAY, PAIR $36.90 $25.82
TRI-SPOKE HUB CAP,POPSTAR PINK, PAIR $36.90 $25.82
LEGR EXTENSION KIT, UPPER CORPUS 3G $34.17 $23.93
LEGR TUBE EXT KIT, LOWER CORPUS 3G $20. $14.50
INSTALL ASSEMBLY, LEGREST ACTUATOR, CORPUS 3G $33.87
BRACKET FOOTPLATE,LEGREST LEFT, CORPUS/3G 2 $40.09
BRACKET FOOTPLATE,LEGREST RIGHT, CORPUS/3G $40.09
FOOTPLATE, WIDE, LEFT ALL CORPUS, PS M1 115.45 $80.81
FOOTPLATE, WIDE, RIGHT ALL CORPUS, PS M1 &\ $115.45 $80.81
RUBBER PROTECT,WIDE LEFT&RIGHT, CORPUS/3G/ $110.84 $77.59
LEGREST, INNER PROFILE ONLY, CORPUS 3G $69.01 $48.31
COVER, LEGREST ADJUSTMENT "PERMOBIL",\ $10.11 $7.07
COVER, LEGREST UPPER CORPUS/3G $25.41 $17.78
HUB NUT SKF KM1 12MM THREAD X 1.0 $34.26 $23.98
LOCK WASHER ISO 2982 12 (MB1 12 $5.62 $3.94
SEAT TILT CG, W/ACTUATOR C3 00 $5,248.89 $3,674.22
ACTUATOR, ICS TILT, 50° RE25 KE, NO HDW $1,044.60 $731.22
BEARING TILT C300, C350 SPARE RT KIT $114.60 $80.23
LEGREST, STANDARD AS LETE. ADULT VS $2,820.80 $1,974.56
LEGREST, DRIVE, CO gSSY, ADULT VS $2,644.45 $1,851.11
LEGREST, STANDAR[@/ COMPLETE (NO ACTU) VSJR $3,388.18 $2,371.73
LEGREST, STAND AND IVE COMPLETE ASSY, VSJR $3,804.37 $2,663.06
ARMREST HE T J. KIT, CORPUS/VS/3G $28.68 $20.08
M, M6 CORPUS/3G/HD/VS $21.92 $15.35
50MM, M6 CORPUS/3G $10.81 $7.56
IN P HINGE LEG, C3G, POWER EXT LEGREST $89.08 $62.35
T FOOTPLATE RIGHT POWER FOOTPLATE, C3G $35.54 $24.88
ET FOOTPLATE LEFT POWER FOOTPLATE, C3G $35.54 $24.88
RACKET ADJ, FRONT SEAT FRAME, EACH, C3G $48.60 $34.02
00 COVER, BLACK ONYX COMPLETE 3PC SET $451.21 $315.85
C500 COVER PLATINUM SILV. COMPLETE 3PC SET $451.21 $315.85
CABLE ICS EXTENSION, 1.5M 1.5 METER=4.9 FEET, C3G $40.16 $28.10
CABLE ICS EXTENSION .6M= 1.97 FEET, CORPUS $27.67 $19.36
CABLE ICS SPLIT, .06M (.06M=2.36 INCHES) M300 $52.63 $36.85
SLIDE BEARING, CORPUS/3G/ HD BACKR HINGE,SEAT $5.49 $3.85
GENERAL MODULE ICS, C3G POWER TRFR/EXTD $133.79 $93.66

Effective 09/09/2019

Prices subject to change without notice. lofl

Permobil Inc.

300 Duke Drive

Lebanon, TN 37090

1-800-736-0925

Sales Fax: 1-800-231-3256

Parts



Parts Price List

1825549
1825556
1825582
1825583
1825584
1825587
1825588
1825589
1825590
1825591
1825592
1825593
1825594
1825603
1825604
1825605
1825606
1825607
1825608
1825609
1825610
1825611
1825613
1825614
1825616
1825618
1825672
1825673
1825685
1825687
1825688
1825721
1825736
1825745
1825746
1825756
1825757
1825758
1825759
1825760
1825769
1825773
1825774

permgbil
SLEWING BRACK HINGE BACKR LEFT SIDE, CORPUS/3G $223.46 $156.42
ADJUSTMENT KNOB KIT PANEL MOUNT $19.36 $13.56
COVER BACKREST, TOP CORPUS 3G $7.42 $5.19
SET SCREW M6X8 CORPUS/3G, M1 $5.49 $3.85
SEAT FRAME PLATE, KIT INCL BRACKETS AND PLATES $123.87 $86.71
SHAFT BACKR HINGE 308MM CORPUS 3G $19.69 $13.78
HINGE, BACKREST, RIGHT CORPUS 3G <05/19/16 $196.84 $137.79
PLATE ADAPT KIT,SEAT TUBE OR SEAT ELEV&FIX $97.33 $68.14
ADAPTER SEAT PLATE KIT 5° ANTERIOR TILT, C3G $131.87 $92.31
ACTU BRACKET, PWR RECLINE CORPUS 3G $44.68 $31.28
BRACKET, LEGREST ACUATOR CORPUS 3G $36. $25.35
ARMR BRACKET, FIXED L/R, EACH, ALL CORPUS $60.46
ARMREST BRACKET, MEDIAL SWIVEL,L/R,EA.,ALL g 7 $78.23
TIE BAR ARMREST, STANDARD ALL CORPUS % 50 $47.94
ARMREST BODY, 10", NO PAD CORPUS/3G/VS ¢ 0$26.45 $18.51
ARMREST BODY, 13", NO PAD ALL CORPUS K\ $43.17 $30.21
ARMREST BODY, 16", NO PAD CORPUS/3G/VS $56.20 $39.34
FOOTPLATE, NARROW, LEFT CORPUS/3G/VS, PS, P $106.41 $74.49
FOOTPLATE, NARROW, RIGHT CORPUS/3G/VSIBS, PSJ $106.41 $74.49
PRESS PLATE, LEGREST EACH, CORPUS/3(0 $6.90 $4.83
LINKROD, SLIDING BACK CORPUS 3G $24.96 $17.47
PIVOT ARM, SMALL,BACKREST SHEE @@RPUSBG $11.12 $7.79
BUSHING, BACKR SLIDING PLAT pUS/3G $9.08 $6.36
LINK BOLT, SLIDING BACKR KIT, 3G $10.81 $7.56
COVER, POWER ACTUATOR RECLINE & LEGREST, C3G $5.49 $3.85
BACKREST SLIDE KIT CO . W/LINKAGE $495.13 $346.60
TIE BAR ARMREST, W ®ORPUS $82.22 $57.55
WEAR KIT, SEAT TILT@ORPUS 3G/HD, PS $528.68 $370.07
COVER SEAT. TILT LEFT €3G $5.49 $3.85
COVER, C W REAR UPPER, 50°PS/C3G, 45° HD $17.81 $12.47
RBVEOVER REAR TILT, C3G, HD, 50° MWD $49.61 $34.73
% MX-SEAT- ADJ VERSION, INCLUDING $71.77 $50.24
SE . ERGO, PAIR THIGH SUPPORT, ALL $80.85 $56.60
RAY C400/C500 LOWER MNTG BRKT,PAIR, $863.53 $604.47
OLOR JOYST MODULE W/ LIGHTS, MONO-JACKS $979.62 $685.73
USHING LEGREST, AERON $20.71 $14.50
N LEGREST, AERON $78.98 $55.29
R-NET LED JOYST MODULE W/ LIGHTS (0.7M CABLE) $979.62 $685.73
LEGREST BRACKET LEFT PS $207.98 $145.59
LEGREST BRACKET RIGHT PS $207.98 $145.59
CABLE ICS EXTENSION 1.3M 1.3METER = 4.27 FEET $32.04 $22.44
R-NET INPUT/OUTPUT MODULE $678.20 $474.74
POWER MODULE R-NET, 90 AMP $1,955.23 $1,368.66

Effective 09/09/2019

Prices subject to change without notice. lofl

Permobil Inc.

300 Duke Drive

Lebanon, TN 37090
1-800-736-0925

Sales Fax: 1-800-231-3256
Parts



Parts Price List

1825805
1825807
1825808
1825810
1825812
1825813
1825814
1825815
1825816
1825838
1825842
1825857
1826108
1826110
1826111
1826117
1826119
1826120
1826122
1826123
1826124
1826126
1826130
1826131
1826132
1826133
1826134
1826163
1826164
1826165
1826166
1826167
1826170
1826172
1826173
1826174
1826175
1826176
1826179
1826180
1826191
1826192
1826193

INSTALL ASSY CRUTCH/O2 HOLDER, ALL CORPUS $35.83
UPPER EXTREMITY SUPPORT RECEIVER ONLY W/UT $69.26
UPPER EXTREMITY SUPPORT ANGLE ADJ,14"W, $1,237.25
CO-PILOT BRACKET CORPUS 3G $894.39
PUSH HANDLES, PAIR ALL CORPUS $333.69
SUPPORT HANDLE UT, RIGHT ALL CORPUS $259.20
BRACKET, CALFREST, DUAL MOUNT, CORPUS/3G $159.47
PANEL HOLD BRACK UNITRACK CORPUS 3G $87.51
HEADREST SUPPORT BRACKET C3G V2 $146.92
MUD GUARD PLATE C500 LEFT $93.27
SEAT ELEVATOR, CORPUS 3G ON C400 C500 $2,349.
MINI JOYSTICK HANDLE, EA
BACKREST ADJUSTMENT QUICK LOCK, PS, PS JR PAIR % 3
BACKREST SLIDE, W/O LINKAGE, ALL CORPUS .10
BRACKET, BACKREST RELEASE CORPUS/3G ¢ $38.79
COVER, LOWER BACK CORPUS/3G K\ $24.18
PLASTIC KNOB, BACKREST ASSEMBLY, CORPUS/3G/, $6.90
KEY TOOL RUBBERIZED 5MM CORPUS/3G $7.55
SET SCREW HEXAGON SOCKET ISO 4029 MlO%H $6.90
ACTU INCL SOFTPOT 45°TILT C400 C500 W/@ EAT $1,309.35
ACTU,INCL SOFTPOT 45°TILT C4/500 W/ : $1,309.35
SEAT FRAME KIT, PLASTIC PLUGS(4) %S(Z),CBG $20.30
LUMBAR SUPPORT, CORPUS/3G K $42.50
BACK WEDGE,LEFT,LARGE C3 & ACH, INCL $22.62
BACK WEDGE,RIGHT, LRG,C , EACH, INCL $22.62
BACK WEDGE,LEFT, SMA JERGO, EACH, INCL $20.94
BACK WEDGE,RIGHT, G,ERGO, EACH, INCL $20.94
TRUNK SUPP ERGO @ PAIR,INCL HDW, ALL $71.52
TRUNK SUPP. ERGO LARGE PAIR,INCL HDW, ALL $75.25
REPLACED W4 BACKREST CUSHION 16"X 20" $362.69
BACK N 18"X 20" LEATHERETTE, ALLL $379.54
BACKR H 14"X 23-25" LEATHERETTE, ALL $376.22
BA SH 14"X 26-28" LEATHERETTE, ALL $389.69
ST CUSH 18"X 26-28" LEATHERETTE, ALL $428.48
EST CUSH 14"X 20" BLACK MESH, ALL CORPUS $361.02
ACKREST CUSH 16"X 20" BLACK MESH, ALL CORPUS $364.38
ACKREST CUSH 18"X 20" BLACK MESH, ALL CORPUS $384.62
BACKREST CUSH 14"X 23-25" BLACK MESH, ALL CORPUS $381.30
BACKREST CUSH 14"X 26-28" BLACK MESH, ALL CORPUS $396.44
BACKREST CUSH 16"X 26-28" BLACK MESH, ALL CORPUS $433.54
ARMR PAD 10" LEATHERETTE LEFT/RIGHT, $44.23
ARMR PAD 13" LEATHERETTE LEFT/RIGHT, $47.92
ARMR PAD 16" LEATHERETTE LEFT/RIGHT, ALL CORPUS $50.95

Effective 09/09/2019

Prices subject to change without notice. lofl

permgbil

$25.08
$48.48
$866.07
$626.07
$233.59
$181.44
$111.63
$61.26
$102.85
$65.29
$1,644.75
$27.92
$183.65
$238.07
$27.15
$16.93
$4.83
$5.28
$4.83
$916.55
$916.55
$14.21
$29.75
$15.84
$15.84
$14.66
$14.66
$50.06
$52.67
$253.88
$265.68
$263.35
$272.78
$299.93
$252.71
$255.07
$269.23
$266.91
$277.51
$303.48
$30.96
$33.55
$35.67

Permobil Inc.

300 Duke Drive

Lebanon, TN 37090
1-800-736-0925

Sales Fax: 1-800-231-3256
Parts



Parts Price List

1826203
1826204
1826243
1826244
1826302
1826307
1826368
1826374
1826375
1826376
1826377
1826378
1826379
1826381
1826388
1826391
1826392
1826394
1826395
1826396
1826397
1826398
1826445
1826448
1826449
1826450
1826458
1826459
1826460
1826461
1826502
1826504
1826505
1826508
1826509
1826510
1826512
1826515
1826518
1826520
1826522
1826523
1826524

COVER, ARMREST BRACKET RIGHT, ALL CORPUS
COVER, ARMREST BRACKET LEFT, ALL CORPUS
HOLDER CONNECTOR ANDERSON /JST (MOTOR &
NUT 25MM, BACKREST, PUSH HANDLE,O2, ATTENDANT,
BOLT KIT FOR 5° ANTERIOR TILT, INCLUDES 4 BOLTS
R-NET BUS EXTENSION CABLE 0.6M (2FT) MALE -
POSITION SENSOR 150MM 30D SOFTPOT C300/350 ,R-
BACKREST LOWER, 14" W (360MM), CORPUS/3G
BACKREST UPPER, 14" W (360MM), CORPUS/3G/VS
BACKREST LOWER, 16" W (410MM), CORPUS/3G
BACKREST UPPER, 16" W (410MM), CORPUS/3G/VS
BACKREST LOWER, 18" W (460MM), CORPUS/3G

permgbil

$10.96
$10.96
$5.49
$7.42
$9.87
$115.74
$334.03
$103.89
$113.70
$108.27
$135.
$

BACKREST UPPER, 18" W (460MM), CORPUS/3G/VS ¢ 2
PLATE, BACKREST RELEASE BRACKET, CORPUS/3G % 14
RAIL ARMREST PLG 20" FOR 20" WIDE B.A.M.- ClI ¢ 0470.20
SUPPORT HANDLE, UT, LEFT ALL CORPUS K\ $259.20
LEGREST, LARGE ASSY,COMPL W/O FOOTPLATES, $351.65
SCREW M6X8 W/ MACHINED POINT FOR C3G ARMR $7.45
LINK BOLT ADJUSTMENT, ARM ARMREST, ALL@US $6.90
STAR HANDLE M6, X-GRIP PHONE&CUP HO\@ $14.11
STAR HANDLE M8 K450 SEATING $14.11
STAR HANDLE M10X44 K450 SEATIN % $25.26
BACKREST KIT, FIXED CORPUS/ $279.38
PLATE ADAPTER, -5° TILT SEA AT TUBE, C3G $77.58
PLATE ADAPTER, C3G SEAT VAJOR/ SEAT TUBE $80.31
ADAPTER PLATE KIT, SE C3G, PS ON C3/M300 $96.35
UPPER EXTREMITY S A@NGLE ADJ,16" $1,215.52
UPPER EXTREMITY SEUPP@RT ANGLE ADJ,18" $1,104.30
HOLDER, UPPER EXTREMITY SUPPORT, ANGLE $95.81
NUT. BAC GE,£&£RGO,C3G LATERAL BRKT, EACH $11.49
CO-PILG CKET R-NET, C3G/ALL CORPUS $4,590.83
BLACK M300 M300HD M400 $105.31
CoVl T, INCL DECAL BLACK, M300 M300HD M400 $87.25
WHEEL 200X50 GRAY 8" SOLID, INCL HDW, $106.13
AD, FRONT, MONO/COLOR R-NET JSM, WITH $54.82
EYPAD, REAR, MONO/COLOR R-NET JSM, WITH LIGHTS $54.82
POWER CONTROL LEGR,NO HDW RE25, C3G $1,266.53
SWITCHBOX BOTTOM, ICS $20.55
UNIVERSAL HEADREST ADPTR (ADAPTER) $209.49
CAP, VINYL, INNER, MINI- JOYSTICK/GIMBLE $6.90
ARM TROUGH ADAPTOR 1" (INCLUDE HDW PACKAGE) $169.56
ARM TROUGH ADAPTOR 7/8" (INCLUDE HDW PACKAGE) $169.56
PLASTIC PLUG 26 X 17 1" OD,PS,C3G TUBULAR BACK $6.70

Effective 09/09/2019

Prices subject to change without notice. lofl

$7.68
$7.68
$3.85
$5.19
$6.91
$81.02
$233.83
$72.73
$79.59
$75.79
$95.06
$78.88
$91.19
$8.50
$329.14
$181.44
$246.16
$5.22
$4.83
$9.88
$9.88
$17.68
$195.57
$54.30
$56.22
$67.45
$850.86
$773.02
$67.07
$8.04
$3,213.58
$73.72
$61.07
$74.29
$38.38
$38.38
$886.58
$14.38
$146.64
$4.83
$118.69
$118.69
$4.69

Permobil Inc.

300 Duke Drive

Lebanon, TN 37090

1-800-736-0925

Sales Fax: 1-800-231-3256

Parts



Parts Price List permgbil
1826526 BRACKET, HEADREST SLIDING FOR LOW BACKR (21"H), $57.21 $40.04
1826527 CAP, FOAM, OUTER, MINI JOYSTICK/GIMBLE $6.90 $4.83
1826528 CABLE JOYSTICK PILOT+, 3M 3 METER $274.08 $191.87
1826529 ARMY EMBLEM - STAR $79.66 $55.76
1826530 BRACKET, EXT CHEST ROLL EACH $69.19 $48.43
1826535 BODYPOINT J/S HANDLE 4" U-SHAPED W/ FLEX-SHAFT $109.63 $76.74
1826536 MARINE EMBLEM $72.34 $50.64
1826537 NAVY EMBLEM $72.34 $50.64
1826539 AIR FORCE EMBLEM $72.34 $50.64
1826540 SINGLE SEAT FUNCTION CTRL (MT BRACK = 1826542) $838.85 $587.20
1826541 ADAPTER UNIVERSAL ASSY $266. $186.74
1826542 BRACKET SINGLE SWITCH FOR 1826540- SINGLE SEAT $20.73
1826543 CABLE JOYSTICK P+ 1.5M * 2 $110.80
1826544 R-NET COLOR JOYST MODULE W/ LIGHTS, TOGGLES & .36 $1,244.85
1826545 R-NET STD JOYST MODULE W/ LIGHTS, SPD POT, $1/582.43 $1,107.70
1826547 OMNI+ UNIVERSAL CONTROL MODULE PILOT + $1,617.07 $1,131.94
1826550 RAIL, ARMR BRACKET, 16" TUBULAR BACKREST $232.84 $162.98
1826554 BODYPOINT J/S HANDLE 3" U-SHAPED W/ FLEX-SHA $89.52 $62.67
1826558 VENT SHELF - C300 FIXED- NON ARTICULATIN $959.28 $671.50
1826559 HAIMS HARNESS, LARGE $1,422.62 $995.84
1826560 BODYPOINT JS HANDLE DOME-SHAPED $90.47 $63.33
1826563 TUBULAR BACKREST KIT 18" COMPL $1,143.62 $800.53
1826564 HAIMS HARNESS MULTIACCESS K HARNESS $1,409.45 $986.62
1826567 MONOCHROME TOP CASE WI $219.26 $153.48
1826573 BP ANKLE HUGGERS MEDIU ID ELEASE, ADJ (PAIR) $338.48 $236.94
1826574 BP SHOULDER HARNESS ONT PULL $238.63 $167.05
1826577 WHISPER-LITE SIP&P @APT MNT,CII, ALL $811.59 $568.12
1826578 SIP AND PUFF STRAVQ $5.49 $3.85
1826585 HARDWARE FOR MINIJ STICK INCL. PERMOFIX $197.43 $138.20
1826586 1 TER W/ STRAIN RELIEF BOOT $135.64 $94.95
1826587 OCHROME JSM $137.68 $96.38
1826588 JOYST MODULE W/ LIGHTS, SPD $1,778.36 $1,244.85
1826593 D EMBLEM $72.34 $50.64
1826595 4 X 1SV 25-540 $20.30 $14.21
1826597 OP W/SIP N PUFF COMPLETE KIT $2,428.17 $1,699.73
1826598 ERO TOUCH MODE ON/OFF PROXIMITY SWITCH $1,007.11 $704.98
1826601 APTOR TUBE TO MULTI- MOUNT $213.25 $149.28
1826606 SEAT BASE ONLY, LARGE MF TUBULAR REV.C $211.04 $147.73
1826613 TIRE 24 X 1 25-540 C1025 GY/DSK $28.76 $20.13
1826615 TUBULAR MF FRAME- LARGE 14" X 14" KIT $978.28 $684.79
1826616 TUBULAR MF FRAME SMALL 12"X12" KIT $939.48 $657.63
1826623 OPTI STOP W/O SIP & PUFF $1,617.48 $1,132.24
1826650 M300 COVER, BLACK ONYX, CENTER SHROUD ONLY $184.87 $129.41

Permobil Inc.
300 Duke Drive
Lebanon, TN 37090
1-800-736-0925

Effective 09/09/2019
Prices subject to change without notice. lofl

Sales Fax: 1-800-231-3256
Parts



Parts Price List

1826651
1826655
1826656
1826662
1826669
1826674
1826675
1826676
1826679
1826680
1826683
1826684
1826685
1826686
1826687
1826691
1826692
1826694
1826695
1826698
1826703
1826704
1826705
1826706
1826708
1826710
1826712
1826715
1826729
1826730
1826733
1826736
1826737
1826749
1826757
1826760
1826761
1826770
1826771
1826802
1826803
1826804
1826805

M300 COVER, PLATINUM SILVER,CENTER SHROUD ONLY
M400 COVER, BLACK ONYX, CENTER SHROUD ONLY
M400 COVER, PLATINUM SILVER,CENTER SHROUD ONLY
JOYSTICK BOOT, RNET VR2 VS|

PILOT+ 3 KEY JOYSTICK M/J MONO JACK

REPLACEMENT JOYSTICK GIMBLE, R-NET

R-NET COLOR JOYST MODULE LIGHTS-SW-POT

R-NET COLOR JOYST MODULE PERMOBIL, NO LIGHTS
RIM CONTROL

COVERSET SWING ARM REAR RIGHT M300/M400
COVERSET SWING ARM REAR LEFT

CABLE FOR LED JSM (SHORT)

COVERSET SWING ARM FRONT

VR2 JSM REPLACEMENT CABLE

COVERSET SWING ARM FRONT LEFT

SHOCK ABSORBER M300/M400 INCLUDING HARDWARE K\ $213.41

COVER BEARING RACE SWING ARM M300/M400
SEAT SUPPORT M300/M400 WITH TILT OR NO TILT
REFLECTOR KIT, M300/M400 FRONT/REAR,W/%
COVER, BRAKE RELEASE M300 M300HD M4

ROHO CUSHION FOR 18"W X 26.5"T ClI K
ROHO CUSHION FOR 16"W X 26.5"T %BACK
ROHO CUSHION FOR 16"W X 26. Al ES
ROHO CUSHION FOR 18"W X 2 ACKR NOTCHED
ROHO CUSHION FOR 14"W X ERGO BACK

ROHO CUSHION FOR 16" CIl ERGO BACK

ROHO CUSHION FOR "T Cll ERGO BACK

ROHO CUSHION FOR®@4"WHX 26.5"T Cll ERGO BACK
DVD INSTRUCTIONAL O- K450 WC 19 KIT

DC CORD R CHARGER DUAL MODE C-MAN
C350H PGRADE POWER MODULE
AUX CH HARNESS LONG *

G HARNESS C300 SHORT
CONTROL LEGR W/HDW REZ25,

ICS EXTENSION 400MM FEMALE-FEMALE
AIN FUSE, INCL CABLES M300 M400, R-NET
ABLE ADAPTER LIGHT R-NET M300/M400
KEYPAD, 6-KEY, VR2 JSM

KEYPAD, 4-KEY, VR2 JSM

DRIVE MOTOR,RIGHT 36:1,HD M300 CORPUS HD
DRIVE MOTOR, LEFT,36:1,HD M300 CORPUS HD
DRIVE MOTOR, RIGHT,6 MPH 29:1, W/BRAKE, M300
DRIVE MOTOR, LEFT, 6 MPH 29:1, W/BRAKE, M300

Effective 09/09/2019

Prices subject to change without notice. lofl

permgbil

$184.87
$184.87
$184.87
$22.74
$1,066.57
$504.79
$1,778.36
$918.16
$8,290.84
$55.53
$54.

$
*

$55 51

$7.05
$122.79
$102.44
$79.18
$1,041.45
$1,046.99
$896.72
$1,190.95
$896.72
$896.72
$1,027.80
$896.72
$21.32
$186.27
$2,927.06
$271.28
$271.28
$1,868.79
$28.68
$93.27
$61.14
$76.86
$72.34
$1,143.88
$1,143.88
$1,143.88
$1,143.88

$129.41
$129.41
$129.41
$15.91
$746.59
$353.36
$1,244.85
$642.70
$5,803.59
$38.88
$38.45
$160.61
$38.85
$99.76
$38.85
$149.39
$4.93
$85.96
$71.71
$55.43
$729.01
$732.90
$627.71
$833.67
$627.71
$627.71
$719.47
$627.71
$14.92
$130.39
$2,048.95
$189.90
$189.90
$1,308.16
$20.08
$65.29
$42.80
$53.80
$50.64
$800.72
$800.72
$800.72
$800.72

Permobil Inc.
300 Duke Drive
Lebanon, TN 37090
1-800-736-0925

Sales Fax: 1-800-231-3256

Parts



Parts Price List

1826806
1826807
1826808
1826809
1826820
1826835
1826836
1826837
1826839
1826856
1826857
1826859
1826860
1826861
1826881
1826882
1826903
1826919
1826931
1826932
1826934
1826957
1826958
1826959
1826961
1826962
1826963
1826964
1826965
1826966
1826970
1826994
1826997
1827051
1827052
1827053
1827130
1827131
1827135
1827150
1827152
1827156
1827158

DRIVE MOTOR,RIGHT,7.5 MPH 24.5:1, W/BRK,

DRIVE MOTOR, LEFT,7.5 MPH 24.5:1, W/BRK, M400/M300S
MAGNETIC WHEEL LOCK M300/M400

SEAT SUPPORT PLATE, C3G TILT, INCL HDW, C400 C500
CABLE, R-NET JSM, COLOR AND MONOCHROME
BACKREST PLATE RIGHT PS SEAT

BACKREST PLATE LEFT PS SEAT

BACKREST PLATE CENTER

SWING AWAY OMNI/TABLET MOUNT

CHASSIS BOX M300/M400 CORPUS/3G/HD
ELECTRONICS PLATE R-NET M300/400 INCL CABLE
HOLDER BATTERY M300 EACH

CABLE CLIP 25X18 EACH

CABLE CLIP 25X9, 50° CG TILT, EACH

M300 COVER, SUBLIME GREEN CENTER SHROUD ONLY
M400 COVER SUBLIME GREEN CENTER SHROUD ONLY
BOLT KIT, CASTER WHEEL M300/M400

GAUGE FOR PERMOLOCK C PIN (WEAR CHECKER)
UNITRAC BRACK KIT BACKR 350 MX SEAT

UNITRAC BRACK KIT BACKR 250 MX SEAT 0
UNITRAC BRACK KIT BACKR 300 MX SE

SEAT TUBE FIXED FOR C3G ON C300 @00/400
SEAT TUBE FIXED,INNER C3G O C M300/400
SEAT TUBE FIXED C400/500 CG,

LIGHT FRONT, LED M300/M4083 C309, KO R-NET
REFLECTOR, WHITE, EA D C300 F3/5 M3/5 M1
FRONT TURN SIGNAL wECT,WHITE,M3/4OO C300
REFLECTOR RED, EAGQH, K450 C3/4/500 MWD/HD F3/5
REAR LIGHT AND REFLECTOR RED,M3/400, 2012 C300,
REAR TURN ALAND REFLECT,RED M3/400 C300
AIN FUSE M300 M300HD M400

SACKREST WEDGE,CENTER, 18" INCL HDW,

RUTCH HOLDER, ALL CORPUS INCLUDES MOUNTING
OXYGEN HOLDER,ALL CORPUS INCLUDES MOUNTING
CLAMP, RETRACTABLE JOYST HOLDER, 2 CABLES
CABLE CLIP / POLE GUARD BATTERY, EA

SEAT SUPPORT -5° & TILT C3G ON C400/C500
GROMMET (PLASTIC) M300/M400

SEAT SUPPORT C3G - C300 / C350 W OR W/O TILT 0°/-5°

Effective 09/09/2019

Prices subject to change without notice. lofl

permgbil

$1,198.14
$1,198.14
$384.46
$58.54
$61.36
$262.23
$262.23
$316.50
$397.81
$855.15
$94.

9
.52
188.87
$188.87
$13.03
$27.13
$62.30
$53.94
$54.80
$365.37
$359.04
$835.41
$230.23
$16.25
$115.03
$16.25
$115.03
$115.03
$13.95
$44.63
$36.90
$35.80
$39.19
$43.91
$726.75
$557.29
$5.49
$5.96
$153.13
$12.60
$153.00

$838.70
$838.70
$269.12
$40.98
$42.95
$183.56
$183.56
$221.55
$278.47
$598.61
$66.30
$3.85
$4.18
$3.86
$132.21
$132.21
$9.12
$18.99
$43.62
$37.76
$38.36
$255.76
$251.32
$584.79
$161.17
$11.37
$80.51
$11.37
$80.51
$80.51
$9.76
$31.24
$25.82
$25.07
$27.44
$30.74
$508.73
$390.10
$3.85
$4.18
$107.19
$8.83
$107.10

Permobil Inc.

300 Duke Drive

Lebanon, TN 37090
1-800-736-0925

Sales Fax: 1-800-231-3256
Parts



Parts Price List

1827159
1827160
1827162
1827170
1827171
1827174
1827175
1827176
1827177
1827178
1827179
1827180
1827184
1827426
1827438
1827443
1827448
1827450
1827453
1827454
1827464
1827466
1827476
1827482
1827486
1827488
1827491
1827494
1827513
1827514
1827529
1827560
1827561
1827610
1827612
1827614
1827616
1827618
1827663
1827675
1827693
1827694
1827695

BACKREST KIT, 14"W,CORPUS HEIGHT ADJ,NO CUSHION
BACKREST KIT 16"W,CORPUS HEIGHT ADJ,NO CUSHION
BACKREST KIT 18",CORPUS HEIGHT ADJ,NO CUSHION
DRIVE MOTOR C350, RIGHT 29:1, R-NET

DRIVE MOTOR C350, LEFT 29:1, R-NET

MAGNETIC WHEEL LOCK C350 1,7NM

SWING ARM RIGHT FRONT INCL. COVER KIT, M300/400
SWING ARM RIGHT REAR INCL. COVER KIT, M300/400
SWING ARM LEFT FRONT INCL. COVER KIT, M300/400
SWING ARM LEFT REAR INCL. COVER KIT, M300/400
DECAL KIT, M300 SHROUD- INCLUDES LEFT&RIGHT
DECAL KIT, M400 SHROUD- INCLUDES LEFT&RIGHT
DECAL, ESP HIGH SPEED SOLD AS EACH

RUBBER PROTECT NARROW LEFT & RIGHT, CORPUS/3G
UPPER EXTREMITY SUPPORT SMALL C3G,W/ARMR
KIT FOR CORPUS FOOTPLATE ON VS SEAT
HEADREST LEATHERETTE,K450 MX, MFII

MNT HDW, UPPER EXTREMITY SUPPT,CUTOUT, 16"
UPPER EXTREMITY SUPPORT JOYSTICK CUT , 16"
UPPER EXTREMITY SUPPORT JOYSTICK C
SUPPORT WHEEL KIT C500 VS C400/C5 S 3G
LIGHT KIT M300/M400,FRONT AND R , PLETE
ACTU MANUAL RECLINE 120° CO 3GSTROKE
LEGR ASSM, VS W 2PC NARR ATES,

UT WIDTH BAR, HD, THICK S P

UT WIDTH BAR, HD, THIC ,PAIR

PLASTIC PLUG, SEAT @ORPUSBG

BOLT 6X35 FZB 10.9 IQO

ARM TROUGH ADAPT, 1" CORPUS/3G/HD, EACH

AP, 7/8" CORPUS/3G/HD, EACH
STOP SEAT TILT PS:JR

HT, GRAY NARROW,CII, 2PC FOOTPL

EFT, GRAY NARROW,CII, 2PC FOOTPL VS

REST; "A" PAD W/BRKT & UPHOLST,CORPUS/3G,

/ REST; "B" PAD W/BRKT & UPHOLST,CORPUS/3G,

ALF REST; "D" PAD W/BRKT & UPHOLST,CORPUS/3G,

ALF REST; "H" PAD W/BRKT & UPHOLST,CORPUS/3G.

CALF REST; "J" PAD W/BRKT & UPHOLST,

CABLE SET, SEAT ELEVATOR R-NET, M300 M400

NOISE SUPRESSION KIT 2THICK/3THIN, M300/M400

PIVOT ARM, BACKREST SLIDE KIT, CORPUS/3G/HD

SPACER 08,5X20X5,PS&BACKR SHEER
SOCKET SLIDING BACK CORPUS 3G

Effective 09/09/2019

Prices subject to change without notice. lofl

{\(};Ei

permgbil

$404.86
$421.73
$438.61
$721.37
$721.37
$384.46
$430.10
$365.96
$430.10
$365.96
$16.

¢ 0

$556.15
$828.30
$1,020.23
$1,241.33
$1,065.68
$671.77
$1,123.67
$814.27
$4,447.07
$226.08
$278.81
$6.90
$5.49
$163.50
$183.63
$188.13
$281.84
$281.84
$534.78
$491.60
$626.19
$691.35
$521.31
$293.89
$40.92
$111.01
$5.39
$5.49

$283.40
$295.22
$307.03
$504.97
$504.97
$269.12
$301.07
$256.18
$301.07
$256.18
$11.20
$11.20
$4.90
$67.78
$516.10
$389.30
$579.81
$714.16
$868.93
$745.98
$470.24
$786.56
$569.99
$3,112.95
$158.26
$195.16
$4.83
$3.85
$114.45
$128.53
$131.69
$197.28
$197.28
$374.34
$344.11
$438.34
$483.95
$364.92
$205.72
$28.64
$77.70
$3.77
$3.85

Permobil Inc.

300 Duke Drive

Lebanon, TN 37090
1-800-736-0925

Sales Fax: 1-800-231-3256
Parts



Parts Price List

1827696 BRACKET, ERGO, LOWER BACK EACH, CORPUS/3G/VS
1827697 HOLDER, UT BRACKET, BACKR CORPUS/3G

1827698 UNITRACK BAR 180MM. ALL CORPUS

1827718 SUPPORT HANDLE SET (PAIR) UT MOUNT, ALL
1827729 BUSHING, ACTUATOR

1827731 HHCS, M6 X 10MM, EACH GRADE 838, ZINC PLATED
1827740 ADJ LINK BRACKET, 3" LONG "DOGBONE"

1827747 REFLECTOR, SIDE, KOALA

1827753 WASHER, 14X6.1MM ARMBAR ASSY, ALL CORPUS
1827754 SCREW ISO 7380 M4X6 10.9 FE/ZN 5 C4

1827756 HANDLE GRIP, EACH, BLACK PUSH/TRANSFER HANDLE
1827766 PLUNGER PERMOLOCK LONG CABLE, CORPUS 3G
1827822 JOYSTICK BOOT, HEAVY DUTY R-NET JSM

1827824 R-NET COLOR JSM W/LIGHTS, HEAVY-DUTY GIMBLE
1827833 JOYST KNOB, HEAVY DUTY R-NET JSM - STICK KNOB
1827910 DRIVE MOTOR C300HS, RIGHT 29:1

1827911 DRIVE MOTOR C300HS, LEFT 29:1

1827912 BRAKE RIGHT C300HS

1827913 BRAKE LEFT C300HS \
1827955 TUBULAR BACKREST ADAPTER CORPUS/30
1827956 CABLE LIGHT R-NET, C300 2013

1827958 LIGHT, FRONT INCL BRACKET C300 LA R-NET
1827960 TRI-SPOKE HUB CAP, PURPLE RAIN, RAI

1827964 TRI-SPOKE HUB CAP, COBALT R

1827965 TRI-SPOKE HUB CAP PHANT%Y, PAIR

1827966 TRI-SPOKE HUB CAP,VO D, PAIR

1827967 PLASTIC PLUG, TOP L@UBE, CORPUS/3G
1827968 PLASTIC PLUG, BOTT@M LEGR TUBE, CORPUS/3G
1827969 BRAKE RELEASE ARM 0, 2012

1827972 HOLDER ELE ONICS, C300 W/CLIPS, R-NET VR2

1827974
1827976
1827977 CE OUD,C300 PURPLE RAIN

ACKET REV.2013

1827978 COVER, C300 BLACK ONYX

1827979 R COVER,C300 PHANTOM GRAY

1827980 ENTER COVER, C300 POP STAR PINK

1827981 NTER COVER,C300 VOLCANO RED

1827982 FRONT COVER, C300, BLACK 2012 AND LATER
1827998 REAR COVER, C300 REV.2013

1827999 REAR COVER, C300 REV.2013

1828000 PROTECT COVER MAIN FUSE C300, REV.2013
1828003 MAIN FUSE INCL CABLES C300, 2013

1828010 FOOTPL 1PC, WIDE, POWER TRANSFER, INCL HINGE,

Effective 09/09/2019
Prices subject to change without notice. lofl

permgbil
$23.25 $16.28
$7.17 $5.02
$9.87 $6.91
$527.48 $369.23
$8.08 $5.66
$6.90 $4.83
$43.13 $30.19
$46.20 $32.34
$6.94 $4.85
$6.90 $4.83
$21. $15.06
$772.28
$107.20
$1,610.94
$71.27
$1,757.57 $1,230.30
$1,757.57 $1,230.30
$384.46 $269.12
$384.46 $269.12
$569.82 $398.87
$61.14 $42.80
$189.80 $132.86
$36.90 $25.82
$36.90 $25.82
$36.90 $25.82
$36.90 $25.82
$5.23 $3.66
$5.23 $3.66
$43.86 $30.70
$41.08 $28.76
$1,148.65 $804.06
$148.55 $103.99
$148.55 $103.99
$148.55 $103.99
$148.55 $103.99
$148.55 $103.99
$155.97 $109.18
$52.06 $36.44
$69.23 $48.46
$101.42 $70.99
$13.95 $9.76
$93.27 $65.29
$512.39 $358.67

Permobil Inc.

300 Duke Drive

Lebanon, TN 37090
1-800-736-0925

Sales Fax: 1-800-231-3256
Parts



Parts Price List permgbil

1828011 FOOTPL 1PC NARROW, POWER TRANSFER, INCL HINGE, $384.51
1828012 COVER KIT,POWER EXTENDING LEGR, CORPUS 3G, $96.84
1828013 LINEAR BEARING KIT, POWER EXTENDING LEGREST, $250.86
1828015 MICROSWITCH W/CABLE,POWER EXT & TRANSFER $86.97
1828016 EMERGENCY OPERATION CABLE ICS, C300 (2012) $93.27
1828054 LEGREST, POWER EXT, C3G NO FOOTPL OR GEN $3,676.20
1828058 LIGHT KIT, COMPLETE ASSY C300/K300 R-NET, 2013 $1,123.67
1828060 COVER KIT, C300 BLACK ONYX, COMPLETE, >2013 $369.25
1828061 COVER KIT, C300 COBALT BLUE, COMPLETE, >2013 $369.96
1828062 COVER KIT, C300 PURPLE RAIN, COMPLETE, >2013 $369.25
1828063 COVER KIT, C300 PHANTOM GRAY, COMPLETE, >2013 $369.
1828064 COVER KIT, C300 POP STAR PINK, COMPLETE, >2013 $
1828065 COVER KIT, C300 VOLCANO RED, COMPLETE, >2013 ¢ 2
1828068 BAG HOOK SET, 2PC, OPEN ENDED, UNIVERSAL % .61
1828101 SHROUD ENHANCEMENT KIT C300 SHROUDS, REV.2013 ¢ $13.44
1828133 DECAL, "PERMOBIL" EMBLEM SHROUDS, LEGREST \ $7.90
1828151 REINFORCEMENT KIT M300 SWINGARM, HD $38.07
1828192 CABLE,BUS R-NET 1M,CORPUS $108.00
1828207 PROFILE BACKR KIT, INCL BUSHING, CORPUS/\ $108.87
1828209 EXTENSION KIT STAND-DRIVE FOOTPL SWI@ $287.06
1828246 STEALTH HMO475 HARDWARE W / 17MNsB $287.06
1828250 STEALTH TWB480 HARDWARE W / 17, & LINKS $422.08
1828252 CABLE, EXTENSION 9PIN W/3.5M OJACK, L=1M $166.11
1828254 CABLE EXTENSION 9PIN W 3.5 JACK, L=2M $239.53
1828256 CABLE EXTENSION 9PIN W 3. NO JACK, L=3M $266.10
1828258 CABLE EXTENSION 3.5M REO, L=1M $115.33
1828260 CABLE EXTENSION 3. TEREO, L=2M $92.53
1828262 CABLE EXTENSION 3. -F STEREO, L=3M $153.00
1828264 STEREO 1MALE-2FEMALE $64.59
1828266 MM M-F STEREO, L=0.3M $102.65
1828277 , 7 HDWR W/ FLIPDOWN MOUNT $574.20
1828278 D, LED EACH, C350 X850 $132.45
1828279 ] , YELLOW LED C350, EACH $132.45
1828280 $5.96
1828281 J $11.02
1828282 ARMREST BODY, 16" LONG NO PAD, CORPUS HD $63.32
1828283 ARMREST BODY, 18" NO PAD, CORPUS HD $104.77
1828284 BACKREST KIT ADJ, 20"W X 24"-29"H, CORPUS HD $183.10
1828285 BACKREST KIT ADJ, 22"W X 24"-29"H,CORPUS HD $204.80
1828286 BACKREST KIT ADJ, 24"W X 24"-29"H, CORPUS HD $187.31
1828287 BACKREST, SHORT,20"WX20"H CORPUS HD $99.79
1828288 BACKREST, SHORT,22"WX20"H CORPUS HD $91.88
1828294 HEIGHT ADJUSTMENT CORPUS HD $5.03

Effective 09/09/2019
Prices subject to change without notice. lofl

$269.16
$67.78
$175.60
$60.89
$65.29
$2,573.34
$786.56
$258.47
$258.97
$258.47
$258.47
$258.47
$258.47
$30.52
$9.41
$5.53
$26.65
$75.60
$76.21
$200.95
$200.95
$295.45
$116.28
$167.67
$186.27
$80.73
$64.77
$107.10
$45.21
$71.86
$401.94
$92.72
$92.72
$4.18
$7.71
$44.32
$73.34
$128.17
$143.36
$131.12
$69.85
$64.31
$3.52

Permobil Inc.

300 Duke Drive

Lebanon, TN 37090
1-800-736-0925

Sales Fax: 1-800-231-3256
Parts



Parts Price List

1828315
1828316
1828317
1828318
1828319
1828321
1828330
1828331
1828340
1828341
1828342
1828343
1828346
1828347
1828348
1828349
1828350
1828351
1828352
1828353
1828354
1828355
1828356
1828357
1828358
1828359
1828360
1828363
1828364
1828365
1828366
1828367
1828368
1828369
1828370
1828371
1828372
1828373
1828374
1828376
1828377
1828378
1828379

WHEEL FORK ALUMINUM, LEFT M300 M400 CORPUS &
WHEEL FORK ALUMINUM RIGHT M300 M400 CORPUS &
SHIM WASHER ,WHEELFORK MWD WASHER DB15X22X1
M300 HD COVER, BLACK ONYX CENTER SHROUD ONLY
M300 HD COVER, SUBLIME GREEN,CENTER SHROUD
M300 HD COVER, PLATINUM SILVER,CENTER SHROUD
SWING ARM ASSY LEFT REAR M300/M400 HD

SWING ARM ASSY RIGHT REAR M300/M400 HD
ARMREST PAD 16", FABRIC ALL CORPUS

ARMREST PAD 18", FABRIC CORPUS HD

BACKREST SLIDE KIT CORPUS HD
PROFILE, BACKR, CORPUS HD

ACTU BRACKET LEGREST HD
ACTUATOR,MANUALCONTROLUNKAGE¢EGREST,HD
BRACKET ADJ FRONT SEAT FRAME CORPUS HD
BRACKET FRONT SEAT FRAME HD

PL PLUG, SEAT FRAME, LEFT FRONT, CORPUS HD

PL PLUG, SEAT FRAME,RIGHT FRONT, CORPUS HD
PLATE, SEAT WIDTH 470-620MM HD
SEAT FRAME GROWTH KIT DEPTH 19" HD 0
SEAT FRAME GROWTH KIT DEPTH 21"H

SEAT FRAME GROWTH KIT DEPTH 233
SEAT FRAME GROWTH KIT DEP
UNITRACK BAR, DEPTH 19" CO
UNITRACK BAR, DEPTH 21" CQRPUS HD

UNITRACK BAR , DEPTH US HD

UNITRACK BAR, DEPT, ZQ?PUS HD

ARMREST BRACKET, @REST MOUNT, CORPUS HD
BRACKET, BACKREST GE, CORPUS HD

WRPUS HD
% CORPUS HD

INGE O12MM
FSEAT ELEVATOR C300/C350/MX00 W/50°
OR, POWER CONTROL LEGR,HDW NO
TOR, POWER RECLINE 150°, CORPUS HD
CTU MANUAL CTRL BACKREST 120°, CORPUS HD
ACKET CABLE MOUNT
BRACKET SEAT FRAME
SUPPORT SEAT FRAME
ARMREST BRACKET, LEFT CORPUS HD
ARMREST BRACKET, RIGHT CORPUS HD
SHAFT ARMREST, CORPUS HD
STOP COLLAR ARMR CORPUS H D

Effective 09/09/2019

Prices subject to change without notice. lofl

permgbil
$105.96 $74.17
$105.96 $74.17
$6.90 $4.83
$184.87 $129.41
$188.87 $132.21
$184.87 $129.41
$430.55 $301.39
$430.55 $301.39
$38.75 $27.13
$48.53 $33.97
$330. $231.37
$ $71.40
> 3 $12.87
$94.07
210.54 $147.38
K\ $57.89 $40.52
$5.03 $3.52
$5.03 $3.52
$40.09 $28.07
$322.94 $226.07
$322.94 $226.07
$322.94 $226.07
$322.94 $226.07
$28.26 $19.78
$31.09 $21.76
$34.71 $24.30
$37.89 $26.52
$114.54 $80.17
$46.24 $32.37
$420.30 $294.21
$31.87 $22.31
$9.29 $6.51
$528.58 $370.01
$1,058.00 $740.60
$1,832.80 $1,282.96
$244.71 $171.30
$13.17 $9.22
$16.96 $11.86
$7.20 $5.04
$210.25 $147.18
$210.25 $147.18
$5.51 $3.85
$13.04 $9.13

Permobil Inc.

300 Duke Drive

Lebanon, TN 37090

1-800-736-0925

Sales Fax: 1-800-231-3256

Parts



Parts Price List

1828380
1828381
1828382
1828383
1828384
1828385
1828386
1828387
1828388
1828389
1828390
1828441
1828442
1828443
1828444
1828547
1828548
1828553
1828559
1828560
1828562
1828563
1828564
1828566
1828567
1828568
1828569
1828570
1828571
1828574
1828575
1828577
1828578
1828579
1828580
1828581
1828582
1828583
1828584
1828585
1828587
1828589
1828590

permgbil

TIE BAR, ARMREST LEFT/RIGHT, EA, CORPUS HD $49.95
ARMREST BRACKET, FIXED W/HDW, CORPUS HD $62.91
BRACKET GAS SPRING,CORPUS HD, POWER/MANUAL $25.78
BRACKET, END, GAS SPRING CORPUS HD $22.82
GAS SPRING 150MM POWER RECLINE, CORPUS HD $164.28
POWER/MANUAL RECLINE PIN O12MM, CORPUS HD $9.86
ARMR PAD 18", LEATHERETTE LEFT/RIGHT, CORPUS HD $70.33
COVER BACKREST LOWER HD $21.60
COVER, UPPER, HINGE BACKREST, HD $27.11
HOLDER ARMREST LEFT $7.19
HOLDER ARMREST RIGHT $13.
ADJ HANDLE, M5X20, EXTRA LOW, M300/M400 SHROUD
COVER FRONT M300 HD INCL DECAL, BLACK ¢ 2
SEAT SUPPORT M300/M400 HD .33
DECAL "HD", M300, EACH ¢ $7.59
FOOTPLATE, EXTRA WIDE LEFT, CORPUS HD K\ $150.74
FOOTPLATE, EXTRA WIDE RIGHT, CORPUS HD $150.74
CABLE ACTU SPIRAL LEGR POWER ADJUSTABLE $118.58
SEAT CUSHION 470X570MM (19"X23") LEATHE% $243.15
SEAT CUSHION, 19"X23" BLACK MESH, COR@ $247.64
SEAT CUSHION, 19"X25" BLACK MESH, D $253.42
SEAT CUSHION 520X570MM (21"X23") ETTE $248.93
SEAT CUSHION, 21"X23" BLACK C US HD $253.42
SEAT CUSHION, 21"X25" LEAT $253.42
SEAT CUSHION, 21"X25" BLA , CORPUS HD $260.47
SEAT CUSHION 570X470 9", LEATHERETTE $252.64
SEAT CUSHION, 23"X MESH, CORPUS HD $255.35
$264.87
$268.27
$292.01
$297.46
$271.68
$283.21
USHION, 25"X21" BLACK MESH, CORPUS HD $285.92
USHION 620X570MM (2 5"X23") LEATHERETTE $292.01
EAT CUSHION, 25"X23" BLACK MESH, CORPUS HD $292.01
AT CUSHION 620X620MM (25"X25") LEATHERETTE $329.37
SEAT CUSHION, 25"X25" BLACK MESH, CORPUS HD $304.26
SEAT CUSHION 19"X19" LEATHERETTE, ALL CORPUS $315.19
SEAT CUSHION 19"X19" BLACK MESH, ALL CORPUS $269.97
SEAT CUSHION 19"X21" BLACK MESH, ALL CORPUS $272.74
SEAT CUSHION 21"X19" BLACK MESH, ALL CORPUS $230.88
SEAT CUSHION 21"X21" LEATHERETTE, ALL CORPUS $279.40

Effective 09/09/2019

Prices subject to change without notice. lofl

$34.96
$44.03
$18.05
$15.98
$114.99
$6.90
$49.24
$15.11
$18.97
$5.03
$9.56
$11.99
$61.07
$215.83
$5.32
$105.52
$105.52
$83.01
$170.21
$173.34
$177.39
$174.25
$177.39
$177.39
$182.32
$176.85
$178.75
$185.41
$187.79
$204.41
$208.22
$190.17
$198.25
$200.14
$204.41
$204.41
$230.55
$212.98
$220.63
$188.98
$190.93
$161.62
$195.58

Permobil Inc.

300 Duke Drive

Lebanon, TN 37090
1-800-736-0925

Sales Fax: 1-800-231-3256
Parts



Parts Price List

1828591
1828592
1828593
1828594
1828595
1828596
1828597
1828598
1828599
1828600
1828601
1828602
1828603
1828605
1828606
1828607
1828608
1828609
1828610
1828612
1828613
1828615
1828629
1828630
1828634
1828635
1828636
1828638
1828639
1828640
1828641
1828642
1828646
1828647
1828648
1828649
1828650
1828653
1828654
1828656
1828657
1828658
1828660

SEAT CUSHION, 21"X21" BLACK MESH, ALL CORPUS
BACKREST CUSHION 20"X21" LEATHERETTE

BACKREST CUSHION, 20"X21" BLACK MESH, CORPUS HD
BACKREST CUSHION 20" W X 24-26" H LEATHERETTE
BACKREST CUSHION MESH 20"W X 24"-26"H,CORPUS HD
BACKREST CUSHION 20" W X 27-29" H ,LEATHERETTE
BACKREST CUSHION MESH 20"W X 27"-29"H,CORPUS HD
BACKREST CUSHION 22"X21" LEATHERETTE

BACKREST CUSHION, 22"X21" BLACK MESH, CORPUS HD
BACKREST CUSHION 22" W X 24-26" H , LEATHERETTE
BACKREST CUSHION MESH 22"W X 24"-26"H,CORPUS HD
BACKREST CUSHION 22"W X 27-29"H LEATHERETTE
BACKREST CUSHION MESH 22"W X 27"-29"H,CORPUS HD
BACKREST CUSHION 24"X21" LEATHERETTE

BACKREST CUSHION, 24"X21" BLACK MESH, CORPUS HD
BACKREST CUSHION 24"W X 24-26"H , LEATHERETTE
BACKREST CUSHION 24" W X 24-26"H ,BLACK MESH
BACKREST CUSHION 24" W X 27-29"H , LEATHERET
BACKREST CUSHION 24" W X 27-29" H ,.BLACK M&ESH, H
SEAT SUPPORT, C4/500 VS W 18.5" STFH @

BRACKET SET, SEAT FRAME CORPUS 3
CABLE ADAPTER, CLICK SW. R-NET %E (EACH)
SWING ARM LEFT FRONT COMP C US HD
SWING ARM RIGHT FRONT CO ORPUS HD
SEAT CUSHION 17"X17" BLA , ALL CORPUS
SEAT CUSHION 17"X19" L TTE, ALL CORPUS
SEAT CUSHION 17"X19; MESH, ALL CORPUS
SEAT CUSHION 17"XZ@\CK MESH, ALL CORPUS
REPLACED BY 1835734 SEAT CUSHION 19"X17"

SEAT CUSH IW?" BLACK MESH, ALL CORPUS
SEAT % , 17" LEATHERETTE, ALL CORPUS
D

21"X17" BLACK MESH, ALL CORPUS
,9X40MM
, LEGREST, CORPUS HD
R LEGREST HD
UT, UNITRACK 45MM HD LEGREST BRACKET, EACH
PLUG LEFT FOOTPL BRACK ADJ CORPUS HD
WHEEL FORK KIT ALUMINUM L&R, M300 M400 M300HD
DIRECT BACKREST ADAPTER CORPUS 3G, CORPUS
COVER BOTTOM SEAT ELEV C300 C350 M300 M400
DRIVEBELT SEAT ELEV 12MM C300 C350 MWD (C3G/HD)
GAS SPRING SEAT ELEV HD
MOTOR SEAT ELEV MWD CORPUS HD

Effective 09/09/2019

Prices subject to change without notice. lofl

permgbil

N

$241.10
$260.78
$268.96
$258.58
$266.23
$266.23
$278.49
$264.16
$271.68
$260.47
$271.
$
3
.60
279.80
$281.84
$288.63
$293.40
$301.54
$123.74
$137.04
$74.00
$589.28
$589.28
$210.53
$215.29
$218.70
$269.97
$217.32
$218.70
$224.13
$224.13
$7.19
$9.95
$90.35
$5.03
$5.03
$318.94
$569.82
$29.11
$72.64
$144.52
$500.02

$168.78
$182.55
$188.27
$181.01
$186.36
$186.36
$194.94
$184.92
$190.17
$182.32
$189.98
$189.98
$197.62
$188.72
$195.87
$197.28
$202.05
$205.38
$211.08
$86.62
$95.93
$51.81
$412.50
$412.50
$147.37
$150.71
$153.09
$188.98
$152.12
$153.09
$156.89
$156.89
$5.03
$6.96
$63.24
$3.52
$3.52
$223.26
$398.87
$20.38
$50.84
$101.17
$350.02

Permobil Inc.

300 Duke Drive

Lebanon, TN 37090
1-800-736-0925

Sales Fax: 1-800-231-3256
Parts



Parts Price List

1828662
1828723
1828726
1828727
1828729
1828731
1828732
1828733
1828734
1828735
1828736
1828738
1828739
1828741
1828742
1828743
1828744
1828765
1828766
1828767
1828768
1828769
1828771
1828772
1828773
1828774
1828775
1828778
1828817
1828818
1828819
1828820
1828821
1828822
1828823
1828824
1828827
1828828
1828829
1828831
1828832
1828839
1828841

SOFTPOT 250MM, SEAT ELEV M300 HD

BACKREST CUSH 20"X26-28" BLACK MESH, ALL CORPUS
BACKREST CUSH 20"X20" BLACK MESH, ALL CORPUS
BACKREST CUSHION 20"X20" LEATHERETTE, ALL

WEB BELT LEG CORPUS HD

FOOTPL BRACKET, LEFT ADJ CORPUS HD

FOOTPL BRACKET, RIGHT ADJ CORPUS HD

PLASTIC PLUG LEGREST CORPUS HD

SEAT ELEVATOR CORPUS HD

SEAT TUBE FIXED,CORPUS HD

SUPPORT BRACKET SEAT SUPPORT CORPUS HD
ACTUATOR, POWER EXT LEGR C3G, INCLUDING

WEAR KIT, POWER EXTENDING LEGREST, INCL HDW,
BACKREST KIT 20"W,CORPUS HEIGHT ADJ,NO CUSHION
BACKREST LOWER, 20" W (510MM), CORPUS/3G

BACKREST UPPER, 20" W (510MM), CORPUS/3G/VS K\ $130.26

BACKREST WEDGE,CENTER,20" INCL HDW,

SHOCK ABSORBER, BLACK C300, C350, 100MM 550L
M300 COVER, COBALT BLUE CENTER SHROU LY
M300 COVER, PURPLE RAIN CENTER SHRO
M300 COVER, PHANTOM GRAY CENTER ONLY
M300 COVER, POP STAR PINK CENT D ONLY
M300 COVER, VOLCANO RED CE S UD ONLY
M300 HD COVER, COBALT BLU SHROUD ONLY
M300 HD COVER, PURPLE RAW, CENTER SHROUD ONLY
M300 HD COVER, PHANT ,CENTER SHROUD
M300 HD COVER, POP, K, CENTER SHROUD
M300 HD COVER, VOQ RED, CENTER SHROUD
FOOTPL BRACK, FIXED FT CORPUS HD

, RIGHT CORPUS HD

POWER EXTENDING LEGREST W/2PC NARROW
POWER EXTENDING LEGREST W/2PC WIDE FOOTPL,
POWER TRANSFER LEGREST ASSY W/NARROW
POWER TRANSFER LEGREST ASSY W/WIDE

M400 COVER, COBALT BLUE, CENTER SHROUD ONLY
M400 COVER, PURPLE RAIN CENTER SHROUD ONLY
TOP COVER, ICS SWITCHBOX INCLUDING DECALS
ARMREST PAD 13", FABRIC ALL CORPUS

Effective 09/09/2019

Prices subject to change without notice. lofl

permgbil

$388.50
$436.94
$384.62
$379.54
$27.13
$74.00
$74.00
$5.96
$3,406.00
$764.33
$55.

$1,
L 4

112.68

$46.92
$120.95
$184.87
$184.87
$184.87
$184.87
$184.87
$184.87
$184.87
$184.87
$184.87
$184.87
$104.39
$104.39
$453.17
$631.98
$274.20
$16.44
$5,248.89
$4,298.79
$4,298.79
$4,729.37
$4,729.37
$184.87
$184.87
$59.87
$37.77

$271.95
$305.86
$269.23
$265.68
$18.99
$51.81
$51.81
$4.18
$2,384.21
$535.03
$38.53
$1,303.87
$119.62
$307.03
$78.88
$91.19
$32.85
$84.66
$129.41
$129.41
$129.41
$129.41
$129.41
$129.41
$129.41
$129.41
$129.41
$129.41
$73.08
$73.08
$317.23
$442.39
$191.94
$11.51
$3,674.22
$3,009.15
$3,009.15
$3,310.56
$3,310.56
$129.41
$129.41
$41.91
$26.44

Permobil Inc.

300 Duke Drive

Lebanon, TN 37090
1-800-736-0925

Sales Fax: 1-800-231-3256
Parts



Parts Price List

1828843
1828878
1828883
1828884
1828885
1828899
1828900
1828901
1828903
1828904
1828905
1828906
1828908
1828909
1828910
1828915
1828916
1828920
1828921
1828922
1828923
1828924
1828925
1828927
1828928
1828950
1828951
1828957
1828958
1828960
1828963
1828964
1828965
1828969
1828970
1828971
1828986
1828987
1828988
1828989
1828990
1829000
1829002

SCREW M8X25 10.9 LOCKING COAT,BACKR&ARMR,C3G
CALF REST BRACKET, PAIR CORPUS HD, CORPUS VS
SEAT FRAME ADJ DEPTH KIT 14"/15"/16",CORPUS/3G/VS
SEAT FRAME ADJ DEPTH KIT 17"/18"/19",CORPUS/3G/VS
SEAT FRAME ADJ DEPTH KIT 20"/21"/22", CORPUS/3G/VS
SPACER, FRONT SWINGARM M300 M400 M300HD, EACH
BRACKET ARMR ADJUSTMENT HD SEAT

BRACKET, REAR SEATFRAME HD SEAT

HOLDER BACKREST CORPUS HD

HOLDER JUNCTION BOX, HD, (C3G&CORPUS<5/19/16
SEAT FRAME CENTER CORPUS HD

BRACKET CABLE HOLDER SEAT CORPUS HD

SCREW M6X30 10.9 ISO 4762 HEX SOCK HEAD CAP
LUMBAR SUPPORT KIT WIDE, HD

RUBBER PROTECT KIT FOOTPL LEFT&RIGHT, X-WIDE,
UPPER EXTREMITY SUPPORT ANGLE ADJ,20"

UPPER EXTREMITY SUPPORT ANGLE

SEAT CUSHION, ERGO AIR CORPUS/3G/VS, 17 'X17"
SEAT CUSHION, ERGO AIR CORPUS/3G/VS, 17'%49"
SEAT CUSHION, ERGO AIR CORPUS/C3G/VSf17"

SEAT CUSHION, ERGO AIR CORPUS/C3 K17
SEAT CUSHION, ERGO AIR CORPUS/ 9"X19"
SEAT CUSHION, ERGO AIR COR 19"X21"

SEAT CUSHION, ERGO AIR CO VS, 21"X19"

SEAT CUSHION, ERGO AIR CORPUS§/C3G/VS, 21"X21"
PWR CONTROL LEGREST, /O HDW, M300 M400

POWER CONTROL LE M300 M400 CORPUS 3G
BOLT KIT, WIDE ARMRESTIHINGE, ALL CORPUS

BOLT KIT, STD ARMREST HINGE, ALL CORPUS

BRACKET NELMOUNT V.2, INCL HDW & ADJ KNOB
BRAC T, V.2 UNITRACK BRKT, CORPUS 3G
BRACK SUPPORT, V.2 SHORT BACK, CORPUS

DREST, CORPUS HEADREST, SHORT
EST V.2 SHORT BACK LEATHERETTE, CORPUS
EST V.2 LEATHERETTE UNITRACK MNT,CORPUS
CTUATOR, POWER RECLINE 110+155STROKE, C3G
ADREST ERGO,SHORT BACKR

HEADREST ERGO FABRIC V.2 UNITRACK MOUNT
HEADREST, FABRIC, SHORT BACKR, V.2, CORPUS 3G
HEADREST FABRIC V.2 UNITRACK MNT, CORPUS 3G
SHAFT M6X16 (O8X35) CORPUS HD BACKR SHEER
SWITCH PAD + FIXRING SET FOR GOOSENECK SWITCH
R-NET BT MOUSE MODULE W/ 2 SW. ADAPTERS & 1M

Effective 09/09/2019

Prices subject to change without notice. lofl

permgbil

$6.90 $4.83
$98.13 $68.70
$264.68 $185.28
$276.92 $193.85
$302.85 $211.99
$6.41 $4.49
$36.26 $25.38
$150.43 $105.31
$19.04 $13.33
$6.51 $4.55
$474. $332.05
$12.84

> 9 $4.83
91 $34.24
119.57 $83.70
$1,024.18 $716.92
$1,130.58 $791.40
$719.46 $503.62
$609.82 $426.87
$719.46 $503.62
$719.46 $503.62
$782.32 $547.63
$719.46 $503.62
$849.97 $594.99
$844.85 $591.40
$1,482.03 $1,037.42
$1,868.79 $1,308.16
$14.21 $9.95
$14.21 $9.95
$55.18 $38.63
$228.10 $159.67
$58.25 $40.78
$145.30 $101.71
$647.01 $452.91
$635.98 $445.18
$1,582.43 $1,107.70
$696.67 $487.67
$450.07 $315.06
$647.01 $452.91
$332.68 $232.87
$6.07 $4.25
$33.02 $23.11
$1,096.31 $767.43

Permobil Inc.

300 Duke Drive

Lebanon, TN 37090
1-800-736-0925

Sales Fax: 1-800-231-3256
Parts



Parts Price List

1829004
1829056
1829057
1829058
1829059
1829060
1829061
1829062
1829076
1829164
1829165
1829166
1829167
1829168
1829169
1829220
1829236
1829237
1829240
1829241
1829242
1829243
1829244
1829245
1829281
1829308
1829323
1829325
1829326
1829327
1829328
1829329
1829331
1829332
1829340
1829350
1829365
1829366
1829368
1829369
1829383
1829402
1829413

SELF LEVELING CUP HOLDER RAM $93.18
SCREW, ADJUSTABLE ARMREST HEIGHT, CORPUS HD $22.01
SEAT PLATE DEPTH , EACH 14"-15"-16", CORPUS $35.06
SEAT PLATE DEPTH, EACH 17"-18"-19", CORPUS $40.81
SEAT PLATE DEPTH, EACH 20"-21"-22", CORPUS $48.91
UNITRACK BAR, 14"-15"-16" SEAT DEPTH, CORPUS/3G/VS $42.20
UNITRACK BAR, 17"-18"-19" SEAT DEPTH, CORPUS/3G/VS $43.17
UNITRACK BAR, 20"-21"-22" SEAT DEPTH, CORPUS/3G/VS $44.88
OMIT LEGREST ASSEMBLY CORPUS/CORPUS 3G $23.03
STEALTH 4" X 6" LATERAL SUPPORTS, HD, *EACH** $615.21
STEALTH 3" X 5" LATERAL SUPPORTS, PSJR, PAIR $1,122.
STEALTH FIXED VENT SHELF M300 M400 $
STEALTH GEL PADS, EXTRA WIDE FOOTPLATES, PAIR ¢ A
STEALTH GEL PADS, WIDE FOOTPLATES, PAIR .81
ATTENDANT CONTROL MOUNT UT,W/PAD & EXT LINK,R- ¢ 145.34
BRACKET,SWITCH BOX, BACKR MOUNT, UT \ $28.64
STEALTH COMFORT PLUS 10" MEDIUM HEADREST P $409.06
STEALTH COMFORT PLUS 14" DARTEX HEADREST $95.79
STEALTH ELBOW SUPPORT WITH 3" X 10" PAFD%: $502.38
STEALTH ELBOW SUPPORT WITH 3" X 10" PAD - T $502.38
GATLIN 2 POSITION ARMREST MIDLINE $775.08
STEALTH GATLIN MIDLINE MOUNT - $829.09
STEALTH GATLIN MOUNT FOR R OMPACT JS $271.34
STEALTH HEIGHT ADJUSTABL $215.29
KEYPAD REPLACEMENT, LE YSPICK, R-NET $89.84
STEALTH CLAMP PLATE FOR 17MM BALL $47.89
EGG SWITCH, BLACK AD PHILLIPS BOLTS $180.19
STEALTH GATLIN MOBNT FOR COMPACT JOYSTICK $239.48
STEALTH GATLIN MOUNT FOR MINI JOYSTICK $215.29
STEALTH MQUNT FOR OMNI $465.67
PAD, 10" LEFT/RIGHT, $213.86
RMR PAD, 13" LEFT/RGHT, ALL CORPUS $213.86
ST FADREST HDW, ADJ 1" BALL, STANDARD,6" $553.88
H HEADREST HDW, ADJ 1" BALL, LONG, 10" POST $553.88
AGSPRING, 150MM MANUAL RECLINE, CORPUS HD $263.65
ADAPTER PLATE NO TILT CORPUS HD $404.07
OFFSET MOUNTING PLATE RETRACTABLE JOYSTICK $23.78
STEALTH SWING AWAY CHIN BOOM W/COMPACT JS $838.21
STEALTH SWING AWAY CHIN BOOM W/MINI JS MT $694.69
SHOCK ABSORBER CC 185MM. 300LBS/IN, M300OHD $213.41
STEALTH SWING AWAY TASH MICRO LITE, COMFORT $1,011.16
FOOTPLATE 1PC, PS PSJR USED W/CENTER MOUNT $347.22
CABLE AC CHARGER UK $30.14

Effective 09/09/2019

Prices subject to change without notice. lofl

permgbil

$65.23
$15.41
$24.54
$28.57
$34.24
$29.55
$30.21
$31.42
$16.12
$430.65
$785.58
$597.82
$507.57
$498.27
$101.73
$20.05
$286.35
$67.06
$351.66
$351.66
$542.55
$580.36
$189.93
$150.71
$62.89
$33.52
$126.14
$167.64
$150.71
$325.97
$149.70
$149.70
$387.72
$387.72
$184.55
$282.85
$16.64
$586.75
$486.28
$149.39
$707.82
$243.06
$21.09

Permobil Inc.

300 Duke Drive

Lebanon, TN 37090
1-800-736-0925

Sales Fax: 1-800-231-3256
Parts



Parts Price List

1829414
1829416
1829467
1829665
1829666
1829669
1829670
1829671
1829672
1829715
1829717
1829722
1829776
1829899
1829901
1829902
1829922
1829923
1829924
1829925
1829926
1829927
1829928
1829929
1829930
1830003
1830005
1830006
1830007
1830052
1830072
1830073
1830074
1830114
1830128
1830137
1830146
1830147
1830152
1830159
1830165
1830166
1830167

permgbil

AC CABLE,PERMOBIL CHARGER US VOLTAGE $30.14 $21.09
CABLE AC CHARGER EU $30.14 $21.09
COVER CHASSIS, K450, BLUE COBALT BLUE $845.37 $591.76
BAR SEAT FRAME, CORPUS 3G **EACH**, <3/8/2016 $80.98 $56.69
BUSHING, LEGREST CORPUS/3G, L=14 012/8 $6.96 $4.88
BRACKET, WEB BELT,LEGREST FRONT, CIl, CORPUS/3G $8.75 $6.13
BRACKET WEB BELT, LEGREST CORPUS/3G $20.43 $14.30
HOLDER LEGREST, CORPUS 3G $100.03 $70.02
SPACER, LEGREST,CORPUS 3G $9.63 $6.75
LINK BRACKET 25MM 1" LONG, "DOGBONE" $38.38 $26.86
CONNECTOR, TUBULAR AND DIRECT BACKR, $12. $8.83
STEALTH GEL PADS - NARROW FOOTPLATES (PAIR) $ $488.95
CABLE SET INCLUDING GM SEAT ELEV FOR HD % 5 $167.67
BATTERY CHARGER 24V 8AMP AUSTRALIA $534.88
ROHO INSERT 15" BLACK ERGO AIR CUSHIONS 372.75 $260.92
ROHO INSERT 17" BLACK ERGO AIR CUSHIONS K\ $396.05 $277.23
UPHOLSTERY, STRETCH, ERGO AIR CUSHION (21"X $226.12 $158.28
UPHOLSTERY, STRETCH, ERGO AIR CUSHION (17"X $226.12 $158.28
UPHOLSTERY, STRETCH, ERGO AIR CUSHION {${"X19") $226.12 $158.28
UPHOLSTERY, STRETCH, ERGO AIR CUSHI 1") $226.12 $158.28
UPHOLSTERY, STRETCH, ERGO AIR CU "X17") $226.12 $158.28
UPHOLSTERY, STRETCH, ERGO AIR (19"X19") $226.12 $158.28
UPHOLSTERY, STRETCH, ERGO N (19"X21") $226.12 $158.28
UPHOLSTERY, STRETCH, ERG HION (21"X17") $226.12 $158.28
UPHOLSTERY, STRETCH, ER AR CUSHION (21"X19") $226.12 $158.28
PERMOFIX UNITRACK FI NT KIT $294.63 $206.24
PERMOFIX UNITRACK BLE MOUNT KIT $568.71 $398.10
PERMOFIX UNITRAC@IG AWAY MOUNT KIT $811.59 $568.12
PERMOFIX SWING AWAY JS/ OMNI MOUNT KIT $575.57 $402.91
H IS BOX INCL SHOCK MNTS, 2012 $1,483.48 $1,038.44

,SEAT ELEV HD3, C350/3/4/500, MWD $15.84 $11.09

JIMP $10.96 $7.68

R KIT $6.85 $4.79

ITTER REMOTE STOP 2 CHNL,315MHZ $153.48 $107.44

ANDLE KNEESTOP VS $14.11 $9.88
DAPTER PLATE ASSEMBLY PSJR FIXED SEAT $149.61 $104.73
RN SIGNAL, FRONT, LED EACH, F3 F5 M3 M5 M1 $121.54 $85.08
TURN SIGNAL, REAR, RED LED, EACH, F3 F5 M3 M5 $121.54 $85.08
CABLE, JUMPER ICS 100MM LIGHT/TURN SIG,F3/5 M3/ 5 $12.75 $8.93
ABDUCT WEDGE, CORPUS/3G ERGO CUSHION, W/MNT $797.69 $558.38
MOTOR W/SLEEVE COUPLING SEAT ELEVATOR $512.34 $358.64
BACKREST CUSHION 11"X16" PS JR LEATHERETTE $229.05 $160.34
BACKREST CUSHION 12"X16" PS JR LEATHERETTE $229.05 $160.34

Effective 09/09/2019

Prices subject to change without notice. lofl

Permobil Inc.

300 Duke Drive

Lebanon, TN 37090
1-800-736-0925

Sales Fax: 1-800-231-3256
Parts



Parts Price List

1830229
1830230
1830231
1830232
1830233
1830234
1830235
1830236
1830246
1830248
1830337
1830338
1830339
1830340
1830345
1830347
1830348
1830422
1830491
1830506
1830507
1830512
1830513
1830515
1830541
1830543
1830545
1830548
1830578
1830579
1830581
1830583
1830585
1830589
1830620
1830631
1830650
1830667
1830674
1830675
1830676
1830679
1830688

permgbil

ARMR BRKT ASSY, LEFT V.2 $442.27
ARMR BRKT ASSY, RIGHT V.2 $442.27
ARMR BRKT ASSY, LEFT V.2 $442.27
ARMR BRKT ASSY, RIGHT V.2 $442.27
ARMR BRACKET, LEFT V.2 $179.53
ARMR BRACKET, RIGHT V.2 $179.53
ARMR BRACKET, LEFT V.2 1/2"ADJ,WIDE,CORPUS/3G/VS $184.59
ARMR BRACKET, RIGHT V.2 $184.59
CABLE, POWER MOUNT KOALA R-NET $24.27
CABLE, SEAT ELEVATOR FOR 21 SPLINE $65.36
CASTER WHEEL,150X50, GRAY 6" SOLID, INCL $106.
6" CASTER WHEEL KIT GRAY (4 WHEELS) INCL $
WHEEL FORK, LEFT FOR 6" CASTER WHEELS, MWD ¢ A
WHEEL FORK, RIGHT FOR 6" CASTER WHEELS, MWD
TCHA SS ARM KIT, W/1 LONG ARM,1 SHORT ARM, & 363.85
TCHA WITH SS ARMS, 3-SWITCH BASE UNIT K\ $7,948.80
RAM X-GRIP PHONE HOLDER $142.39
SIP & PUFF KIT - TOTAL CONTROL HEAD ARRAY $1,430.70
UPPER EXTREMITY SUPPORT ANGLE ADJ, UT X +D $957.01
BRKT,UPPER EXTREMITY SUPP WIDE, ARM $129.59
BRKT,UPPER EXTREMITY SUPP WIDE, , LEFT, $129.59
SEAT ELEVATOR C300/M300 CORPU $3,406.00
SEAT ELEVATOR, CORPUS 3G A 350, 21 $3,406.00
ADAPTER PLATE ASSEMBLY C SJR C300/350PS $92.77
BRACKET, UT AMPUTATION PORT AND HARDWARE $246.82
AMPUTATION SUPP, "D" P, KET AND $372.91
AMPUTATION SUPP, " @ACKET AND $400.99
FOOTPLATE, 1PC, CC@ 3G INCL. LEGREST TUBES $515.07
DRIVE MOTOR, LEFT, F CL BRAKE AND HUB $1,157.45
DRIVE MOTO IGHY, F5 INCL BRAKE AND HUB $1,157.45
CABLE ARGER KOALA, R-NET $35.53
SAFETY DEVICE KOALA R-NET $28.62
25 156+100 SEAT ELEV, KOALA, R-NET $2,341.64
OALA, INCL BRACKET CABLE & HDW, R-NET $1,227.59
MOFIX MICRO-LIGHT SWITCH ADAPTER $91.80
>ECONDARY R-NET BLUETOOTH MOUSE MODULE $1,100.08
VHEEL LOCK,CH2K KO EN PL HD3 C4/500 STR $384.46
COVER GREEN APPLE KOALA P+, R-NET $854.02
CASTER WHEEL,200X50 BLACK 8" SOLID,INCL HDW, $106.13
CASTER WHEEL,150X50 BLACK 6" SOLID, INCL HDW, $106.13
WHEEL PNEUMATIC BLACK 3.00X8 $264.28
WHEEL,SOLID, BLACK 3.00X8 TIRE, W/GRAY RIM $284.98
CARBON BRUSH, MOTOR, EACH M300 M400 M300HD $19.95

Effective 09/09/2019

Prices subject to change without notice. lofl

$309.59
$309.59
$309.59
$309.59
$125.67
$125.67
$129.21
$129.21
$16.99
$45.75
$74.29
$595.54
$69.36
$69.36
$254.70
$5,564.15
$99.68
$1,001.49
$669.91
$90.71
$90.71
$2,384.21
$2,384.21
$64.94
$172.78
$261.04
$280.69
$360.56
$810.22
$810.22
$24.87
$20.03
$1,639.15
$859.31
$64.26
$770.06
$269.12
$597.82
$74.29
$74.29
$184.99
$199.49
$13.97

Permobil Inc.

300 Duke Drive

Lebanon, TN 37090
1-800-736-0925

Sales Fax: 1-800-231-3256
Parts



Parts Price List

1830709
1830712
1830713
1830714
1830715
1830718
1830719
1830720
1830721
1830722
1830726
1830727
1830728
1830746
1830752
1830753
1830754
1830755
1830756
1830760
1830761
1830764
1830765
1830767
1830770
1830771
1830772
1830773
1830774
1830775
1830778
1830779
1830780
1830781
1830790
1830791
1830792
1830796
1830797
1830858
1830892
1830893
1830894

permgbil
RAM X-GRIP 10" TABLET HOLDER, NO MOUNTING HDW $291.38 $203.97
HANDLE BRAKE RELEASE F3 F5 $7.75 $5.43
MAGNETIC WHEEL LOCK, F5 $174.38 $122.07
SHCS M8X35 LOCKING COAT 8.8 FE/ZN 5 C1 DIN 17222 $6.90 $4.83
WASHER SPRING DISC, ON M3/5<9/5/17 &F3/5<3/28/18 $6.90 $4.83
BATTERY STRAP, F3 F5 EACH $6.90 $4.83
CABLE BATTERY, F3 F5 M3 $79.45 $55.62
CABLE BUS R-NET 300MM $70.92 $49.65
CABLE, BUS, R-NET, 800MM .8M $68.41 $47.89
CABLE CLIP O 4,7MM F3 F5 $6.90 $4.83
CABLE, MAIN FUSE F3 F5 M3 M5 M1 $93. $65.29
CABLE OBC CHARGER CONNECT R-NET $44.21
PCB ICS MASTER MODULE INCL CASE, F3 F5 M3 M5 * 4 $341.89
ADAPTER PLATE FIXED PSJR INCL HDW .26 $182.87
SUPPORT WHEEL KIT, PAIR INCL BRKTS & WHEELS,F3 ¢ 671.77 $470.24
SWING ARM, REAR LEFT INCL FORK, F3 F5 \ $486.49 $340.54
SWING ARM, REAR RIGHT INCL FORK, F3 F5 $486.49 $340.54
WHEELFORK, LEFT F3 F5 M3 M5 M1 $135.71 $95.00
WHEELFORK, RIGHT F3 F5 M3 M5 M1 xs $135.71 $95.00
FRONT LIGHT, INCL BRACKET LEFT/RIGHT,\@ , $189.80 $132.86
LIGHT KIT LED, F3 F5 COMPLETE $1,188.25 $831.77
SHOCK ABSORBER, INCL HDW F5 C CH $206.68 $144.67
DRIVE TIRE, 3.00X8 BLACK NON- NGTPNEUMATIC $80.54 $56.37
TIRE, 3.00X8 SOLID, BLACK NO $168.97 $118.27
HUB CAP W/REFLECTOR,CA E HEEL,STD, F3 $9.04 $6.33
CABLE, ICS ADAPTER,LIG 5 $86.03 $60.22
CABLE, LIGHT FRONT ®?MM $24.13 $16.89
CABLE,FRONT LIGHT%\AM F3 F5 $34.76 $24.33
CABLE, ICS JUMPER, LI TS 180MM, F3 F5 M3 M5 $16.37 $11.46
CABLE, JUMP LIGHT,F3 F5 M3 M5 140MM $29.53 $20.68
SY 210X65 PNEUMATIC, BLACK,F3 F5 $118.20 $82.75
L ASSY 210X65 SOLID, GRAY, F3 F5, EACH $113.03 $79.12
EL ASSY, 210X65 SOLID, BLACK, F3 F5 M5 $106.13 $74.29
PAP W/REFLECTOR,DRIVE WHEEL, STD, F3 M3, $14.03 $9.82
PNEUMATIC 210X65 BLACK CASTER, F3 F5 M5 $57.28 $40.09
IRE, SOLID 210X65, BLACK CASTER, F3 F5 M5 $49.35 $34.55
*OCKING PIN SET F5 PERMOLOCK C3 $599.21 $419.45
BRACKET,CALF SUPPORT,EACH CENTER MNT/AERON $136.60 $95.61
RAM X-GRIP POST CAPS 4PCS/BAG $12.64 $8.85
CALF REST ASSY, "A" PADW/ UPHOLSTERY & HD $199.99 $140.00
DRIVE WHEEL ASSY, 3.00-8" PNEU, BLACK, F3 F5 M3 M5 $359.77 $251.84
WHEEL 3.00-8 SOLID GRAY, NO HUB CAP, F3 F5 $277.20 $194.04
WHEEL, 3.00X8", SOLID BLACK, STD, F3 F5 M3 M5 $277.20 $194.04

Effective 09/09/2019

Prices subject to change without notice. lofl

Permobil Inc.

300 Duke Drive

Lebanon, TN 37090
1-800-736-0925

Sales Fax: 1-800-231-3256
Parts



Parts Price List

1830897
1830898
1830899
1830900
1830902
1830907
1830908
1830991
1830997
1830998
1830999
1831000
1831001
1831002
1831003
1831004
1831005
1831006
1831007
1831009
1831010
1831035
1831038
1831048
1831049
1831051
1831088
1831089
1831090
1831091
1831092
1831093
1831094
1831095
1831096
1831097
1831098
1831099
1831100
1831101
1831102
1831103
1831104

permgbil

SHROUD COVER, FRONT,BLACK CORPUS, F3 F5 M3 M5 $50.68 $35.48
SHROUD COVER FRONT F5 CORPUS VS,BLACK,NO $50.68 $35.48
KNEESTOP PAD,EACH,W/CLAMP BRKT,NO COVER, $142.59 $99.81
BRACKET, CHEST SUPPORT $58.25 $40.78
TRI-SPOKE HUB CAP-CUSTOM MATTE BLACK *EACH*** $39.37 $27.55
SHROUD ACCENT KIT, SUN- BURST ORANGE,F5 $113.41 $79.38
RIM ACCENT, SUNBURST ORANGE, F3 F5 M3 M5, EACH $18.65 $13.06
RIM, DRIVE WHEEL, F3 F5 M3 M5 $206.48 $144.54
RIM, CASTER, F3 F5 M5 $126.59 $88.62
PLUG,KNEESTOP BRKT,LOWER CORPUS, CORPUS VS, $6.90 $4.83
SPACER KIT, KNEESTOP BRKT CORPUS, CORPUS VS, 2 $29. $20.50
LEGREST,W/ACTU, CABLE & COVER,NO $2, $1,742.72
COVER, LEGREST, CORPUS VS INCL "PERMOBIL" DECAL ¢ A4 $17.78
ACTUATOR, CORPUS VS LEGR NO HARDWARE .50 $655.56
INNER SECT UP HINGE, LEGR CORPUS VS ¢ 237.88 $166.52
FOOTPLATE BRACKET, LEFT CORPUS VS LEGR,INCL K\ $102.74 $71.91
FOOTPLATE BRACKET, RIGHT CORPUS VS LEGR,IN $102.74 $71.91
CAP, LEFT LOW/RIGHT HIGH LEGREST BRKT, CORP $6.90 $4.83
CAP, RIGHT LOW/LEFT HIGH LEGREST BRKT, %JS $6.90 $4.83
SOFT STOP ASSEMBLY, INCL HDW, AP, $80.78 $56.55
SPACER 016X022X12.5 CASTERS AND $8.33 $5.83
WHEEL 3.00X8" PNEUMATIC BLACK, FLAT $297.54 $208.28
WHEEL, 3.00X8", SOLID BLACK, OMPFLAT BLACK $318.24 $222.77
CASTER, 6" BLACK,W/CUSTOM CK RIM,EACH $147.07 $102.95
CASTER, 8" BLACK,W/CUSTOM\FLA% BLACK RIM,EACH $150.99 $105.70
6" CASTER KIT,ALL4, BLA T BLACK RIMS & $983.82 $688.68
NUT, 35MM, 1PC FOO QORPUS VS, EACH $7.36 $5.15
FOOTPLATE, 1PC, CC@ VS NO LEGREST BRACKETS $216.38 $151.47
CAP, LEGREST BODY, LOWER CORPUS VS $12.44 $8.70
CAP,LEGRES NER SECT UP CORPUS VS, EACH $6.90 $4.83
CAP, L Y, UPPER CORPUS VS $12.44 $8.70
LEGRE TU NO FOOTPL CORPUS, CORPUS VS $2,386.26 $1,670.38
SH ST HINGE CORPUS VS $89.86 $62.91
OR 25+35 STROKE SUPPORT WHEELS, CORPUS $1,545.23 $1,081.67

IT -SUPPORT WHEELS ACTUATOR, CORPUS VS $37.12 $25.99
EARING KIT, SUPPORT WHEELS, PAIR, CORPUS VS $105.08 $73.55
PPORT WHEEL, LOWER ASSY NO ACTUATOR, F5 $726.89 $508.83
REPAIR KIT, SUPPORT WHEEL CORPUS VS,INCL FORK & $55.39 $38.78
PLASTIC PLUG 032X9.5(028) SUPPORT WHEEL, CORPUS $8.19 $5.73
WHEEL, SUPPORT WHEEL EACH, F5VS $98.84 $69.19
BRACKET, ADJUSTABLE, SEAT FRAME,REAR $68.52 $47.97
BRACKET, ADJUSTABLE, SEAT FRAME,REAR $68.52 $47.97
SHAFT, BACKREST HINGE CORPUS VS $41.91 $29.33

Effective 09/09/2019

Prices subject to change without notice. lofl

Permobil Inc.

300 Duke Drive

Lebanon, TN 37090
1-800-736-0925

Sales Fax: 1-800-231-3256
Parts



Parts Price List

1831105
1831106
1831107
1831108
1831109
1831110
1831112
1831113
1831115
1831117
1831118
1831132
1831133
1831134
1831135
1831136
1831137
1831138
1831146
1831147
1831148
1831149
1831150
1831151
1831152
1831167
1831168
1831183
1831184
1831186
1831187
1831188
1831189
1831190
1831191
1831192
1831194
1831204
1831205
1831206
1831207
1831208
1831209

HINGE, BACKREST RIGHT CORPUS VS

HINGE, BACKREST LEFT CORPUS VS

ARM, BACKREST RIGHT CORPUS VS

ARM, BACKREST LEFT CORPUS VS

LINKROD, SLIDING BACK CORPUS/HD/VS, 96MM

TIEBAR, BACKREST HINGE CORPUS VS

CABLE CLIP, 2 CABLES F5 M5, EACH

CABLE CLIP, 3 CABLES F5 M5, EACH

DRIVEBELT, AP ELEVATOR CORPUS/CORPUS VS, M1

SEAT FRAME PLATE, KIT CORPUS, CORPUS VS

BAR, SEAT FRAME, EACH CORPUS, CORPUS VS

SHROUD ACCENT KIT GALAC- TIC GREEN, F5

SHROUD ACCENT KIT, MID- NIGHT BLACK, F5

SHROUD ACCENT KIT, OCEAN BLUE, F5

SHROUD ACCENT KIT,PHANTOM GRAY, F5

SHROUD ACCENT KIT, POWER PINK, F5

SHROUD ACCENT KIT,RADIANT RED, F5

SHROUD ACCENT KIT, TITAN BLUE, F5 CORPUS/CO

RIM ACCENT, GALACTIC GREEN, F3 F5 M3 M5, EACH

RIM ACCENT, MIDNIGHT BLACK, F3 F5 M3 M§,

RIM ACCENT, OCEAN BLUE F3 F5 M3 M5

RIM ACCENT, PHANTOM GRAY F5, E Q

RIM ACCENT, POWER PINK F3 F 5, EACH

RIM ACCENT, RADIANT RED F3 , EACH

RIM ACCENT, TITAN BLUE F5AC

DRIVE MOTOR, 29:1, LEFT;

DRIVE MOTOR, 29:1,

SHOCK ABSORBER INEL HDW FRONT/REAR, EACH, F3

MAGNETIC WHEEL LOCK'F3

CASTER 2 SO BLACK EACH, C300 C350 C500
LEFT, F5

ONT RIGHT, F5

W/FOAM INSTERT KNEESTOP, EACH,

GREST BODY, UPPER FRONT, CORPUS VS

GREST BODY, UPPER REAR, CORPUS VS

HEST SUPPORT BODY, FIXED BRACKET,NO PAD,

RMOFIX SWING AWAY JS/ OMNI MOUNT KIT

INCONTINENCE PROTECTION 17"X17"

INCONTINENCE PROTECTION 17"X19"

INCONTINENCE PROTECTION 17"X21"

INCONTINENCE PROTECTION 19"X17"

INCONTINENCE PROTECTION 19"X19"

INCONTINENCE PROTECTION 19"X21"

Effective 09/09/2019

Prices subject to change without notice. lofl

) 2
K\ $113.41

permgbil
$196.84 $137.79
$223.46 $156.42
$115.32 $80.73
$68.90 $48.23
$35.42 $24.79
$115.25 $80.68
$6.90 $4.83
$6.90 $4.83
$75.45 $52.81
$127.57 $89.29
$80. $56.69
$ $79.38
> 4 $79.38
a1 $79.38
113.41 $79.38
$79.38
$113.41 $79.38
$113.41 $79.38
$18.65 $13.06
$18.65 $13.06
$18.65 $13.06
$18.65 $13.06
$18.65 $13.06
$18.65 $13.06
$18.65 $13.06
$1,157.45 $810.22
$1,157.45 $810.22
$241.95 $169.37
$384.46 $269.12
$120.09 $84.06
$391.34 $273.95
$391.34 $273.95
$117.02 $81.92
$6.90 $4.83
$6.90 $4.83
$322.83 $225.98
$575.57 $402.91
$321.98 $225.39
$321.98 $225.39
$321.98 $225.39
$321.98 $225.39
$321.98 $225.39
$321.98 $225.39

Permobil Inc.

300 Duke Drive

Lebanon, TN 37090
1-800-736-0925

Sales Fax: 1-800-231-3256
Parts



Parts Price List

1831210
1831220
1831221
1831222
1831226
1831227
1831233
1831238
1831240
1831248
1831249
1831250
1831251
1831252
1831253
1831255
1831256
1831257
1831258
1831263
1831266
1831269
1831274
1831277
1831278
1831279
1831280
1831284
1831286
1831287
1831288
1831289
1831291
1831322
1831323
1831324
1831325
1831327
1831366
1831370
1831371
1831372
1831382

INCONTINENCE PROTECTION 19"X23"
INCONTINENCE PROTECTION 21"X17"

INCONTINENCE PROTECTION 21"X19"

INCONTINENCE PROTECTION 21"X21"

INCONTINENCE PROTECTION 23"X21"

INCONTINENCE PROTECTION 23"X23"

INCONTINENCE PROTECTION 23"X25"

TIE DOWN BRACKET KIT FRONT, LEFT AND RIGHT, F5
POSITIONING LOCK,KNEESTOP CORPUS, CORPUS VS
CHEST SUPPORT PAD, SMALL W/UPHOLSTERY AND
CHEST SUPPORT PAD, MEDIUM W/UPHOLSTERY AND
CHEST SUPPORT PAD, LARGE W/UPHOLSTERY AND
UPHOLSTERY, SMALL CHEST SUPPORT W/FOAM,
UPHOLSTERY, MEDIUM CHEST SUPPORT W/FOAM,
UPHOLSTERY, LARGE CHEST SUPPORT W/FOAM,
COVER, LOWER BACK CORPUS VS

SLIDE BEARING, BACKREST FRAME, CORPUS/VS
ADJUSTMENT HANDLE M8X25 HEADREST V.2
LEGREST, LARGE ASSEMBLY NO FOOTPLATE%?P
LEGREST, INNER PROFILE ONLY, CORPUS 0

ROLLER BRACKET, LEGREST CORPUS

SEAT FRAME ADJUSTABLE FRONT, %CORPUS
CABLE, PJSM CONTROL PANEL 1.5M, 90°
KNEESTOP CORPUS VS,CORP ETE

PARALLEL KEY 6X6X14 BACKRESTWINGE, CORPUS VS

WIDTH PLATE, 17"-23",EA US, CORPUS VS
AP-ELEVATOR, CORP ETE ASSY, INCL HDW
WEAR KIT, AP, CORPE®S CORPUS VS

MOTOR, FRONT SEAT LIFT AP -CORPUS, CORPUS VS
PROTECTOR STIE CAP, AP CORPUS, CORPUS VS
LEVATOR

IT, AP ELEV

RONT RIGHT F3

KOALA RNET-POP STAR PINK

KOALA RNET-PLATINUM SILVER

OVER KOALA RNET-VOLCANO RED

OVER KOALA RNET-COBALT BLUE

COVER KOALA R-NET-EXTREME YELLOW

USB CHARGER, UNIVERSAL INCL CABLES AND HDW

AP ELEVATOR, CORPUS VS COMPLETE ASSY, INCL HDW
SEAT TUBE FIXED, W/POWER TILT OPTION, AP, CORPUS

SEAT TUBE FIXED, NO TILT AP, CORPUS

SHROUD ACCENT KIT, GALAC- TIC GREEN, F3 CORPUS

Effective 09/09/2019

Prices subject to change without notice. lofl

permgbil
$321.98 $225.39
$312.60 $218.82
$312.60 $218.82
$312.60 $218.82
$312.60 $218.82
$312.60 $218.82
$312.60 $218.82
$246.14 $172.30
$41.90 $29.33
$259.17 $181.42
$261. $182.71
$ $188.24
g 6 $86.53
12 $87.59
¢ 128.67 $90.07
\ $14.04 $9.83
$6.90 $4.83
$21.11 $14.77
$411.07 $287.75
$69.01 $48.31
$27.28 $19.10
$383.27 $268.29
$93.04 $65.13
$601.61 $421.13
$6.90 $4.83
$25.92 $18.15
$5,535.06 $3,874.55
$94.79 $66.35
$639.83 $447.88
$6.90 $4.83
$26.65 $18.66
$29.91 $20.94
$131.92 $92.34
$854.02 $597.82
$854.02 $597.82
$854.02 $597.82
$854.02 $597.82
$854.02 $597.82
$367.21 $257.05
$5,700.44 $3,996.61
$3,468.29 $2,427.81
$1,793.75 $1,255.62
$113.41 $79.38

Permobil Inc.

300 Duke Drive

Lebanon, TN 37090
1-800-736-0925

Sales Fax: 1-800-231-3256
Parts



Parts Price List

1831383
1831384
1831385
1831386
1831387
1831397
1831400
1831401
1831402
1831403
1831413
1831414
1831415
1831423
1831442
1831466
1831490
1831505
1831514
1831530
1831531
1831532
1831537
1831545
1831546
1831547
1831548
1831666
1831684
1831685
1831686
1831687
1831688
1831689
1831701
1831702
1831703
1831704
1831705
1831706
1831707
1831708
1831716

permgbil
SHROUD ACCENT KIT, MID- NIGHT BLACK, F3 CORPUS $113.41 $79.38
SHROUD ACCENT KIT, OCEAN BLUE, F3 CORPUS $113.41 $79.38
SHROUD ACCENT KIT, POWER PINK, F3 CORPUS $113.41 $79.38
SHROUD ACCENT KIT,RADIANT RED, F3 CORPUS $113.41 $79.38
SHROUD ACCENT KIT, SUN- BURST ORANGE, F3 $113.41 $79.38
DECAL, TIE DOWN, EACH F3 F5 M1 M3 M5 $6.90 $4.83
CABLE CLIP MOTOR LEFT F5 $10.07 $7.05
CABLE CLIP MOTOR RIGHT F5 $10.07 $7.05
LUGGAGE CARRIER INCLUDING LIGHT KIT, F3 F5 M3 M5 $1,027.00 $718.90
ARMREST PAD 10" FABRIC CORPUS/3G/VS $47.42 $33.20
CHEST SUPPORT BODY,ADJUST BRACKET,NO PAD, $398. $279.19
BAR SEAT FRAME REAR, EACH CORPUS, CORPUS VS $56.69
BACKREST SLIDE KIT CORPUS VS * A $346.60
IDEVICE CONTROL BT MODULE R-NET % $767.43
COVERSET K450 PURPLE RAIN 99.45 $559.62
ADAPTER PLATE ASSEMBLY TUBE C300, TUBE/ELEV &\ $92.77 $64.94
TOOL, SHOCK ABSORBER ADJUSTMENT, F3 F5 $20.20 $14.15
FALL DOWN PROTECTOR DAMPER,AP-ELEV, CORP $851.04 $595.73
LINK, FIXED SEAT TUBE/ TILT, -5°, EACH $25.04 $17.53
WHEEL 3.00X8", MUD/SNOW PNEU, BLACK, @ M5 $359.77 $251.84
TIRE 3.00X8, MUD/SNOW BLACK, F3 F5 $93.47 $65.43
KNEESTOP BRACKET, MAIN NO PAD @S,CORPUS $213.34 $149.34
BRACKET, ADDITIONAL ADJ UPP T ITY $87.32 $61.13
COVER SWINGARM, REAR LEF VF3 F5 $27.46 $19.23
COVER SWINGARM, REAR L OWJ SIDE, F3 F5 $27.46 $19.23
COVER SWINGARM, REA INSIDE, F3 F5 $27.46 $19.23
COVER SWINGARM, T OUTSIDE, F3 F5 $27.46 $19.23
WASHER, LIGHT KIT, F3 RUBBER WASHER $6.90 $4.83
HUB CAP, "STAR" DRIV HEEL, EACH $14.03 $9.82
TIRE 3.00 ID ACK AGGRESSIVE TREAD $186.00 $130.20
DLW BLACK AGGRESSIVE TREAD $48.35 $33.85
8] AGGRESSIVE TREAD, SOLID, BLACK $308.23 $215.77
EL ASSY, 210X65 AGGRESSIVE, SOLID, $117.89 $82.52
PAP, "STAR", CASTER WHEEL, EACH $9.04 $6.33
ARING, CORPUS VS SUPPORT WHEELS, EACH $45.51 $31.85
CREW M8X60 10.9 FE/ZN BHCS $6.90 $4.83
VASHER, 6.4X17X3 DIN 7349 SUPP WHEELS, HINGE $6.90 $4.83
WHEELFORK, CORPUS VS SUPPORT WHEELS, EACH $64.56 $45.20
SPACER, SHOCK ABSORBER 8.2/20 X 22MM, F3 F5 $13.19 $9.23
SHOCK ABSORBER, F5 160MM 350LBS/IN, NO HDW, $90.53 $63.37
REPLACED BY 1833014 SOCKET, SHOCK ABSORBER $29.32 $20.53
SPACER, WHEELFORK,SUPPORT WHEEL, CORPUS VS $6.90 $4.83
DECAL, "CORPUS VS" EACH $7.59 $5.32

Effective 09/09/2019

Prices subject to change without notice. lofl

Permobil Inc.

300 Duke Drive

Lebanon, TN 37090
1-800-736-0925

Sales Fax: 1-800-231-3256

Parts



Parts Price List permgbil

1831717 DECAL, "CORPUS", F3 F5 $6.90 $4.83
1831742 TIE-DOWN BRACKET, LEFT F3 F5 $123.08 $86.16
1831743 TIE DOWN BRACKET, RIGHT F3 F5 $123.08 $86.16
1831745 BRACKET ACTUATOR, RECLINE POWER & MANUAL, $41.99 $29.40
1831747 COVER, F5, SWINGARM LEFT GEAR BOX, BLACK,NO $24.91 $17.43
1831748 COVER, F5, LEFT MOTOR BLACK, NO COLOR INSERT $39.67 $27.77
1831749 COVER, F5, SWINGARM RIGHT GEAR BOX, BLACK,NO $24.91 $17.43
1831750 COVER, F5, RIGHT MOTOR BLACK, NO COLOR INSERT $39.67 $27.77
1831751 COVER, F5, LEFT FENDER BLACK $32.09 $22.46
1831752 COVER, F5, RIGHT FENDER BLACK $32.09 $22.46
1831753 LEGREST, CENTER LONG EXTENSION, SMALL ASSY $345. $242.08
1831755 COVER, REAR, BLACK F3 F5 M3 M5 $37.61
1831756 CHASSIS COVER, TOP, BLACK F3 F5 M3 M5 ¢ @ $32.85
1831773 COVER, F3, SWINGARM,FRONT LEFT/GEARBOX, BLACK \ 91 $17.43
1831774 COVER, F3, LEFT MOTOR BLACK, NO COLOR INSERT ¢ O$39.67 $27.77
1831775 COVER, F3, SWINGARM,FRONT RIGHT/GEARBOX, BLACPK\ $24.91 $17.43
1831776 COVER, F3, RIGHT MOTOR BLACK, NO COLOR INSE $39.67 $27.77
1831777 COVER F3, LEFT FENDER BLACK Q $32.09 $22.46
1831778 COVER, F3, RIGHT FENDER BLACK x $32.09 $22.46
1831782 SPACER HUB, 2XO80MM, EACH AGGRESSIV@ $6.90 $4.83
1831787 COMPACT LAPTOP VENT TRAY $2,147.58 $1,503.31
1831789 WASHER, FOOTPLATE CORPUS VS $6.90 $4.83
1831809 BUSHING, RECLINE ACTUATOR S, RPUS VS $6.90 $4.83
1831810 KEY, RECLINE BRACKET CORP US VS $8.11 $5.68
1831812 LEAF SPRING, RECLINE BRKTREO S, CORPUS VS $6.90 $4.83
1831822 SPRING PLUNGER, ARM CKET, CORPUS 3G $18.27 $12.79
1831831 BRACKET LEGREST A INCL ICS HUB, CORPUS $132.72 $92.90
1831834 ARMREST POUCH BLACK, INCL MOUNTING BRKT, $150.27 $105.18
1831840 MAGNET HOLDER,AP E ATOR INCL MAGNET, $18.05 $12.63

1831843 UPPER EXTR PPORT HDW, UT ANGLE ADJ $771.61 $540.13

1831852 BLUET E, R-NET IDEVICE,INCL $1,096.31 $767.43
1831875 NUT BA 25MM BLUETOOTH MOUNT $6.90 $4.83
1831883 BL ODULE, MOUSE 1 INCL MNT HDW AND $1,100.08 $770.06
1831884 OTH MODULE, MOUSE 2 R-NET INCL MNTG $1,100.08 $770.06
1831978 ING KIT RNET BLUETOOTH MODULE $42.44 $29.71
1831997 GGAGE CARRIER INCLUDING REFLECTOR KIT,F3 F5 $562.24 $393.56
1832005 ABLE, REAR LIGHT/TURN LUGGAGE CARRIER,F3/5 M3/5 $39.04 $27.33
1832006 BRACKET, REAR LOWER MNTG LUGGAGE CARRIER, F3 $131.22 $91.85
1832007 CABLE, LIGHT/TURN SIGNAL LUGGAGE CARRIER,F3/5 $16.77 $11.74
1832008 LID, LUGGAGE CARRIER F3 F5 $178.60 $125.02
1832009 BRACKET, REAR UPPER MOUNT LUGGAGE $37.03 $25.92
1832021 SEAT CUSHION, CORPUS ERGO AIR, 17"X23" $719.46 $503.62
1832023 SEAT CUSHION, 17X15 LEATHERETTE $220.41 $154.29
Permobil Inc.

300 Duke Drive

Lebanon, TN 37090

Effective 09/09/2019 alos Fa: Losoa o

Prices subject to change without notice. lofl Parts



Parts Price List

1832072
1832084
1832085
1832086
1832087
1832088
1832089
1832094
1832096
1832097
1832098
1832099
1832100
1832115
1832116
1832117
1832118
1832120
1832121
1832122
1832123
1832124
1832125
1832134
1832135
1832141
1832142
1832145
1832150
1832152
1832153
1832158
1832159
1832170
1832171
1832277
1832278
1832279
1832280
1832299
1832300
1832301
1832302

BATTERY CHARGER,SINGLE MODE,24V 8A, USA ONLY
UPHOLSTERY, HEAD SUPPORT LARGE, 14"X5.5",
UPHOLSTERY, HEAD SUPPORT MEDIUM, 10"X5",
UPHOLSTERY, HEAD SUPPORT SMALL, 7", PERMOBIL
UPHOLSTERY, LATERAL SUPP LARGE, 5"X7",EA,
UPHOLSTERY, LATERAL SUPP SMALL 3"X5", EA,
COVER, LATERAL SUPPORT LOCK

SEAT ELEVATOR C350 TILT 21 SPLINES

BATTERY HOLDER FOR LAPTOP VENTILATOR TRAY
BUDDY BUTTON, BLUE

BUDDY BUTTON, GREEN

02 HOLDER FOR LAPTOP VENTILATOR TRAY

R-NET COLOR JOYST MODULE COLOR-TOGGLE-NO
CUSHION, HEAD SUPPORT 14" LARGE,W/UPHOLST,
CUSHION, HEAD SUPPORT 10"

) 2
CUSHION, HEAD SUPPORT 7" K\ $412.81

BRACKET, UT MOUNT ASSY HEAD SUPPORT, PERM

HINGE HEAD SUPPORT PERMOBIL

LINK, HEAD SUPPORT MEDIUM PERMOBIL \
LINK, HEAD SUPPORT, SHORT PERMOBIL

LATERAL SUPPORT PAD,LARGE 5"X7", TERY,
LATERAL SUPPORT PAD,SMALL 3"X59W/ LSTERY,

BRACKET, HEAD SUPPORT ARM ARD ASSY,
WHEEL FORK KIT ALUMINUM F x

HUB CAP KIT, STAR, F5 SET 4

ADJ HANDLE, TRUNK SUP,
LATERAL SUPPORT E
LATERAL SUPPORT,QUICKLOCK EACH, PERMOBIL
BRACKET, HEAD SUPP ARM LONG ASSY, PERMOBIL
BRACKET, LA ALSUPPORT ADJUSTABLE,

SUPPORT

ER LUGGAGE CARRIER, C400 C500

IT 17"-23" CORPUS 3G TO CORPUS

T, LEFT, HEADLIGHTS M300 M400

ET, RIGHT, LIGHTS M300 M400

RMREST PAD, GEL, 10" PERMOBIL, L/R, EACH

MREST PAD, GEL, 13" PERMOBIL, L/R, EACH
ARMREST PAD, GEL, 16" PERMOBIL, L/R, EACH
ARMREST PAD, GEL, 18" PERMOBIL, L/R, EACH

SHROUD ACCENT KIT, F5 CARBON FIBER

SHROUD ACCENT KIT, F3 CARBON FIBER

RIM ACCENT, CARBON FIBER PAIR, M3 M5 F3 F5
SHROUD ACCENT KIT, F5 MOSSY OAK BREAKUP

RMOBIL, M6X18,
LINK, SHORT,

Effective 09/09/2019

Prices subject to change without notice. lofl

permgbil

$506.55
$96.06
$92.19
$86.38
$49.56
$55.38
$46.85
$3,483.69
$474.73
$186.75
$186.
$
, 186.7
.79
432.99

®

$125.62
$111.40
$41.81
$35.67
$101.08
$89.58
$244.60
$318.94
$55.46
$16.63
$28.26
$194.50
$263.46
$489.49
$489.49
$55.61
$159.57
$22.86
$22.86
$210.00
$232.50
$255.04
$277.60
$225.99
$225.99
$70.98
$225.99

$354.59
$67.25
$64.54
$60.47
$34.69
$38.76
$32.79
$2,438.58
$332.31
$130.73
$130.73
$370.29
$1,215.73
$308.56
$303.09
$288.97
$87.94
$77.98
$29.27
$24.97
$70.76
$62.71
$171.22
$223.26
$38.81
$11.64
$19.78
$136.15
$184.43
$342.65
$342.65
$38.93
$111.70
$16.00
$16.00
$147.00
$162.75
$178.53
$194.32
$158.19
$158.19
$49.69
$158.19

Permobil Inc.

300 Duke Drive

Lebanon, TN 37090
1-800-736-0925

Sales Fax: 1-800-231-3256
Parts



Parts Price List

1832303 SHROUD ACCENT KIT, F3 MOSSY OAK BREAKUP $225.99
1832304 RIM ACCENT, MOSSY OAK BREAKUP COUNTRY, PAIR $70.98
1832340 HEAD SUPPORT BRACKET, 20" BACKREST HEIGHT, $60.37
1832388 PERMOBIL VSC DONGLE $1,840.71
1832706 SPACER, DRIVE WHEEL M3/400 HD $35.45
1832745 VIRTUAL SEATING COACH KIT INCLUDING PHONE $2,125.71
1832746 VIRTUAL SEATING COACH KIT INCLUDING TABLET $2,376.53
1832749 LEGREST OUTER TUBE CORPUS VS $76.10
1832769 BP POSITIONING BELT,LARGE NON-PADDED, BELT $175.07
1832770 BP POSITIONING BELT,LARGE PADDED, BELT W/CINCH $219.28
1832771 BP POSITIONING BELT, MED NON-PADDED, BELT $175.
1832772 BP POSITIONING BELT, MED PADDED, BELT W/CINCH $
1832773 BP POSITIONING BELT,X-LRG PADDED, BELT W/CINCH ¢ A4
1832774 BP MONOFLEX CHEST SUPPORT LARGE, PAD & .63
1832775 BP MONOFLEX CHEST SUPPORT MEDIUM, PAD & ¢ 199.65
1832776 BP MONOFLEX CHEST SUPPORT EXTRA LARGE, PAD & K\ $223.67
1832777 BP POSITIONING BELT,SMALL PADDED, BELT W/CIN $209.94
1832825 TRI-SPOKE HUB CAP -MOSSY OAK BREAKUP COUN $86.12
1832827 BRACKET IOM OR DUAL BT MOUSE BACKRES%NT $65.59
1832839 ACTUATOR, REAR SEAT LIFT AP ELEV W/T L $1,061.58
1832862 PLATE, SEAT ABDUCTOR FOR 16,19, & S- PAIR $98.31
1832866 COVER, WHEELFORK/SWING ARM, E 5M1F3 $6.94
1832867 COVER, CHARGER PLUG (REAR ) FS'F5 M3 M5 $12.99
1832869 BATTERY BOX ASSEMBLY M3 $121.37
1832870 CABLE, ICS ADAPTER,LIGHTSW3 $86.03
1832872 DECAL, BRAKE RELEASE JWM3 $7.11
1832873 COVER, LEFT FENDE BRAKE, BLACK, M3 M1 $32.09
1832874 COVER,RIGHT FENDER/M@TOR BRAKE, BLACK, M3 M1 $32.09
1832875 COVER, REAR SWINGA INSIDE LEFT INCL DECAL,M3 $28.17
1832876 COVER, R WINGARM, IN- SIDE RIGHT INCL DECAL, $28.17
1832877 GARM OUTSIDE LEFT, M3 $23.35
1832878 5WINGARM OUTSIDE RIGHT, M3 $23.35
1832881 T SWINGARM INSIDE LEFT, M3 $23.35
1832882 =R, FRONT SWINGARM INSIDE RIGHT, M3 $23.35
1832883 ER, FRONT SWINGARM OUTSIDE LEFT, M3 $23.35
1832884 OVER, FRONT SWINGARM OUTSIDE RIGHT, M3 $23.35
1832889 ABLE CLIP, MOTOR AND LIGHTS, M3 $6.94
1832890 MAGNETIC WHEEL LOCK,M3 M5 3.0NM $384.46
1832891 HEADLIGHT MOUNTING BRKT LEFT/RIGHT, EACH, M3 $22.86
1832893 BRACKET, MOTOR, M3 $13.34
1832895 DRIVE MOTOR, LEFT, M3 GEAR 29:1, 350W $1,143.88
1832896 DRIVE MOTOR, RIGHT, M3 GEAR 29:1, 350W $1,143.88
1832897 SHROUD ACCENT KIT, M3 GALACTIC GREEN $138.98

permgbil

$158.19
$49.69
$42.26
$1,288.51
$24.82
$1,488.00
$1,663.57
$53.27
$122.55
$153.50
$122.55
$153.50
$172.55
$148.85
$139.76
$156.58
$146.96
$60.28
$45.91
$743.11
$68.81
$4.85
$9.09
$84.97
$60.22
$4.98
$22.46
$22.46
$19.71
$19.71
$16.34
$16.34
$16.34
$16.34
$16.34
$16.34
$4.85
$269.12
$16.00
$9.34
$800.72
$800.72
$97.28

Permobil Inc.
300 Duke Drive
Lebanon, TN 37090
1-800-736-0925

Effective 09/09/2019
Prices subject to change without notice. lofl

Sales Fax: 1-800-231-3256
Parts



Parts Price List

1832898
1832914
1832916
1832917
1832918
1832919
1832920
1832925
1832926
1832927
1832928
1832929
1832931
1832932
1832933
1832934
1832936
1832937
1832941
1832942
1832945
1832946
1832949
1832956
1833004
1833006
1833011
1833014
1833016
1833056
1833059
1833061
1833063
1833412
1833413
1833414
1833415
1833417
1833418
1833419
1833420
1833421
1833422

permgbil

SHROUD ACCENT KIT, M3 MIDNIGHT BLACK $138.98
RETRACTABLE PANEL HOLD CIlI, V2 $487.85
RETRACTABLE J/S MOUNT,L/R UT, ALL CORPUS, $487.85
POWER CONTROL RECLINE, M3 M5 F3/5 CORPUS $1,654.27
POWER CONTROL RECLINE 180°, LA28, CORPUS VS $1,577.26
POWER CONTROL LEGREST, M3 CORPUS, W/HDW, LA28 $1,325.25
POWER CONTROL LEGREST, VS LEGR ON CORPUS, M3, $1,232.86
COVER BACK CORPUS>7/10/17 CORPUS VS> 6/15/17, V.2 $25.02
ARMREST HINGE ASSY, CORPUS/VS >6/15/17 $119.88
HINGE, BACKREST, RIGHT CORPUS/C3G >05/19/16 $36.33
HOLDER JUNCTION BOX C3G & CORPUS>5/19/16 ONLY $16.
MANUAL ACTU LEGR, M3 M5 INCL BRKT & ICS, V.2 $
SHROUD ACCENT KIT, M3 OCEAN BLUE % 9
SHROUD ACCENT KIT, M3 POWER PINK
SHROUD ACCENT KIT, M3 RADIANT RED 138.98
SHROUD ACCENT KIT, M3 SUNBURST ORANGE K\ $138.98
DECAL, "M3", EACH $9.63
CASTER WHEEL,180X68 BLACK 7" SOLID, INCL HDW, $106.13
SWING ARM FRONT LEFT W/FORK & COVERS, M1 $488.21
SWING ARM FRONT RIGHT W/FORK & COV 1 $488.21
SWING ARM REAR LEFT W/FORK & COV, ) $244.11
SWING ARM REAR RIGHT W/FORK & (@ M3 M1 $244.11
FRONT LIGHT INCL BRACKET LE RIGHT, EACH, M3 $189.80
LUGGAGE/ESSENTIALS CARRI % 500 $492.83
LIGHT KIT, LED FRONT/REARYAIDICATORS, M3 M5 $1,188.25
FLEX LINK ASSEMBLY W/ H, M3 M1 $37.92
SCREW CLIP M5X8, F NGARM, M3 M5 $6.94
SOCKET, SHOCK/ FL M3 M5 M1 F3 F5 M3/400 &HD $6.70
ADJ LINK BRACKET, 2" LONG "DOGBONE" $38.40
SHOCK AB CWT, M3 M1 COMPLETE ASSY, INCL $241.95
- P A8 LOR DISPLAY W/BLUETOOTH $1,115.25
% OLOR DISPLAY WITH BLUETOOTH $1,115.25
FL ASSEMBLY, EACH M5 $41.84
, BRAKE RELEASE UPPER COVER, MWD M3 M1 $6.94
,MOTOR/BRAKE RELEASE LOWER COVER, MWD $11.46
RMREST SIDE SUPPORT PAD LEFT/RIGHT, EACH $78.49
HOLSTERY, ELBOW STOP PAD COVER, EACH $57.22
UPHOLSTERY, ARMREST SIDE SUPPORT, LEFT/RIGHT, $78.49
SIDE SUPPORT, ARMREST $378.28
MOUNTING BRACKET, ARMR SIDE SUPPORT, L/R, EACH $213.76
ELBOW STOP, RIGHT, EACH COMPLETE ASSEMBLY, $274.17
ELBOW STOP, LEFT, EACH COMPLETE ASSEMBLY, $274.17
BRACKET, ELBOW STOP ADJUSTABLE, RIGHT, CORPUS $114.16

Effective 09/09/2019

Prices subject to change without notice. lofl

$97.28
$341.49
$341.49
$1,157.99
$1,104.08
$927.67
$863.00
$17.52
$83.91
$25.43
$11.84
$197.84
$97.28
$97.28
$97.28
$97.28
$6.75
$74.29
$341.74
$341.74
$170.88
$170.88
$132.86
$344.98
$831.77
$26.55
$4.85
$4.69
$26.88
$169.37
$780.68
$780.68
$29.28
$4.85
$8.03
$54.94
$40.06
$54.94
$264.79
$149.64
$191.92
$191.92
$79.91

Permobil Inc.

300 Duke Drive

Lebanon, TN 37090
1-800-736-0925

Sales Fax: 1-800-231-3256
Parts



Parts Price List

1833423
1833622
1833638
1833688
1833689
1833691
1833695
1833696
1833697
1833698
1833699
1833700
1833706
1833710
1833711
1833714
1833715
1833716
1833745
1834089
1834100
1834113
1834122
1834150
1834151
1834178
1834189
1834190
1834287
1834288
1834311
1834313
1834315
1834316
1834326
1834327
1834328
1834341
1834362
1834363
1834364
1834366
1834406

BRACKET, ELBOW STOP ADJUSTABLE, LEFT, CORPUS $114.16
SWING AWAY EGG SWITCH ASSY,LEFT/RIGHT, $459.30
BRACKET, ELBOW STOP ARMREST MOUNT, PERMOBIL $37.40
SHROUD ACCENT KIT, M3 CARBON FIBER $238.57
SHROUD ACCENT KIT, M3 MOSSY OAK BREAKUP $238.57
SHROUD ACCENT KIT, M5 CARBON FIBER $238.57
COVER, LEFT FENDER/MOTOR/ BRAKE, BLACK, M5 $16.63
COVER,RIGHT FENDER/MOTOR/ BRAKE, BLACK, M5 $16.63
COVER, FRONT LEFT SWING- ARM, INSIDE, M5 $6.70
COVER, FRONT RIGHT SWING- ARM, INSIDE, M5 $6.70
COVER, FRONT RIGHT SWING- ARM, INSIDE, M5 $6.

COVER, FRONT RIGHT SWING- ARM, OUTSIDE, M5
TOOL BAG INCL TOOLS V.2 UNIVERSAL, NO MANUAL
SHROUD ACCENT KIT, M5 MIDNIGHT BLACK

SHROUD ACCENT KIT, M5 OCEAN BLUE 149.82
SHROUD ACCENT KIT, M5 RADIANT RED K\ $149.82
SHROUD ACCENT KIT, M5 TITAN BLUE $149.82
DECAL, "M5", EACH $6.70
COVER, BRAKE RELEASE OUTTER, EACH, $6.70
PANEL MOUNT, HEIGHT ADJUSTABLE BRA $215.29
SHROUD ACCENT KIT, M3 CDG POLY $238.57
SHROUD ACCENT KIT, M5 CDG POLY $238.57
RIM ACCENT, CDG POLY PAIR, M 3 $70.98
PANEL MOUNT, CLAMP,HEIGH CKET, $215.29
PANEL MOUNT, HEIGHT ADJU&TA BRACKET, LEFT $215.29

SHOCK ABSORBER, INCL R REAR SWINGARM, $193.83
DRIVE MOTOR, RIGHT, 21.5:1, 500W $844.05
DRIVE MOTOR, LEFT, AR 21.5:1, 500W $844.05
SWING ARM, FRONT L , M5 12 WASHER WHDW $517.92
SWING ARN\ WIGHT M5 12 WASHER WHDR $517.92
88 SWING ARM, FRONT RIGHT $517.92

A ORJCARBON BRUSH KIT, M5, 500W MOTOR, $25.51

CO OR/BRAKE RELEASE INNER LEFT, BLACK, $6.70
,MOTOR/BRAKE RELEASE INNER RIGHT, BLACK, $6.70

ARM, DRIVE MOTOR RIGHT, M5 $96.77

WING ARM, DRIVE MOTOR LEFT, M5 $96.77
STANCE PLATE, SWINGARM DRIVE MOTOR, L/R, M5 $22.72
POWER CONTROL LEGREST, M5 CORPUS, W/HDW, LA28 $1,204.24
SWINGARM, REAR RIGHT INCL FORK, M5 $242.97
SWINGARM, REAR LEFT INCL FORK, M5 $242.97
BRUSH CAP, M20X1 EACH, LINIX MOTORS $6.70
CHASSIE BOX, M1, M3, M5 F3, F5 $964.33
FOOTPLATE, SWINGAWAY LEGR, MEDIUM, PAIR, M1 $134.44

Effective 09/09/2019

Prices subject to change without notice. lofl

permgbil

$79.91
$321.51
$26.17
$167.00
$167.00
$167.00
$11.64
$11.64
$4.69
$4.69
$4.69
$4.69
$143.01
$104.87
$104.87
$104.87
$104.87
$4.69
$4.69
$150.71
$167.00
$167.00
$49.69
$150.71
$150.71
$135.68
$590.83
$590.83
$362.55
$362.55
$362.55
$17.86
$4.69
$4.69
$67.73
$67.73
$15.90
$842.97
$170.08
$170.08
$4.69
$675.04
$94.11

Permobil Inc.

300 Duke Drive

Lebanon, TN 37090
1-800-736-0925

Sales Fax: 1-800-231-3256

Parts



Parts Price List

1834407
1834408
1834409
1834442
1834443
1834444
1834445
1834447
1834448
1834449
1834450
1834451
1834452
1834453
1834454
1834455
1834456
1834457
1834458
1834459
1834460
1834461
1834462
1834463
1834464
1834465
1834466
1834467
1834468
1834469
1834470
1834471
1834472
1834473
1834476
1834477
1834478
1834479
1834480
1834496
1834497
1834498
1834499

FOOTPLATE, SWINGAWAY LEGR, LARGE, PAIR, M1
BRACKET,ATTENDANT CONTROL (NO BUS
SWINGAWAY LEGREST, STD W/SEAT MOUNTS, PAIR, M1
LEGREST, STD, SWINGAWAY LEFT/RIGHT, EA, M1
UNITRACK EXTENSION, M1 FOR ABDUCTOR, EACH
CRUTCH HOLDER, INCLUDING MOUNTING HDW, M1
OXYGEN HOLDER, INCLUDING MOUNTING HDW, M1
POSITIONING HANDLE, EACH M1

UT RAIL FOR 14"-22" STD. BACK & 16"-22" AGILITY,M1
BACKREST, STANDARD, 20"W M1

BACKREST, STANDARD, 18"W M1

BACKREST, STANDARD, 14"W M1

BACKREST, STANDARD, 16"W M1

ARMREST ASSY 2"X14", M1 LEFT OR RIGHT, EACH
ARMREST ASSY 2"X10", M1 LEFT OR RIGHT, EACH
LEGREST ASSEMBLY, MANUAL INCL SEAT EXT BRKTS,
POWER CONTROL LEGR ASSY NO ACTUATOR OR
PANEL HOLDER, FIXED, LOW ASSEMBLY, CORPUS
PANEL HOLDER, FIXED HIGH ASSEMBLY, NON%%M
BRACKET, UT ADJUSTMENT, HEADREST, Mg
LOCKING DISK, ARMREST ASSEMBLY,

HINGE ASSEMBLY, ARMREST MOUNT, %GHT, M1,
SOCKET, ARMREST MOUNT LEFNRI8HT, W, EACH
LOCK MECHANISM, ARMREST H/ILOW, M1
LOCK MECHANISM, ARMRESTNLEFWNHIGH/LOW, M1

ARMREST ARM, M1 LEFT HT LOW

ARMREST ARM, M1 L @ZIGHT HIGH

BRACKET, BACKRES@T SEAT FRAME MOUNT, M1
UT RAIL, SEAT FRAME, 14" - 22" SEAT WIDTH, EA.
SEAT FRAME, MPAETE FOR 22"W SEAT/BACK SIZE,

LETE FOR 20"W SEAT/BACK SIZE,
OMPLETE FOR 18"W SEAT/BACK SIZE,

SEATFRAME, COMPLETE FOR 14"W SEAT/BACK SIZE,
LATE BRACKET, STD LEFT, LEGR TUBE, M1
OOTPLATE BRACKET, STD RIGHT, LEGR TUBE, M1
OTPLATE, NARROW, LEFT PLASTIC, EACH, M1
FOOTPLATE, NARROW, RIGHT PLASTIC, EACH, M1
CABLE CLIP, 2 CABLES CABLE SET, R-NET/VR2, M1
BRACKET, SWINGAWAY LEGR SUPPORT, 20"W SEAT, M1
BRACKET, SWINGAWAY LEGR SUPPORT, 18"W SEAT, M1
BRACKET, SWINGAWAY LEGR SUPPORT, 16"W SEAT, M1
BRACKET, SWINGAWAY LEGR SUPPORT, 14"W SEAT, M1

Effective 09/09/2019

Prices subject to change without notice. lofl

permgbil

*

C} 25

$175.88
$175.44
$495.90
$165.53
$37.82
$726.75
$557.29
$60.91
$48.43
$109.68
$106.
$

$83.82
$368.68
$661.89
$36.29
$33.52
$41.71
$9.69
$26.66
$10.43
$41.11
$41.11
$90.83
$90.83
$48.65
$37.97
$647.92
$624.22
$608.19
$588.85
$571.32
$32.21
$32.21
$53.88
$53.88
$6.70
$43.08
$41.29
$38.31
$36.22

$123.11
$122.80
$347.13
$115.87
$26.47
$508.73
$390.10
$42.64
$33.90
$76.78
$74.83
$70.93
$72.88
$65.30
$58.68
$258.08
$463.33
$25.41
$23.46
$29.20
$6.78
$18.66
$7.30
$28.78
$28.78
$63.58
$63.58
$34.05
$26.59
$453.55
$436.96
$425.73
$412.20
$399.92
$22.55
$22.55
$37.71
$37.71
$4.69
$30.16
$28.89
$26.83
$25.36

Permobil Inc.

300 Duke Drive

Lebanon, TN 37090
1-800-736-0925

Sales Fax: 1-800-231-3256
Parts



Parts Price List

1834500
1834501
1834502
1834503
1834504
1834505
1834506
1834507
1834508
1834509
1834510
1834511
1834512
1834513
1834514
1834516
1834517
1834520
1834522
1834523
1834524
1834527
1834528
1834529
1834532
1834543
1834555
1834556
1834557
1834583
1834585
1834586
1834587
1834588
1834589
1834591
1834592
1834593
1834595
1834599
1834600
1834601
1834604

permgbil
SEAT TILT FIXED, ASSEMBLY STF - STD, +25, +50, M1 $848.82 $594.17
SEAT TILT, UPPER ASSEMBLY M1 $535.20 $374.64
SEAT TILT, LOWER ASSEMBLY M1 $1,052.52 $736.76
MOTOR, AP-E SEAT TILT M1 SEAT TILT $247.96 $173.57
CABLE SWITCH, SEAT TILT M1 $104.07 $72.85
WHEEL SOLID 180X65, 7" BLACK, EACH, M1 $106.13 $74.29
WHEEL 3.00X8, SNOW/MUD BLACK W/SPACER & HDW, $354.34 $248.04
WHEEL 3.00-8, PNEUMATIC BLK,INCL SPACER & HDW, $217.24 $152.06
WHEEL 3.00-8, SOLID,BLACK INCL SPACER AND HDW, M1 $308.06 $215.64
SHROUD ACCENT KIT, RED RADIANT RED, M1 $149.82 $104.87
SHROUD ACCENT KIT, PINK POWER PINK, M1 $149. $104.87
SHROUD ACCENT KIT, BLUE OCEAN BLUE, M1 $ $104.87
SHROUD ACCENT KIT, BLACK MIDNIGHT BLACK, M1 * .8 $104.87
SHROUD ACCENT KIT, GREEN GALACTIC GREEN, M1 .82 $104.87
SHROUD ACCENT KIT, ORANGE SUNBURST ORANGE, ¢ 149.82 $104.87
COVER, FRONT, BLACK, M1 K\ $31.95 $22.37
COVER, TOP, BLACK M1 $34.46 $24.13
SEATING/LIGHTING MODULE ISM-6L, VR2, R-NET, M1 $854.80 $598.36
POWER MODULE, 70A VR2 ADVANCED, M1 K $698.29 $488.80
DRIVM GEAR 36:1, RIGHT 350w, M1 0 $1,143.88 $800.72
DRIVM GEAR 36:1, LEFT 350W, M1 $1,143.88 $800.72
ACTUATOR, MANUAL RECLINE W/BR , M3 M5 F3 $301.14 $210.79
ACTUATOR, MANUAL RECLINE $475.81 $333.07
BRACKET, CHEST SUPPORT L / , CORPUS VS, $45.88 $32.12
BRACKET,UPPER,SHOCK M1 $15.84 $11.09
MOUNT JSM ON BACKR, us $374.63 $262.23
SHROUD ACCENT KIT AK BREAKUP COUNTRY, $238.57 $167.00
SHROUD ACCENT KITQ CARBON FIBER, M1 $238.57 $167.00
SHROUD ACCENT KIT, CDG POLY $238.57 $167.00
BATTERY E SA 24V 8A, M1 $506.55 $354.59
EGREST ACTUATOR ONLY, M1 $489.33 $342.53
ME/HINGE 14"W, M1 $211.92 $148.35
BA RAME/HINGE 16"W, M1 $222.44 $155.71
ST FRAME/HINGE 18"W, M1 $232.96 $163.07
EST FRAME/HINGE 20"W, M1 $243.48 $170.45
RICTION GUIDE FOOTPLATE, SWINGAWAY LEGR, M1, $9.13 $6.40
ACKET, RIGHT SWINGAWAY LEGREST HOLDER, M1 $83.95 $58.77
BRACKET, LEFT SWINGAWAY LEGREST HOLDER, M1 $83.95 $58.77
CLAMP, TUBE MOUNT TO UT, INNER ACCSRY $19.41 $13.59
BRACKET, POWER CONTROL LEGREST, NO HDW, M1 $40.98 $28.69
BRACKET, SEAT EXTENSION LEFT, CENTER MNT LEGR, $28.63 $20.04
BRACKET, SEAT EXTENSION RIGHT,CENTER MNT LEGR, $28.63 $20.04
SEAT PLATE, FRONT & REAR 18"W, NO HDW, M1 $97.34 $68.14

Effective 09/09/2019

Prices subject to change without notice. lofl

Permobil Inc.

300 Duke Drive

Lebanon, TN 37090
1-800-736-0925

Sales Fax: 1-800-231-3256
Parts



Parts Price List

1834607
1834609
1834610
1834612
1834613
1834614
1834616
1834617
1834624
1834626
1834627
1834628
1834629
1834695
1834696
1834697
1834698
1834699
1834700
1834701
1834702
1834703
1834704
1834722
1834724
1834743
1834744
1834747
1834800
1834801
1834802
1834804
1834805
1834806
1834807
1834808
1834809
1834810
1834811
1834812
1834813
1834814
1834815

SEAT HEIGHT KIT,M1, W/HDW & SPACERS FOR STD +25
BRACKET, CALF SUPPORT CENTER MOUNT LEGR,M1
EZ FOLD, FOR MANUAL RECLINE ACTU, M1

SEAT TILT ASSEMBLY, INCL SEAT HEIGHT ADJ KIT, M1
CALF SUPPORT, "J" W/BRKT &UPHOL, SWINGAWAY
CALF SUPPORT, "H" W/BRKT &UPHOL, SWINGAWAY
CALF SUPPORT, "B" W/BRKT &UPHOL, SWINGAWAY
CALF SUPPORT, "A" W/BRKT &UPHOL, SWINGAWAY

BRACKET, CALF SUPPORT SWING AWAY LEGR, PAIR, M1

CLAMP, TUBE MOUNT, OUTTER ACCESSORIES

WEB BELT, POWER LEGREST M1

BRACKET, BACKREST, LEFT SEAT FRAME MOUNT, M1
BACKREST, STANDARD, 22"W M1

ADJUSTABLE TRAY TOP, 17" W/UT RAILS, W/O MNT
ADJUSTABLE TRAY TOP, 15" W/UT RAILS, W/O MNT

ADJUSTABLE TRAY TOP, 19" W/UT RAILS, W/O MNT K\ $343.20

ADJUSTABLE TRAY TOP, 13" W/UT RAILS, W/O MNT
ADJUSTABLE TRAY TOP, 11" W/UT RAILS, W/O MNT
MOUNT HARDWARE,ADJUSTABLE TRAY, RIGHﬁER,
MOUNT HARDWARE,ADJUSTABLE TRAY, L ,
RECEIVER KIT, ADJUSTABLE TRAY HDW,
RECEIVER KIT, ADJUSTABLE TRAY H
RECEIVER KIT, ADJUSTABLE TR ,
BP HIP BELT 2PT CENTER PUL
BP TRI-LOCK MIDLINE MOUN

BP TRI-LOCK COMPACT J NTING ADAPTER

TING ADAPTER

BP TRI-LOCK R-NET J
TRIGGER SWITCH
SHROUD ACCENT KIT C POLY, F3

T Kl$ SUGAR SKULLS, F5
[ C IT SUGAR SKULLS, F3
b% T KIT SUGAR SKULLS, M3

, SUGAR SKULLS PAIR, M3 M5 F3 F5

D ACCENT KIT FIREBALL, F5
D ACCENT KIT FIREBALL, F3
HROUD ACCENT KIT FIREBALL, M5
ROUD ACCENT KIT FIREBALL, M3
RIM ACCENT, FIREBALL PAIR, M3 M5 F3 F5
SHROUD ACCENT KIT WATER LILY, F5
SHROUD ACCENT KIT WATER LILY, F3
SHROUD ACCENT KIT WATER LILY, M5
SHROUD ACCENT KIT WATER LILY, M3
RIM ACCENT, WATER LILY PAIR, M3 M5 F3 F5

, PAIR
AIR
, PAIR

2CM PADDED
LAMP AND ARM

Effective 09/09/2019

Prices subject to change without notice. lofl

permgbil
$45.49 $31.84
$98.13 $68.70
$98.65 $69.05
$1,863.64 $1,304.55
$254.36 $178.05
$332.86 $233.00
$237.75 $166.43
$254.61 $178.22
$98.13 $68.70
$16.08 $11.25
$8. $5.73
$34.05
> 4 $78.73
$240.24
343.20 $240.24
$240.24
$343.20 $240.24
$343.20 $240.24
$250.80 $175.56
$250.80 $175.56
$105.60 $73.92
$105.60 $73.92
$105.60 $73.92
$315.90 $221.13
$1,602.22 $1,121.56
$243.05 $170.13
$240.12 $168.08
$313.53 $219.47
$225.99 $158.19
$225.99 $158.19
$225.99 $158.19
$238.57 $167.00
$70.98 $49.69
$225.99 $158.19
$225.99 $158.19
$238.57 $167.00
$238.57 $167.00
$70.98 $49.69
$225.99 $158.19
$225.99 $158.19
$238.57 $167.00
$238.57 $167.00
$70.86 $49.60

Permobil Inc.

300 Duke Drive

Lebanon, TN 37090
1-800-736-0925

Sales Fax: 1-800-231-3256
Parts



Parts Price List

1834817
1834888
1834954
1834976
1834999
1835025
1835026
1835029
1835030
1835032
1835065
1835113
1835114
1835138
1835247
1835248
1835249
1835250
1835299
1835467
1835468
1835472
1835473
1835476
1835477
1835480
1835484
1835486
1835489
1835490
1835491
1835493
1835494
1835495
1835500
1835501
1835502
1835504
1835505
1835506
1835507
1835508
1835509

BP TRI-LOCK OMNI MOUNTING ADAPTER

HEAD SUPPORT BRKT,AGILITY & SPECIAL ADAPTATION
CABLE, 0.6M R-NET, 90° PJSM

LEGREST, SHORT, SWINGAWAY LEFT/RIGHT, EACH, M1
FRICTION BRAKE,12 WASHER+ CAP&BOLT M1/3/5, F3/5
SHROUD COVER, FRONT CORPUS, BLACK, F3 F5
SHROUD COVER, FRONT CORPUS VS, BLACK, F5
DRIVE WHEEL ASSY, 3.00X8 SOLID BLK

DRIVE WHEEL ASSY, 3.00X8" SOLID BLACK, STD, F3 F5
MAGNETIC WHEEL LOCK, F3 >4/2019

SHOCK ABSORBER, "HD" M3 185MM 220LBS/IN, EACH
RIM ACCENT, MIDNIGHT PATRIOT, PAIR,M3 M5 F3 F5
RIM ACCENT, AMERICAN LIBERTY,PAIR, M3 M5 F3 F5
R-NET, INCL BRKT, M1 ASSY OMNI2 CONTROL MODULE
CABLE,1.5M, OMNI2 DISPLAY

) 4
CABLE, 2M OMNI2 DISPLAY K\ $82.83

OMNI2 DISPLAY MODULE
COVER, INNER AND OUTER OMNI2 ELECTRONICS
OMNI2 1/O CONTROL MODULE \
DRIVE MOTOR, LEFT, F3 29:1, >4/2019 0
DRIVE MOTOR, RIGHT, F3 29:1, >4/2019

COVER, LEFT MOTOR, BLACK NO CO
COVER, RIGHT MOTOR, BLACK

DRIVE MOTOR, LEFT, F5 21.5:1
DRIVE MOTOR, RIGHT, F5 21.
UTSIDE, >4/2019, F3 F5

COVER SWINGARM, REA
SWING ARM,REAR RI FORK, F3 F5

HUB CAP, DRIVE WH%\CH, F3 F5
CASTER WHEEL ASSY, 210X65 SOLID, INCL PLUG, F3 F5

CASTER W ASSY, 210X65 AGGRESS'VE, SOLID, F3
REAR LIGHTS BLACK, F3 F5
COVER, NDER, F3 F5 BLACK

CO FENDER,F3 F5 BLACK

, TOP, BLACK, NO COLOR INSERT, F3 F5
CONTROL MODULE COMPL W/MNT,

MNI2 CONTROL MODULE COMPLETE W/MOUNT, PSJR
NI2 CONTROL MODULE COMPLETE W/MOUNT, K450
RIM COLOR INSERT, AQUA 6PCS, F3 F5

RIM COLOR INSERT, SKY 6PCS, F3 F5

RIM COLOR INSERT, VIOLET 6PCS, F3 F5

RIM COLOR INSERT,FLAMINGO 6PCS, F3 F5

RIM COLOR INSERT, CHILI 6PCS, F3 F5

RIM COLOR INSERT, CANARY 6PCS, F3 F5

Effective 09/09/2019

Prices subject to change without notice. lofl

permgbil
$243.05 $170.13
$72.91 $51.04
$106.05 $74.24
$165.05 $115.54
$22.25 $12.75
$28.30 $19.81
$31.90 $22.33
$307.23 $215.06
$276.29 $193.40
$190.53 $133.37
$264. $185.43
$49.69
g 9 $49.69
%2875 $1,280.13
$75.04 $52.53
$57.98
$1,200.05 $840.04
$46.05 $32.24
$1,050.00 $735.00
$942.15 $659.51
$942.15 $659.51
$37.04 $25.93
$37.04 $25.93
$944.85 $661.40
$944.85 $661.40
$15.73 $11.01
$241.43 $169.00
$14.11 $9.88
$98.48 $68.93
$116.09 $81.26
$199.88 $139.91
$31.99 $22.39
$31.99 $22.39
$46.76 $32.73
$1,851.40 $1,295.98
$1,944.85 $1,361.40
$1,860.48 $1,302.33
$37.90 $26.53
$37.90 $26.53
$37.90 $26.53
$37.90 $26.53
$37.90 $26.53
$37.90 $26.53

Permobil Inc.

300 Duke Drive

Lebanon, TN 37090

1-800-736-0925

Sales Fax: 1-800-231-3256

Parts



Parts Price List

1835510
1835511
1835512
1835513
1835514
1835515
1835516
1835521
1835523
1835542
1835543
1835544
1835545
1835546
1835547
1835548
1835549
1835550
1835551
1835552
1835554
1835555
1835556
1835557
1835559
1835561
1835562
1835563
1835564
1835566
1835567
1835568
1835571
1835572
1835589
1835590
1835591
1835593
1835594
1835596
1835598
1835599
1835603

RIM COLOR INSERT, SPRING 6PCS, F3 F5
RIM COLOR INSERT, ARCTIC 6PCS, F3 F5
RIM COLOR INSERT, SUNSET 6PCS, F3 F5
RIM COLOR INSERT,MIDNIGHT 6PCS, F3 F5
RIM COLOR INSERT, GOLD 6PCS, F3 F5
RIM COLOR INSERT, BRONZE 6PCS, F3 F5
RIM COLOR INSERT,PLATINUM 6PCS, F3 F5
COVER, LEFT MOTOR, F5 BLACK

COVER, SWINGARM/GEARBOX LEFT, F5
SHROUD ACCENT KIT, F3 AQUA

SHROUD ACCENT KIT, F3 SKY

SHROUD ACCENT KIT, F3 VIOLET

SHROUD ACCENT KIT, F3 FLAMINGO
SHROUD ACCENT KIT, F3 CHILI

SHROUD ACCENT KIT, F3 CANARY
SHROUD ACCENT KIT, F3 SPRING
SHROUD ACCENT KIT, F3 ARCTIC
SHROUD ACCENT KIT, F3 SUNSET

SHROUD ACCENT KIT, F3 MIDNIGHT \
SHROUD ACCENT KIT, F3 GOLD 0
SHROUD ACCENT KIT, F3 PLATINUM

SHROUD ACCENT KIT, F5S AQUA ®
SHROUD ACCENT KIT, F5 SKY K

SHROUD ACCENT KIT, F5 VIOL \

SHROUD ACCENT KIT, F5 CH

SHROUD ACCENT KIT, F5

SHROUD ACCENT KIT IC

SHROUD ACCENT KI@UNSET

SHROUD ACCENT KIT, MIDNIGHT

T Kl§, F5 BRONZE

IT, F5 PLATINUM
| CASE F3 F5 F5VS V2

ED, FRONT LEFT OR RIGHT,EACH, F3 F5
LED LIGHTS, MAIN HEAD/TAIL LIGHTS TO ICS
D ACCENT KIT, F3 CARBON FIBER
HROUD ACCENT KIT, F3 MOSSY OAK BREAK UP
ROUD ACCENT KIT, F3 CDG POLY
SHROUD ACCENT KIT, F3 FIREBALL
SHROUD ACCENT KIT, F3 WATER LILY
SHROUD ACCENT KIT, F3 AMRICAN LIBERTY
SHROUD ACCENT KIT, F5 CARBON FIBER
SHROUD ACCENT KIT, F5 MOSSY OAK UP COUNTRY
SHROUD ACCENT KIT, F5 WATER LILY

Effective 09/09/2019

Prices subject to change without notice. lofl

permgbil
$37.90 $26.53
$37.90 $26.53
$37.90 $26.53
$37.90 $26.53
$37.90 $26.53
$37.90 $26.53
$37.90 $26.53
$15.68 $10.97
$12.14 $8.50
$113.04 $79.13
$113. $79.13
$ $79.13
> 0 $79.13
04 $79.13
¢ 113.04 $79.13
K\ $113.04 $79.13
$113.04 $79.13
$113.04 $79.13
$113.04 $79.13
$113.04 $79.13
$113.04 $79.13
$113.04 $79.13
$113.04 $79.13
$113.04 $79.13
$113.04 $79.13
$113.04 $79.13
$113.04 $79.13
$113.04 $79.13
$113.04 $79.13
$113.04 $79.13
$113.04 $79.13
$665.48 $465.83
$160.84 $112.59
$85.81 $60.07
$225.25 $157.68
$225.25 $157.68
$225.25 $157.68
$225.25 $157.68
$225.25 $157.68
$225.25 $157.68
$225.25 $157.68
$225.25 $157.68
$225.25 $157.68

Permobil Inc.

300 Duke Drive

Lebanon, TN 37090
1-800-736-0925

Sales Fax: 1-800-231-3256
Parts



Parts Price List

1835604
1835605
1835606
1835607
1835610
1835611
1835612
1835613
1835619
1835620
1835622
1835623
1835624
1835625
1835697
1835699
1835705
1835706
1835707
1835708
1835711
1835712
1835713
1835717
1835718
1835719
1835720
1835723
1835725
1835727
1835728
1835735
1835737
1835738
1835745
1835751
1835803
1835804
1835850
1835891
1836018
1836029
1836030

permgbil
SHROUD ACCENT KIT, F5 MIDNIGHT PATRIOT $225.25 $157.68
SHROUD ACCENT KIT, F5 AMERICAN LIBERTY $225.25 $157.68
RIM COLOR INSERT,CARBON FIBER, 6PCS, F3 F5 $70.75 $49.53
RIM COLOR INSERT,MOSSY OAK BU CNTRY, 6PCS, F3 F5 $70.75 $49.53
RIM COLOR INSERT,FIREBALL 6PCS, F3 F5 $70.75 $49.53
RIM COLOR INSERT, WATER LILY, 6PCS, F3 F5 $70.75 $49.53
RIM COLOR INSERT,MIDNIGHT PATRIOT, 6PCS, F3 F5 $70.75 $49.53
RIM COLOR INSERT,AMERICAN LIBERTY, 6PCS, F3 F5 $70.75 $49.53
RIM, DRIVE WHEEL, 3.00X8" F3 F5 $102.75 $71.93
GROMMET 6/9,8/12,7-2, EA. BLACK SHROUDS, F3 F5 $6.68 $4.67
BRACKET, LED HEADLIGHT LEFT, F3 $26. $18.31
BRACKET, LED HEADLIGHT RIGHT, F3 $18.31
BRACKET, LED HEADLIGHT LEFT, F5 * 2 $18.39
BRACKET, LED HEADLIGHT RIGHT, F5 .28 $18.39
BACKR CUSHION 14"X19" STRETCH AIR ¢ 359.84 $251.89
BACKR CUSHION 14"X22-24" STRETCH AIR K\ $380.05 $266.04
BACKR CUSHION 16"X22-24" STRETCH AIR $385.08 $269.55
BACKR CUSHION 16"X22-24" LEATHERETTE $381.69 $267.18
BACKR CUSHION 16"X25-27" STRETCH AIR \ $432.13 $302.49
BACKR CUSHION 16"X25-27" LEATHERETTEO $418.71 $293.10
BACKR CUSHION 18"X22-24" STRETCH $410.28 $287.19
BACKR CUSHION 18"X22-24" LEATHE $401.89 $281.32
BACKR CUSHION 18"X25-27" STR! Al $435.51 $304.86
BACKR CUSHION 20"X22-24" ST, R $410.28 $287.19
BACKR CUSHION 20"X22-24" 'EATHERETTE $401.89 $281.32
BACKR CUSHION 20"X25- TCH AIR $435.51 $304.86
BACKR CUSHION 20" QATHERETTE $427.08 $298.95
SEAT CUSHION 17"X1%' STIRETCH AIR $209.84 $146.89
SEAT CUSHION 17"X19" RETCH AIR $217.99 $152.59
SEAT CUSHI 1" STRETCH AIR $269.09 $188.36
SEAT O 21" LEATHERETTE $217.35 $152.15
SEAT C W 19"X19" STRETCH AIR $269.09 $188.36
SE ON 19"X21" STRETCH AIR $271.85 $190.30
USHION 19"X21" LEATHERETTE $291.75 $204.23
USHION 21"X21" STRETCH AIR $240.31 $168.22
EAT CUSHION 23"X21" STRETCH AIR $267.39 $187.17
MOTE STOP 315MHZ W/ F3/5 CORPUS BRACKET $1,028.49 $719.94
REMOTE STOP 433MHZ W/ F3 F5 CORPUS BRACKET $1,028.49 $719.94
ADJ/REMOVABLE BODILINK HEADREST HDW MAX 8 $585.04 $409.53
BRACKET, LEGREST ACTU M3 M5, F3 F5 CORPUS/VS $131.43 $92.00
OMNI2 DISPLAY & IOM, INCL COVER,HDW&1.5M $1,828.75 $1,280.13
MOLDED ARM TROUGH, LEFT ADJUSTABLE, W/PLATE $581.78 $407.24
MOLDED ARM TROUGH, RIGHT ADJUSTABLE, W/PLATE $581.78 $407.24

Effective 09/09/2019

Prices subject to change without notice. lofl

Permobil Inc.

300 Duke Drive

Lebanon, TN 37090
1-800-736-0925

Sales Fax: 1-800-231-3256
Parts



Parts Price List

1836031
1836032
1836033
1836034
1836039
1836049
1836082
1RHE15P
1RHE17P
20-101
20-201
20-503-001
205205-US-0
205216-US-0
205218-US-0
205220-US-0
205226-US-0
205230-US-0
205254-US-0
205255-US-0
205258-US-0
205339-US-0
301145-99-0
301146-00-0
301592-99-0
301612-28-0
301658-99-0

301660-40-90-0

302081-00-0
302214-40-0
302280-99-0
302330-99-0
302345-99-0
302478-99-0
302479-40-1
302479-40-2
302521-99-0
302719-99-0
302720-99-0
302766-40-0
302853-99-0
302856-28-0
302859-99-0

MOLDED HAND PAD, MEDIUM LEFT. FOR ARM TROUGH
MOLDED HAND PAD, MEDIUM RIGHT, FOR ARM TROUGH
MOLDED HAND PAD, LARGE LEFT, FOR ARM TROUGH
MOLDED HAND PAD, LARGE RIGHT, FOR ARM TROUGH
ADAPTER PLATE, ARM TROUGH MNT HAND PAD TO ARM
JOYSTICK KNOB, SMALL OD47, EXPLORER MINI

PJSM TOGGLE KEYPAD OVERLAY, STANDARD ON/OFF
ROHO INSERT 15",NEW STYLE W/5 VELCRO (2018/2019)
ROHO INSERT 17",NEW STYLE W/5 VELCRO STRIPS
TUBULAR MF FRAME - LARGE 14X14 KIT-

TUBULAR MF FRAME - SMALL 12X12 KIT-

THREADED ROD, M8X1.25 SMALL MF TUBULAR
OWNER'S MANUAL C300

OWNER'S MANUAL VS - US PAB 5216; C400, C500
OWNER'S MANUAL C350 PAB 5 218

OWNER'S MANUAL K/C300 PAB 5220

OWNER'S MANUAL C500 R-NET

K450 OWNER'S MANUAL USA

OWNER'S MANUAL CORPUS 3G SEAT PAB 52'&
OWNER'S MANUAL M300 BASE PAB 5255 0

OWNER'S MANUAL M400 BASE PAB 525

OWNER'S MANUAL KOALA MF %

SLIDE PLATE, 0.5, REAR SUSPE & GARM, HD3
PLASTIC PLUG, REAR WHEEL ’% A,SW.ARM F3/5
ACTU SLEEVE, RECL/LEGR C D3 PSJR, ROBO
THIGH SUPPORT/ TRANS DLE RECEIVER BRKT
STOP COLLAR, ARMR BAR, HDS3, ClII, VS

CALFREST INCL BRAGKETJCII SINGLE
ACTU LA30.1-:100-24, P+ 30° TILT, HD3 LEGREST

CALF RES IW Cll HV
@ LEVATOR EN, C2K, C400, C500

30 HD3 ROBO CII PSJR K450 VS
ROBO LEGREST KOALA & STREET TILTS
L SUPPORT BODY CIl HD3
L SUPP ARM, RIGHT FIXED, CII, HV, VS
ATERAL SUPP ARM, LEFT FIXED, CII, HV, VS
AFT BACKR HINGE CIl HD3
PANEL HOLD BRACKET HD3, CIl, VS, MF
TIE BAR ARMR SHAFT ARMR KIT PLG, ClI
ABDUCT WEDGE BRACKET FOR LOW PROFILE,FLAT
KNEESTOP BRACKET, VS FOR "SENIOR" MODELS
CHEST ROLL BRACKET, EACH VS
RAIL ARMR BRACK PLG VS STANDARD- 16" BACK

Effective 09/09/2019
Prices subject to change without notice. lofl

L 4
K\ $12.90

permgbil

$236.10
$236.10
$246.15
$246.15
$51.39
$83.75
$39.15
$372.75
$396.05
$978.28
$939.

¢ 9

\ /66
0$40.81
$28.72
$24.64
$19.56
$31.75
$16.44
$60.22
$15.00
$6.90
$13.19
$87.41
$19.56
$165.78
$1,420.98
$59.87
$575.36
$13.19
$6.20
$122.26
$79.86
$79.86
$58.67
$89.63
$58.37
$259.51
$223.53
$57.06
$114.11

$165.27
$165.27
$172.31
$172.31
$35.97
$58.63
$27.41
$260.92
$277.23
$684.79
$657.63
$17.41
$25.88
$26.36
$28.57
$9.03
$20.10
$17.26
$13.69
$22.22
$11.51
$42.15
$10.50
$4.83
$9.23
$61.19
$13.69
$116.04
$994.68
$41.91
$402.76
$9.23
$4.34
$85.58
$55.91
$55.91
$41.07
$62.74
$40.86
$181.66
$156.47
$39.94
$79.87

Permobil Inc.
300 Duke Drive
Lebanon, TN 37090
1-800-736-0925

Sales Fax: 1-800-231-3256

Parts



Parts Price List

302872-28-0
302901-99-0
302919-28-0
302929-99-60-0
302929-99-90-0
302930-99-0
302942-00-0
302943-99-0
302945-99-0
302946-99-0
302956-99-90-0
302959-99-0
302988-99-0
302997-28-0
303003-99-0
303006-28-UD-0
303030-00-0
303040-28-0
303047-99-0
303111-99-90-0
303169-28-0
303247-99-90-0
303475-00-0
303612-00-0
303636-00-0
303645-99-90-0
303666-00-90-0
303668-99-0
303724-00-0
303788-99-0
303982-99-0
304080-40-0
304272-99-0
304484-40-0
304557-90-0
304566-90-0
304767-40-0
304815-99-0
304946-28-0
304969-99-0
305003-99-0
305162-99-0
305183-28-0

TIEBAR FRONT ARMREST FRAME VS
QUICK LOCK PIN, BACKREST VS

TIE BAR SEAT FRAME VS

KNEESTOP MESH

KNEE STOP, VS, COMPLETE

KNEE STOP BODY, VS NO UPHOLSTERY, EACH
WEB BELT LEGREST, VS

SHAFT UPPER LEGREST, VS

ROLL 48MM, VS

CHAIN KNEE STOP, VS SR 9-LINK

CHEST ROLL HV, VS, 16" STD, LEATHERETTE
CHEST ROLL POLYSTRING,16" VS

ACTU SLEEVE 34 CII 45° TILT, 20° LR TILT
SEAT PLATE, VS

LINK BOLT PLG ARMR CII, VS

SEAT EXT KIT, HV, VS

PROTECT, ACTU BRACK VS

THIGH SUPP BRACK HV

PCB BOARD, TAIL LIGHT HD3

HEADREST CUSH ADJ HEADR CII HV, PS

SEAT EXT SECTION +50 Cll HD %

BACKR CUSHION, CII

CABLE TAIL LIGHT CHHD, ROBO
CABLE 24V UNIK Il ADAPTER

o

BACKR SHELL ONLY, FIXED 1@-{ELL, STANDARD,CII
ABDUCT WEDGE PAD,|Nc6 LATE,FOR

SIDE SUPPORT, ARM

SEAT ELEVATOR KE

BACKREST, SHELL ONLY, VS 16" STANDARD
PCE Cll

Cll MS90 ADD'L HDW MAY BE

CK TUBE 225-380 CHHD3
STERY, HEADREST ADJ CIl HV, PS

ACKR REINFORCEMENT, VS

BUSHING Y 9 CII, MF

ARMR KIT SWING MFII (PAIR)

RAIL ARMR BRACK PLG WIDE VS - 18" BACK
POSITIONING BELT RETRACT.

SLIDE PLATE Y 12X2.50 LEGREST, Cll HD3
PROTECTOR PLATE LEGREST CIl HD3

Effective 09/09/2019

Prices subject to change without notice.

lofl

SE W/HDW AND GASKET, HD3

PHOLSTERY, LAT SUPPORT FIXED OR SWING, CIl HD3

permgbil
$221.60 $155.12
$10.57 $7.40
$124.42 $87.10
$663.12 $464.18
$601.43 $421.00
$120.61 $84.43
$18.89 $13.22
$109.20 $76.44
$19.56 $13.69
$19.56 $13.69
$308. $215.71
$41.05
g 5 $14.38
52 $75.96
¢ $27.74 $19.41
K\ $282.83 $197.97
$63.32 $44.32
$84.20 $58.94
$45.89 $32.12
$425.33 $297.74
$90.32 $63.22
$458.15 $320.70
$105.51 $73.85
$68.44 $47.91
$314.59 $220.22
$453.71 $317.60
$256.63 $179.64
$22.82 $15.98
$465.67 $325.97
$275.46 $192.83
$65.28 $45.70
$218.40 $152.89
$484.77 $339.35
$138.92 $97.24
$112.46 $78.72
$27.41 $19.19
$179.61 $125.72
$5.49 $3.85
$243.15 $170.21
$184.19 $128.93
$246.86 $172.80
$9.72 $6.81
$37.66 $26.36

Permobil Inc.

300 Duke Drive

Lebanon, TN 37090
1-800-736-0925

Sales Fax: 1-800-231-3256
Parts



Parts Price List

305191-00-0
305194-40-0
305196-28-0
305199-40-0
305221-99-0
305223-99-0
305225-99-0
305231-99-0
305237-99-0
305240-28-0
305245-00-0

305252-00-UD-0
305277-40-90-0

305284-00-0

305300-00-UD-0

305317-99-0
305346-00-0
305360-40-0
305361-40-0
305384-00-0
305389-00-0
305390-99-0
305425-28-0
305458-99-0

305490-00-UD-0
305493-99-90-0
305496-99-90-0
305500-28-UD-0

305506-40-0
305545-00-0
305547-00-0
305612-00-0
305645-90-0
305667-00-1
305676-00-0
305677-00-0
305678-00-0

305693-28-90-0

305733-99-0
305734-99-0

305739-99-99-0

305873-90-1
305873-90-2

BACKR SHELL ONLY, SLIDING 16X26 SHELL,

HOLD DUAL LATERAL SUPP FIXED/SW.ABLE CII VIII VS
BACKREST HINGE CII SILVER P+ VERSION

BACKR PLATE CII, STANDARD 16", FOR SLIDING BACKR
SHAFT 43MM ROLL, LEGREST CII, HD3, C3G

SHAFT 36MM ROLL, LEGREST CIl, HD3

ROLL 29MM, LEGR, HD3 ClI

INNER SECT UP HINGE LEG CII,C2K,C400/C500 (2HOLE)
BRACKET, WEB BELT,LEGREST REAR, Cll HD3

OUTER SECT FOOTPLATE BRACKET, ClI

WEB BELT, LEGREST, CIl HD3, CORPUS/3G

BACKR KIT SLIDE ClI, +50 18X26, NO CUSHION, ClI
ABDUCT WEDGE FLAT CUSH CII - LOW PROFILE
CABLE, SEAT ELEVATOR HD3

BACKR KIT FIXED CIl, STD. 16X26, NO CUSHION, ClI
WIRE HOLD, UPPER BRAKE RELEASE, KOALA

CABLE 24V / ACTU CTRL P+ HD3, STR, C3/4/500 ClI
BACKR PLATE CII, +50 WIDE 18", FOR FIXED BACKR
BACKR PLATE CII, +50 WIDE 18", FOR SLIDING%R
BACKREST SHELL ONLY, -50 14X26 SHELL, m
BACKR SHELL ONLY, SLIDING 18X26 SH

WASH 8.5X23X3 FZB %
REAR SWINGARM, HD3

ROD, 8X175 FZB ARMREST TIE

BACKREST FIXED CII, +50 18 N USHION, CII

BACKR CUSH NARROW -

BACKR CUSH WI +50 @ERETTE

SEAT FRAME KIT, ClI g

POSITION BELT BUCKL CL

IXED 18X26 SHELL, +50 WIDE,CII
HD3

ABLEY ACTU CONTROL,R-NET CII, VS, M3/400
ABLE ACTU CONTROL,R-NET L=1000, CIl PS

ABLE ACTU CONTROL L=1350 SPIRAL, PWR EXT LEG
THIGH SUPP INCL BRACK MFII, LEATHERETTE, PAIR
ROLL 30MM, VS

ROLL 25MM, ADULT KNEE BLOCK, VS

HEADREST CUSHION ONLY MX MF

ARMREST PAD, 8" (200MM) RIGHT, LEATHERETTE, MF
ARMREST PAD, 8" (200MM) LEFT, LEATHERETTE, MF

Effective 09/09/2019
Prices subject to change without notice. lofl

K\ $31.97

IDE,CII

permgbil

$449.12
$144.20
$430.26
$123.73
$7.49
$13.71
$25.75
$215.17
$14.12
$233.08
$19.

814.47

$37.26
$82.90
$78.24
$314.59
$502.02
$6.90
$558.80
$19.38
$978.10
$458.15
$458.15
$1,303.52
$158.24
$350.43
$73.73
$273.02
$68.44
$177.67
$14.12
$52.74
$109.20
$721.90
$14.12
$7.94
$102.71
$50.54
$50.54

$314.38
$100.94
$301.19
$86.61
$5.24
$9.59
$18.02
$150.62
$9.88
$163.16
$13.69
$684.67
$717.12
$184.40
$570.13
$22.37
$26.09
$58.03
$54.77
$220.22
$351.41
$4.83
$391.17
$13.57
$684.67
$320.70
$320.70
$912.46
$110.78
$245.30
$51.61
$191.11
$47.91
$124.37
$9.88
$36.92
$76.44
$505.33
$9.88
$5.56
$71.90
$35.38
$35.38

Permobil Inc.

300 Duke Drive

Lebanon, TN 37090
1-800-736-0925

Sales Fax: 1-800-231-3256

Parts



Parts Price List

305921-28-0
305942-99-0
305959-00-0
305963-00-0
305964-00-0
305994-99-0
306016-40-0
306020-00-0
306021-00-0
306067-00-0
306068-99-0
306072-28-0
306081-99-0
306085-99-0
306108-99-90-0
306110-99-90-0
306115-99-0
306131-40-0
306193-90-0
306197-90-0
306199-28-1
306199-28-2
306200-99-0
306228-90-0
306293-00-0
306301-28-0
306302-28-0
306303-28-0
306304-28-0
306305-28-0
306306-28-0
306310-40-90-0
306314-40-90-0
306315-99-0
306321-99-0
306322-99-0
306323-28-0
306327-99-0
306343-28-90-0
306344-28-90-0
306345-28-90-0
306352-28-90-0
306353-28-90-0

permgbil
BEAR.HOUSE W.FL.BEAR. FRAME , VS $165.78 $116.04
BRACE INSTALL KIT, MF $17.95 $12.57
COVER SET, SWITCH BOX V.2 $103.78 $72.65
CABLE SET, SWITCH BOX V.2 INCL MOUNT HARDWARE, $370.20 $259.14
CABLE SET SWITCH BOX V.2 LONG CABLE, INCL HDW, $565.15 $395.61
SPACER 10 Y20, HD3 TILT MF SEAT $9.72 $6.81
CALFREST BODY, CII $81.42 $56.99
SWITCH BOX BOTTOM, LOW $18.10 $12.67
SWITCH BOX BOTTOM, HIGH $18.10 $12.67
WEB BELT, POWER EXT & TRANSFER LEGR, CORPUS 3G $43.20 $30.25
QUICK LOCK PIN, BACKREST CIl HD3 $19. $13.97
BACKR REINFORCEM V.2 CII $ $84.40
SPACER 3 O 7/5 *, EACH BACKR HINGE, CII * 4 $3.85
SHAFT, FOOTPLATE HINGE, 1PC, POWER TRANSFER, .35 $96.14
CHEST ROLL HV, VS, 18" LEATHERETTE ¢ 308.16 $215.71
CHEST ROLL HV, VS, 14" LEATHERETTE K\ $308.16 $215.71
CHEST ROLL POLYSTRING,18" VS $58.64 $41.05
STAND CHIN CTRL/SOP V.2B CIl HV V $681.83 $477.29
UPHOLSTERY, CALF SUPPORT CIl HV \ $102.71 $71.90
UPHOLSTERY LAT/THIGH SUPP KB 0 $78.24 $54.77
ARMR.HOLDER MFII $47.02 $32.91
ARMR.HOLDER MFII * % $47.02 $32.91
DECAL "PERMOBIL" EMBLEM V.2 $16.89 $11.83
UPHOLSTERY, THIGH SUPPOR 115 HERETTE $102.71 $71.90
CABLE, ACTUATOR CONTRO 7 Cll $10.56 $7.39
SEATPLATE 250X250 MFII $155.47 $108.83
SEATPLATE 300X300 O $292.71 $204.90
SEATPLATE 350X350 ﬁ $255.89 $179.12
BACKR PLATE 250X350 I 10"X14" $151.53 $106.07
BACKR PLAT 0X400 MFII $332.63 $232.84
BACKR4 = 00 MFII $286.85 $200.79
% ORT KIT MF, LEATHERETTE, PAIR $361.30 $252.90
HE VIF LEATHERETTE $437.48 $306.24
EST BRACK MFII $65.92 $46.14
X125 FZB, MF SEAT $8.80 $6.16
RACK INSTALL KIT, MF $33.17 $23.23
AT MOUNT SLIDE MF PL $355.19 $248.63
HINGE INSTALL KIT MF PL $76.61 $53.63
SEATPLATE KIT, 10"LX10"D 250X250, LEATHERETTE $338.50 $236.95
SEATPLATE KIT, 12"WX12"D 300X300, LEATHERETTE $402.40 $281.68
SEATPLATE KIT, 14"WX14"D 350X350, LEATHERETTE, MF $443.41 $310.39
BACKR KIT, 12"WX16"H,MFIl 300X400, LEATHERETTE $470.20 $329.14
BACKR KIT,14"WX20"H, MFIl 350X500, LEATHERETTE $527.48 $369.23

Effective 09/09/2019

Prices subject to change without notice.

lofl

Permobil Inc.
300 Duke Drive
Lebanon, TN 37090
1-800-736-0925

Sales Fax: 1-800-231-3256

Parts



Parts Price List

306363-00-0
306376-90-0
306381-99-60-0
306381-99-90-0
306382-99-60-0
306382-99-90-0
306383-99-60-0
306383-99-90-0
306384-99-60-0
306384-99-90-0
306385-99-60-0
306385-99-90-0
306386-99-60-0
306386-99-90-0
306387-00-0
306391-99-0
306392-40-0
306393-40-0
306396-99-0
306429-99-0
306430-99-60-0
306430-99-90-0
306431-99-60-0
306431-99-90-0
306435-99-0
306438-40-0
306470-99-60-0
306470-99-90-0
306471-99-60-0
306471-99-90-0
306472-99-60-0
306472-99-90-0
306473-99-60-0
306473-99-90-0
306474-99-90-0
306475-99-60-0
306475-99-90-0
306482-99-0
306488-90-0
306490-00-UD-0
306509-00-0
306510-00-UD-0
306512-00-0

COVER, BACKREST, ClI

UPHOLSTERY HEADREST, MF LEATHERETTE

BACKR CUSH ERGO 250X350 10"X14",BLACK MESH, MF
BACK CUSH ERGO 250X350 MF 10"X14", LEATHERETTE
BACKR CUSH ERGO 300X400 BLACK MESH, MF MX
BACK CUSH ERGO 300X400 MF MF Il

BACKR CUSH ERGO 350X500 14"X20",BLACK MESH, MF
BACK CUSH ERGO 350X500 14"X20", MF MX

SEAT CUSH ERGO 250X250 BLACK MESH, MF MX

SEAT CUSH ERGO 250X250 LEATHERETTE, MF MX
SEAT CUSH ERGO 300X300 BLACK MESH, MF MX

SEAT CUSH ERGO 300X300 LEATHERETTE, MF MX
SEAT CUSH ERGO 350X350 BLACK MESH, MF MX

SEAT CUSH ERGO 350X350 LEATHERETTE, MF MX
STAR HANDLE BACKR HINGE & COVER W/ELECT'S
WASHER, PLASTIC, LATERAL WEDGES, CII VS, EACH
HEADREST ARM MFII

LAT SUPP HOLD DUAL MF NO UPHOLSTERY

LUMBAR SUPPORT, FOAM 16"&18" BACKREST%
BOLT KIT BACKR, VS

CUSHION BACKREST 16X25.5 BLACK M
CUSHION BACKREST 16X25.5 LEATH
SEAT CUSH ERGO 450X500, BLA
SEAT CUSH ERGO 450X500, LE
STOP COLLAR Y 14.1 CHEST
POSITION BELT,CHEST H W/BRACKET,MF, MX
SEAT CUSH ERGO 50 ACK MESH-20"W X 20"D
SEAT CUSH ERGO 50@X500 LEATHERETTE, ClI

SEAT CUSH ERGO 450X560, BLACK MESH-17"W X 22"D

"W X 16-
E-16"WX16-

SEAT CUS O 430X560 LEATHERETTE, 17"'WX22"D
SEAT 00X560, BLACK MESH-18"W X 20-
SEATC O 500X560 LEATHERETTE

BA

ERGO, 18X26 BLACK MESH, CII VS
CUSH ERGO, 18X26 LEATHERETTE, Cll VS
USH ERGO 420X700 16"X28", LEATHERETTE, CII
ACKR CUSH ERGO 14X26 BLACK MESH, ClI

ACKR CUSH ERGO, 14"X26" LEATHERETTE, ClI
RAIL ARMR BRACK, NARROW VS - 14" BACK
UPHOLSTERY, CHEST ROLL 18", VS, LEATHERETTE
BACKREST KIT, 18"X26", VS W/ARMBAR,NO

BACKR SHELL ONLY, VS 18" WIDE, +50

BACKREST KIT, 14", VS NO CUSHION , W/ARMBAR
BACKR SHELL ONLY, VS, HV 14" NARROW, -50

Effective 09/09/2019

Prices subject to change without notice.

lofl

permgbil

$149.95
$117.56
$342.11
$342.11
$342.11
$342.11
$348.95
$342.11
$289.35
$289.35
$289.

$
*

N

3
.35
$17.29
$5.49
$196.41
$169.18
$58.67
$95.95
$497.34
$497.34
$497.34
$497.34
$12.35
$330.83
$497.34
$497.34
$497.34
$497.34
$497.34
$497.34
$497.34
$497.34
$497.34
$497.34
$497.34
$120.61
$47.27
$978.10
$425.76
$978.10
$575.57

$104.97
$82.29
$239.47
$239.47
$239.47
$239.47
$244.27
$239.47
$202.54
$202.54
$202.54
$260.78
$202.54
$202.54
$12.10
$3.85
$137.49
$118.43
$41.07
$67.17
$348.14
$348.14
$348.14
$348.14
$8.65
$231.58
$348.14
$348.14
$348.14
$348.14
$348.14
$348.14
$348.14
$348.14
$348.14
$348.14
$348.14
$84.43
$33.08
$684.67
$298.03
$684.67
$402.91

Permobil Inc.

300 Duke Drive

Lebanon, TN 37090
1-800-736-0925

Sales Fax: 1-800-231-3256
Parts



Parts Price List

306513-90-0
306515-00-UD-0
306523-90-0
306541-28-0
306561-28-0
306572-28-0
306586-99-0
306636-99-0
306648-28-0
306656-28-0
306688-99-60-0
306688-99-90-0
306720-99-0
306733-00-0
306735-99-60-0
306735-99-90-0
306784-00-0
306790-99-0
306794-99-0
306823-40-0
306847-99-0
306853-00-0
306870-99-0
306871-99-0
306873-28-0
306910-40-0
307059-40-90-0
307071-00-0
307072-00-0
307073-99-0
307074-99-0
307095-00-0
307096-00-0
307120-99-0
307131-99-0
307189-00-0
307250-40-0
307266-99-0
307267-00-0
307377-40-0
307383-99-0
307385-99-0
307390-28-1

UPHOLSTERY, CHEST ROLL 14", VS, LEATHERETTE
BACKREST KIT, VS, 16"X26" NO CUSHION
UPHOLSTERY THIGH SUPP CIl HV, LEATHERETTE
BRACE BEAR INCL. INSTALL ASSY, VS

BRACKET, KNEE STOP HOLD, VS

KNEE STOP HOLD, VS SENIOR

SHAFT, FOOTPLATE HINGE VS

FOOTPL HINGE, VS STAND & DRIVE

FOOTPLATE, 1 PIECE VSJR

SUPPORT WHEEL, COMPLETE KIT, DRIVE, VS
CHEST ROLL ADJ., STANDARD VS, 16", BLACK MESH
CHEST ROLL ADJ., STANDARD VS, 16" LEATHERETTE
FOOTPLATE FOLDING KIT VS

TOGGLE SWITCH KIT SW.BOX, HD3, MF, ClI

SEAT CUSH ERGO,BLACK MESH 17"X16-17"D, ClII
SEAT CUSH ERGO, LEATHER- ETTE, 17"X16-17"D, CII
HANDLE GRIP SET, PAIR PUSH HANDLE, CIl MF
BACKREST MOUNTING HDW INCL KNOBS, Cll HD3
TABLETOP ADJ 400 ARMR.M CIl BACK STD

UPPER EXTREMITY SUPP, Cll SMALL ANGL J MR

CABLE BREAKPOINT SEATELEV HD3

CABLE ADAPTION SEAT ELEVATOR, @S
TABLETOP ADJ 350 ARMR.M ClI -5
TABLETOP ADJ 450 ARMR.M CI

OUT SECT FOOTPL HINGE, V
SMALL, UPPER EXTREMI T, ADJUST NO MNT

HEADREST MPSB, PS SR.
ACTU LA28.25S-100-24CNRT MNT RECLINE, HD3 ClI
ACTU LA28.255-150-24 TILT, HD3

REL V.4 HD3, EN, KOALA, ROBO
L V.4 HD3 KOALA

OYST MOD STD KNOB PGS, P+, R-NET, VSI, VR2
SEAT TILT 45°,NO ACTUATOR C400 C500
BOLT KIT CTRL PWR TILT 45°, MF, Cll ON C400 C500
ACTU PWR SEAT TILT 45° P+ C400, C500
FALL DOWN PROTECTOR, 45° TILT, C400 C500 ClI
SHAFT FRONT TIE BAR KO
SHAFT FRONT PARALLEL TUBE KO
WHEEL FORK REAR KO EN LEFT

Effective 09/09/2019
Prices subject to change without notice. lofl

permgbil

$66.32 $46.43
$978.10 $684.67
$94.55 $66.18
$389.36 $272.55
$57.28 $40.09
$132.32 $92.63
$45.64 $31.94
$239.60 $167.72
$405.79 $284.06
$1,281.02 $896.71
$329. $230.47
$ $230.47
g 8 $126.60
11 $91.09

¢ 497 34 $348.14
K\ $497.34 $348.14
$106.44 $74.51
$45.64 $31.94
$221.55 $155.08
$557.20 $390.04
$113.03 $79.12
$13.58 $9.51
$226.08 $158.26
$275.82 $193.07
$132.03 $92.43
$512.35 $358.65
$1,085.10 $759.57
$1,199.63 $839.74
$1,273.48 $891.44
$21.19 $14.84
$17.95 $12.57
$437.07 $305.95
$507.35 $355.15
$84.77 $59.33
$256.01 $179.21
$118.94 $83.26
$1,205.67 $843.98
$42.68 $29.87
$1,577.93 $1,104.55
$490.29 $343.21
$79.85 $55.90
$79.85 $55.90
$182.00 $127.39

Permobil Inc.

300 Duke Drive

Lebanon, TN 37090
1-800-736-0925

Sales Fax: 1-800-231-3256
Parts



Parts Price List

307390-28-2
307394-99-0

307400-00-90-1
307400-00-90-2

307422-40-0
307470-28-0
307491-99-0
307499-60-0
307499-90-0
307518-99-0
307519-99-0
307600-28-0

307649-99-90-0
307650-99-60-0
307650-99-90-0

307664-28-0
307666-28-0
307667-28-0
307694-99-0
307772-28-0
307802-40-0
307804-00-0
307805-00-0
307809-00-0
307814-08-0
307816-99-0
307859-28-0
307874-99-0

307900-40-90-0

307915-99-0
307961-99-0
307962-00-0
307963-00-0
307966-00-0
307969-99-0
307970-99-0
307984-28-0
307998-90-0
308015-99-0
308018-99-0
308020-00-0

308021-00-90-1
308021-00-90-2

WHEEL FORK REAR KO EN RIGHT $182.00
ACTU SLEEVE FRONT SEAT LIFT KO $43.99
ARMR ASSEMBLY, 250MM MFII 10" RIGHT, LEATHERETTE $245.43
ARMR ASSEMBLY, 250MM MFII 10" LEFT, LEATHERETTE $245.43
HOLD, UPPER EXTREMITY SUPPORT, SWINGABLE, CII $829.06
SEAT BRACKET SEAT ELEV P+, R-NET, KOALA $251.57
REINFORCEMENT TIE BAR PARALLEL, KOALA $30.98
UPHOLSTERY KNEESTOP, PAIR VS, BLACK MESH $226.08
UPHOLSTERY KNEE STOP,PAIR VS, LEATHERETTE $199.09
FREE SETTING TAP SEAT LIFT, KOALA $91.27
FREE SETTING BLOCK SEAT LIFT, KOALA $127.
SEAT FRAME KIT MFII $1,
CHEST ROLL ADJ., NARROW HV, VS, 14" LEATHERETTE % 2
CHEST ROLL ADJ., WIDE HV, VS, 18", BLACK MESH .24
CHEST ROLL ADJ., WIDE HV, VS, 18", LEATHERETTE ¢ 329.24
INNER SECT LEGREST, KOALA \ $154.15
BUMPER, FRONT, KOALA $610.37
LEGREST, KOALA $435.44
SLIDE PLATE Y 12X2.00 VS LEGREST \ $7.16
REAR WHEEL SUSPENSION KOALA $1,266.02
UPPER EXTREMITY SUPPORT SMALL A MNT $738.18
RUBBER PROTECT MAGNETIC WHE ) $20.71
PLAST PLUG BRAKE, KOALA C40 % $6.70
BATTERY BOX LID MONT KOA WITCHES $629.75
GUARD STRIP, CHASSIS KOA $85.91
REFLECTOR, FRONT, EA , HD3 $8.94
OUT SECT FOOTPL HI mLA $78.52
SPACER, SMALL FOO@E MF, 4MM THICK $63.86
KNEESTOP, MFII LEAT ETTE $407.03
SEAT FRAME NMEII $259.20
EXT MFII $176.34
ALL, KOALA $259.39
ARGE, KOALA $503.80
3RANE SWITCH TOP ONLY (WITH DECALS) $161.79
QLPL HINGE MFII KOALA $42.31
A\RMREST BRACE MF, PAIR $121.07
L'OCK DEVICE FOOTPL MFII KOALA $59.87
UPHOLSTERY, KNEESTOP MFII PAIR $128.76
CLAMP, SEAT HEIGHT SWITCH HVII VIl HD3 $110.83
KNEESTOP CUSHION, MINIFLEX, EACH $130.39
COVER, RUBBER, CHARGER SOCKET, KOALA $21.28
ARMR ASSEMBLY, 200MM MFII 8" RIGHT, LEATHERETTE $189.91
ARMR ASSEMBLY, 200MM MFII 8" LEFT, LEATHERETTE $189.91

Effective 09/09/2019
Prices subject to change without notice. lofl

permgbil

$127.39
$30.80
$171.80
$171.80
$580.35
$176.10
$21.68
$158.26
$139.37
$63.90
$89.00
$1,040.36
$230.47
$230.47
$230.47
$107.90
$427.26
$304.81
$5.02
$886.21
$516.73
$14.50
$4.69
$440.83
$60.13
$6.26
$54.97
$44.70
$284.92
$181.44
$123.44
$181.57
$352.65
$113.26
$29.62
$84.75
$41.91
$90.13
$77.58
$91.27
$14.90
$132.94
$132.94

Permobil Inc.
300 Duke Drive
Lebanon, TN 37090
1-800-736-0925

Sales Fax: 1-800-231-3256

Parts



Parts Price List

308022-00-0
308059-99-0
308063-40-0
308064-40-0
308065-40-0
308066-40-0
308085-28-0
308093-28-0
308343-99-1
308343-99-2
308371-99-0
308384-99-0
308414-99-0
308551-99-0
308554-99-0
308555-99-0
308556-99-0
308594-99-0
308642-99-0
308760-40-1
308760-40-2
308783-28-0
308802-99-0
308985-99-0
308995-99-0
309082-00-0
309083-00-0
309084-00-0
309085-00-0
309096-99-0
309107-00-0
309114-99-1
309114-99-2
309117-99-0
309124-99-0
309142-99-0
309167-99-0
309170-28-0
309185-28-2
309188-28-0
309193-40-0
309203-28-0
309206-40-0

BACK PACK, BLACK, KOALA

BUMPER, FRONT TUBE KIT, KOALA

BRACKET, BACKREST HINGE MF

UPPER EXTREMITY SUPPORT ANGLE ADJUSTABLE, 14"
UPPER EXTREMITY SUPPORT ANGLE ADJUSTABLE, 16"
UPPER EXTREMITY SUPPORT ANGLE ADJUSTABLE, 18"
REINFORCEMENT KIT, BACKREST, Cll C400 C500

CLIP, SHROUD C2K, KOALA

BRACKET FOOTPLATE,LEGREST RIGHT, CII, VS
BRACKET FOOTPLATE,LEGREST LEFT, CII, VS
FRICTION GUIDE FOOTPL,CII CNTR

WEB BELT TIGHTENER SEAT SHIFT -50 CIl HD
BRACKET, SEAT ELEVATOR BOTTOM, C400 C500
BRACKET, RUBBER PROTECT BRAKE RELEASE, KO
FAUCET, BRAKE RELEASE KO

DRIVE MOTOR, 25.8:1, LOW SPEED, C2K KO C400 C500
BRAKE RELEASE V.2 KO

ACTU BRACK LOWER/SEAT REDUCTION, HD3 ClI
DECAL MAIN.FUSE, M300 M400

LAT SUPP ARM, RIGHT SWINGABLE, CII, VS 0\
LAT SUPP ARM, LEFT SWINGABLE, CII,
SEAT FRAME, SHORT FRAME C400V @
KEY PILOT+, KOALA HD3
PANEL HOLD 335 HI P+ \
CABLE, BRAKE RELEASE C4Q@
CABLE, SLS PILOT+
CABLE, 24V OUTLET @( EN P+
CABLE LOWER,BATT@OTOR C2K P+, C400 C500 P+
CABLE MAINEUSE CH2K, C400 C500
LIGHT REA W/SOO EXCLUDING CABLE, EACH
= SEAT ELEVATOR, HD3

LEGREST, HD3 RIGHT
K LEGREST, HD3 LEFT
ION SHAFT SEAT FRAME, HD3
GEAR 25.8:1, HD3
PLIT PIN, ACTU.SEAT TILT 25°, HD3
ASHER, LINK BOLT ARMREST, HD3
ARMREST SUPPORT, PAIR HD3
ARMREST BRACKET, HD3 LEFT
FOOTPLATE KIT,LEFT&RIGHT W/LEGR TUBES, HD3
BACKREST, METAL, HD3

BOLT KIT, POWER CONTROL LEGR, W/BRACKET, HD3
BACKREST KIT, W/SLIDE PLATE & BACKR COVER, HD3

Effective 09/09/2019

Prices subject to change without notice.

lofl

permgbil
$110.39 $77.27
$287.06 $200.95
$187.44 $131.20
$798.85 $559.19
$804.95 $563.47
$851.90 $596.33
$180.85 $126.60
$10.30 $7.21
$185.01 $129.50
$185.01 $129.50
$29. $20.53
$56.41
g 7 $34.12
02 $25.91
¢ $13.29 $9.31
K\ $2,281.71 $1,597.19
$197.22 $138.05
$94.62 $66.24
$6.90 $4.83
$180.85 $126.60
$180.85 $126.60
$947.19 $663.03
$81.49 $57.05
$202.11 $141.48
$42.19 $29.53
$173.15 $121.21
$48.57 $34.00
$369.99 $258.99
$192.10 $134.48
$102.25 $71.57
$188.13 $131.69
$207.82 $145.48
$207.82 $145.48
$24.67 $17.27
$2,773.73 $1,941.61
$15.07 $10.55
$12.87 $9.00
$376.78 $263.75
$212.87 $149.01
$780.73 $546.51
$559.07 $391.34
$89.03 $62.32
$2,326.33 $1,628.43

Permobil Inc.
300 Duke Drive
Lebanon, TN 37090
1-800-736-0925

Sales Fax: 1-800-231-3256

Parts



Parts Price List

309213-99-60-0
309213-99-90-0
309214-99-90-0
309220-99-0
309223-40-0
309232-00-0
309234-00-0
309245-40-90-0
309253-28-0
309254-28-0
309310-40-0
309320-00-0
309322-40-90-0
309341-40-90-0
309391-00-0
309392-00-0
309393-00-0
309396-00-0
309397-99-0
309399-99-0
309426-28-0
309451-28-0
309476-99-60-0
309476-99-90-0
309497-00-0
309586-99-0
309594-00-0
309624-00-0
309703-00-0
309921-99-0
309966-00-0
309972-00-0
310017-99-0
310019-99-0
310020-28-0
310045-99-0
310050-99-90-0
310051-99-90-0
310055-99-90-0
310056-99-60-0
310056-99-90-0
310057-99-90-0
310058-99-90-0

BACKREST CUSHION, ERGO BLACK MESH, 460X670 HD3 $587.77
BACKREST CUSHION, ERGO LEATHERETTE, 460X670 $587.77
BACKREST CUSHION, ERGO LEATHERETTE, 510X670 $587.77
RAIL ARMREST BRACK HD+100 FOR 22" B.A.M. ON HD3 $69.60
WINGS, METAL BACKREST PAIR, HD3 $189.91
CABLE, TILT STOP, HD3 $113.03
CABLE, DRIVE STOP 25° SEAT TILT, HD3 $126.59
CALFREST, INCL BRACKET & UPHOLSTERY, HD3, PAIR $612.84
SEAT EXT +50 KIT, HD3 $656.85
SEAT EXT KIT +100, HD3 $656.85
SEAT SUPP CIl C2K C400 C500 $119.
SHOCK ABSORBER INCL MOUNT.KIT CH2K, C500 $
ABDUCT WEDGE ERGO CUSH Cli - HIGH PROFILE > 4
CALF SUPPORT PAD, PAIR LEATHERETTE, ClI 03
PILOT + SERIES JOYSTICK 7 BUTTON ¢ $1252.71
CABLE,JOYSTICK,PILOT+, 2M WITH STRAIN RELIEF K\ $230.66
POWER MODULE PILOT+, 80 AMP - C2K KO C3/4/500 $2,095.37
LIGHT, FRONT, INCL CABLE EACH, C400 C500 K450 $195.94
LIGHT, REAR, INCL CABLE C300 C400 C500 K4KQ $195.94
LUGGAGE/ESSENTIALS CARR. REAR LIGHT@ 00 $90.43
KNEE STOP HOLD, VS JUNIOR LEGRES $113.16
TIEBAR ARMR.FRAME, VS JR @o $178.35
KNEE STOP, VS JUNIOR MESH $519.76
KNEE STOP, VS JUNIOR LEAT $344.63
CABLE ELECTRONIC P+ SLS HD3 $96.83
FUSE KIT, HD3 $393.24
CABLE ADAPTER REARsk| HD3 $76.48
MD EXTERNAL ON/OF%?OWER CHIN BOOM $450.75
POWERED SW-AWAY CHIN SIP-N-PUFF HOLDER $5,755.66
HOLDER BEL GEGREST Cll HD3 $19.19
CB KO P+ $19.18
ED PILOT+KO * $121.37
IN 0P HINGE LEG LOW,C2K,C300/C350(1HOLE) $237.88
IT C2K/C500/C400 * $1,205.67
ARM, SHORT, C500 STANDARD INSTALLED $787.60
ANEL HOLD EXTENDED P+ $252.64
AT CUSH ERGO, LEATHER- ETTE, 19"WX17-18"D, HD3 $528.79
SEAT CUSH ERGO,LEATHER- ETTE, 19"WX19-20"D, HD3 $528.79
SEAT CUSH ERGO, LEATHER- ETTE, 21"WX17-18"D, HD3 $528.79
SEAT CUSH ERGO,BLACK MESH 21"X19-20"D, HD3 $528.79
SEAT CUSH ERGO, LEATHER- ETTE, 21"X19-20"D, HD3 $528.79
SEAT CUSH ERGO, LEATHER- ETTE, 21"WX21-22"D, HD3 $528.79
SEAT CUSH ERGO, LEATHER- ETTE, 21"WX23"D, HD3 $528.79

Effective 09/09/2019

Prices subject to change without notice.

lofl

permgbil

$411.45
$411.45
$411.45
$48.72
$132.94
$79.12
$88.62
$428.99
$459.79
$459.79
$83.36
$198.58
$409.79
$200.92
$876.90
$161.45
$1,466.76
$137.16
$137.16
$63.31
$79.21
$124.85
$363.84
$241.24
$67.78
$275.26
$53.54
$315.52
$4,028.97
$13.43
$13.42
$84.97
$166.52
$843.98
$551.32
$176.85
$370.16
$370.16
$370.16
$370.16
$370.16
$370.16
$370.16

Permobil Inc.

300 Duke Drive

Lebanon, TN 37090
1-800-736-0925

Sales Fax: 1-800-231-3256
Parts



Parts Price List

310059-99-90-0
310060-99-90-0
310061-99-90-0
310076-90-0
310112-00-0
310167-00-0
310179-99-0
310189-99-0
310204-00-0
310208-00-0
310281-28-0
310412-28-1
310412-28-2
310414-00-0
310417-99-0
310446-00-0
311060-00-0
311063-00-0
311064-00-0
311065-00-0
311105-00-0
311143-99-90-0
311144-99-90-0
311145-99-90-0
311156-99-60-0
311156-99-90-0
311195-99-0
311201-99-0
311206-00-0
311217-99-0
311226-99-0
311266-99-0
311276-99-0
311277-99-0
311314-99-0
311347-00-0
311363-99-0
311364-00-0
311365-00-0
311368-99-0
311415-99-0
311590-00-0
311595-99-0

SEAT CUSH ERGO, LEATHER- ETTE, 23"WX17-18"D, HD3
SEAT CUSH ERGO, LEATHER- ETTE, 23"WX19-20"W, HD3
SEAT CUSH ERGO, LEATHER- ETTE, 23"WX21-22"D, HD3
HEEL CUSHION KIT *PAIR** VS

COVER REAR LOW INCL LIGHT COVER/LENSES, HD3 P+
P+DAC ATTENDANT CONTROL

RIM 2,10-10" REAR, X850 PLASTIC

POSITION BELT LONG RETRAC

LUGGAGE/ESSENTIALS CARR. CABLE ADAPTER REAR
CABLE LOWER, HD3

LEGR ASSEMBLY, 2PC FOOTPL CIl, C300/C350 (1HOLE)
FOOTPL.WIDE INCL.NO SKID MAT, HD3, RIGHT
FOOTPL.WIDE INCL. NO SKID MAT, HD3, LEFT

RUBBER MAT FOOTPL DUAL HD PR

PCB SLS+ W/ CASE, PILOT+ ROBO, STR, HD3, C3/4/500
CABLE, RECLINE ACTU P+ HD3, C400/500 Cll, 200MM
CHARGER CONNECTOR XLR USA

CABLE CHARGE/LIGHTS, P+ C400/C500, V.1 (2004)
CABLE CHARGER CONN 24V P+ MAY ALSO NEER, 31106
CABL LOWER PILOT+ KOALA *

BACKREST SHELL ONLY, -50 14X21 SHE , Cll
BACKR CUSH ERGO, NARROW 14X2 RETTE, ClI
BACKR CUSH ERGO, STANDARD , LEATHERETTE,

BACKR CUSH ERGO, +50 WIDE ATHERETTE, CII
SEAT CUSH ERGO,BLACK ME X14-15"D, ClI
E, 17"WX14-15"D, ClII

SEAT CUSH ERGO, LEAT
CABLE, SEAT ELEVATQD NET, C350/3/4/5, M3/400

*

INNER TUBE SEAT ELEVATOR V.2 -60

PILOT+SERIES JOYSTICK M/J MONO JACK 7 BUTTON

OTOR, 18:1, HIGH SPEED, C500S, P+ ONLY

G REAR WHEEL, EACH C300 C400 C500 C350 K450
ABLE BRAKE REL. C4-500 R-NET, FREEWHEEL

ABLE, PERMOLOCK C/C3 - VEHICLE PWR/RELEASE SWI
SWITCH, RELEASE PERMOLOCK C/C3 (PLUNGER, P-
CABLE PCP-RELEASE SWITCH PERMOLOCK C -

CABLE EXTENSION 24V PLUNG C4/500 VSI-

CABLE LIN SOFT POT FOR HD SPARE PARTS USE
CABLE SEAT TILT LOWER PS JR

CABLE LOW SPEED MANUAL SEAT TILT PS JR

Effective 09/09/2019
Prices subject to change without notice. lofl

Q\

permgbil

$528.79
$616.02
$528.79
$118.32
$415.32
$1,542.88
$251.87
$253.19
$24.87
$558.80
$1,502.
$
g 9
47
622.16
$52.74
$65.36
$146.20
$103.54
$472.74
$380.36
$497.34
$497.34
$497.34
$497.34
$497.34
$56.20
$435.45
$1,227.88
$109.71
$18.10
$2,281.71
$198.95
$2,794.01
$6.90
$26.69
$55.03
$218.20
$45.34
$164.59
$31.58
$37.66
$21.53

$370.16
$431.21
$370.16
$82.83
$290.73
$1,080.01
$176.31
$177.23
$17.41
$391.17
$1,051.79
$263.84
$263.84
$84.33
$435.51
$36.92
$45.75
$102.35
$72.47
$330.92
$266.25
$348.14
$348.14
$348.14
$348.14
$348.14
$39.34
$304.81
$859.51
$76.80
$12.67
$1,597.19
$139.27
$1,955.80
$4.83
$18.69
$38.53
$152.74
$31.74
$115.21
$22.11
$26.36
$15.07

Permobil Inc.
300 Duke Drive
Lebanon, TN 37090
1-800-736-0925

Sales Fax: 1-800-231-3256

Parts



Parts Price List

311600-99-0
311602-00-0
311603-00-0
311604-00-0
311605-00-0
311606-00-0
311609-99-0
311611-99-0
311612-00-0
311655-99-0
311668-99-0
311675-99-0
311884-99-0
312332-40-0
312596-28-0
312827-28-0
312850-28-0
312853-40-0
312869-28-2
312871-99-1
312872-99-2
312991-28-0
313047-00-0
313066-28-1
313067-28-2
313344-99-0
313509-99-0
313622-00-0
313631-99-0
313682-28-1
313683-28-2
313794-99-0
313824-28-0
313831-00-2
313833-00-1
313858-99-0
313887-00-0
313890-46-0
313891-99-0
313924-00-0
314036-99-0
314351-99-0
314368-00-0

CABLE - BATTERY K450

CABLE - BRAKE RELEASE K450

CABLE - ADAPTER LIGHTS K450

CABLE-MASTER TO CONN BOX K450

CABLE - ACTUATOR L=500 K450

CABLE - ACTUATOR L=800 K450

CIRCUIT BREAKER (K450)NOT FOR SPARE PARTS
CRUSH PROTECT SWITCH (K450 MX SEAT PAN)
CABLE - CRUSH PROTECT K450

CABLE L=1500 MM SPARE PARTS 1825539
EXTENSION FEMALE-FEMALE SPARE PARTS 1826757
MAIN FUSE, INCL. CABLE M300 M400

CABLE, LIGHT/TURN SIGNAL 460MM, LUGGAGE BOX, F3
ACTU, MAN RECLINE, CENTER MOUNT, HD3

SEAT SUPP LOW STR

SWINGARM C400 * K\ $657.79

LEGREST W/WIDE FOOTPL C400, C500 2 HOLE
TUBE,MANUAL LEGR, RECLINE STR C300 C350 C400
LINK C500 - LEFT O\
DECAL - HOOK BRACKET RIGHT

DECAL - HOOK BRACKET LEFT

FOOTPLATE, ONE PIECE STREET c3

SLIDE BAR PERMOLOCK C *

WHEELFORK C400 - RIGHT *

WHEELFORK C400 - LEFT * Q

LOCK VEHICLE LOCK PL

BRAKE RELEASE, CO SSY, C400 C500
COVER, CHARGER C®TOR C400 C500

PCB PERMOLOCK *

WHEELFORK RIGHT 4C500

PO , C500
A ATOR CIl, CORPUS/HD

RL POWER LEG P+, R-NET, C300

Y BOX LID C400 LEFT *

Y BOX LID C400 RGT *

ECAL BRAKE RELEASE K450 C3/350, L ON MWD
OTECT HOUSING - C400 NON-PILLAR (S.E. & S.T.)
COVER KIT C400 W/O LIGHTS CRYSTAL BLUE-NO
DECAL TILT WARNING, "C" SERIES, ART.VENT,M300/400
COVER SEAT ELEVATOR C500 ClIlI, C3G

MAN.CONTROL RELEASE PERMOLOCK C/C3

CABLE SET, END OF TRAVEL, 45° TILT W/BRKT C300/350
ARMREST 14", LEATHERETTE TAPERED, CII

Effective 09/09/2019
Prices subject to change without notice. lofl

permgbil
$63.32 $44.32
$10.40 $7.27
$31.63 $22.13
$17.19 $12.04
$10.40 $7.27
$11.76 $8.24
$80.93 $56.65
$10.85 $7.60
$13.58 $9.51
$80.31 $56.22
$57. $40.16
$41.16
3 $32.47
$129.36
141.94 $99.36
$460.46
$1,502.56 $1,051.79
$232.96 $163.07
$255.19 $178.63
$6.90 $4.83
$6.90 $4.83
$347.22 $243.06
$93.13 $65.19
$205.56 $143.90
$205.56 $143.90
$1,480.82 $1,036.58
$181.36 $126.95
$5.49 $3.85
$268.13 $187.69
$196.84 $137.79
$196.84 $137.79
$9.39 $6.57
$97.95 $68.56
$103.20 $72.24
$103.20 $72.24
$6.90 $4.83
$79.85 $55.90
$1,148.26 $803.78
$5.49 $3.85
$72.07 $50.45
$405.28 $283.69
$56.33 $39.43
$287.06 $200.95

Permobil Inc.

300 Duke Drive

Lebanon, TN 37090

1-800-736-0925

Sales Fax: 1-800-231-3256

Parts



Parts Price List

314517-00-0
314519-99-0
314790-00-0
316132-12-0
316132-46-0
316132-55-0
316132-70-0
316132-71-0
316132-72-0
316132-73-0
316132-75-0
316132-77-0
316132-78-0
316132-79-0
316132-80-0
316157-40-0
316356-99-0
316389-99-0
316437-40-0
316440-99-0
316459-40-0
316476-40-0
316600-99-0
316644-99-0
316714-99-0
316730-99-0
316753-40-0
316838-99-0
317083-99-0

317223-99-90-0

317229-40-0
317491-40-0
317664-00-0
317732-99-0
317735-28-0
317758-02-0
317909-00-0
317966-00-0
317968-00-0
317969-00-0
317970-00-0
318042-00-0
318143-40-0

permgbil

BRACKET UT RECEIVER ONLY $28.71 $20.09
LINK ADJUSTMENT, ARMR, TUBULAR, PARTS=1823502 $287.06 $200.95
PAD ONLY, UT "G", 12"W X 3.5"H $74.24 $51.97
PRE-QC 103511-99-0; WINE SPARE PARTS USE 1825345 $180.43 $126.30
PRE-QC 103535-99-0;CR.BLU SPARE PARTS USE 1825346 $180.43 $126.30
PRE-QC 105237-99-0, LIME SPARE PARTS USE 1826997 $180.43 $126.30
PRE-QC 103579-99-0 CHILI SPARE PARTS USE 1825350 $180.43 $126.30
PRE-QC 103536-99-0;BLACK SPARE PARTS USE 1825347 $180.43 $126.30
PRE-QC 103537-99-0;SILVER SPARE PARTS USE 1825348 $180.43 $126.30
PRE-QC 103591-99-0; PINK SPARE PARTS USE 1825354 $180.43 $126.30
PRE-QC 103538-99-0;YELLOW SPARE PARTS USE $180. $126.30
PRE-QC 105707-99-0;COBALT SPARE PARTS USE $ $126.30
PRE-QC 105709-99-0; PURPL SPARE PARTS USE 1827960 ¢ A4 $126.30
PRE-QC 105711-99-0;P.GRAY SPARE PARTS USE 1827965 43 $126.30
PRE-QC 105713-99-0,VOLCAN SPARE PARTS USE ¢ 180.43 $126.30
PUSH HANDLE FOR PS EACH SPARE PARTS USE K\ $143.88 $100.72
PANEL HOLDER K450,C3G PARTS USE 1822455 $717.66 $502.37
HOLDER ATTENDANT CONTROL VR2/R-NET $145.34 $101.73
BRKT - ICS SWBOX SHORT SPARE PARTS USI%MS $158.61 $111.03
PANEL HOLDER LONG RNET VR L=435 $211.35 $147.95
PRE-QC USE 103471-99-0 SPARE PARTS 599 $220.52 $154.37
BRACKET ICS SWITCHBOX BACKR M $29.13 $20.39
WHEEL SOLID 3.00X8 C350 C300 P S =1822977 $217.02 $151.92
SOFTPOT POSITION SENSOR 45 TILT,PS,CII $324.04 $226.83
WASHER, SLEWING BRACKETM3 C350 F3/5 M3 $6.70 $4.69
GENERAL MODULE SEAT RE PARTS USE $126.41 $88.49
PUSH HANDLES, PSJ R HANDLE $216.56 $151.60
SPACER - ACTUATOFQPS JR $76.38 $53.46
PANEL HOLDER SHORT R-NETYV 13.8", Cll K450 C3G $47.88 $33.52
BACKREST C 10D 12"X13" FLAT, PSJR K450 $46.95 $32.87
BRAC SEAT PS JR,SPARE PARTS ORDER 4 $28.72 $20.10
145 OR 10146 BACKREST SOLID 16"- $635.56 $444.89

DNTROL PANEL BRACKET $15.59 $10.91

BOX PUSH BUTTON $1,435.31 $1,004.71

EAT ASSEMBLY K450 $104.62 $73.23

$5.28 $3.70

ICS ALTERNATIVE SWITCHBOX SPARE PARTS USE: $10.05 $7.04
BRACKET UT FOR 14"MX BACK ***PAIR*** $63.32 $44.32
BRACKET UT FOR 12"MX BACK **PAIR** $63.32 $44.32
UT BAR MX SEAT 10"D ***PAIR*** $65.43 $45.80
UT BAR MX SEAT 12"D **PAIR*** $69.99 $49.00
BRACKET HEAD SUPPORT (K450) $244.58 $171.20
PUSH HANDLES K450 SPARE PARTS USE 1824319 $559.93 $391.96

Effective 09/09/2019
Prices subject to change without notice. lofl

Permobil Inc.

300 Duke Drive

Lebanon, TN 37090
1-800-736-0925

Sales Fax: 1-800-231-3256
Parts



Parts Price List

318187-40-0
318196-99-0
318366-99-0
318368-99-0
318471-99-0
318945-99-0
319007-99-0
319027-99-0
319111-99-0
319136-99-0
319175-99-0
319176-99-0
319179-99-0
319191-99-0
319193-99-0
319238-99-0
319240-99-0
319342-99-0
319476-99-0
319482-99-0
319589-99-0
319598-99-0
319634-99-0
319635-99-0
319636-99-0
319755-99-0
320264-99-0
320277-99-0
320381-99-0
320420-99-0
320422-99-0
320423-99-0
320478-99-0
320482-99-0
320523-40-0
320606-99-0
320745-99-0
320754-99-0
320795-71-0
320795-73-0
320795-77-0
320795-78-0
320795-79-0

VENTILATOR SHELF (K450)

COMPACT JOYSTICK BRACKET ADVANCED, R-NET
PANEL MOUNT ASSY UT PSJR SPARE PARTS USE
SOCKET BRACKET NOT FOR SPARE PARTS USE
BACKREST INSTALL PLATE FIXED BACK C3G & HD
BUSHING L=14, 012/8 TECH USE 1829666

TIE BAR LINK ADJUST EACH BACKREST SHEER C3G
SLEEVE,POWER EXT & TRANS- FER LEGR ASSY,
BRACKET ADJUSTBLE ARMREST C3G

ADAPTER NEGATVE SEAT TILT C3G -5 DEGREES

WIDE FOOTPL W/ANTI SKID LEFT, ALL CORPUS, PS, M1
WIDE FOOTPL W/ANTI SKID RIGHT, ALL CORPUS, PS, M1
CORPUS/3G FOOTPL, WIDE PAIR, INCL LEGREST TUBES
SPARE PARTS USE 1831875 NUT,BACKR,BLUETOOTH
NUT PLATE BACKREST 25MM SPARE PARTS USE

o 0
CHASSIS M300 29:1 K\

CHASSIS MWD HD

SPACER 013X2,5X60 SPARE PARTS USE 1829672
BRACKET, BACKREST SHEER K
PIVOT ARM, BACKREST SHEER KIT,CORPU

WASHER 8.5 X 20 X 5 (FOR BACKREST

SPARE PARTS USE 1831707 SOCKET BSORBER
C3G NARRW FOOTPL W/ANTI- S

C3G NARRW FOOTPL W/ANTI-

CORPUS/3G FOOTPL, NARR - R, INCL LEGR

ANDERSON JST HOLDER ARTS USE 1826243
DAMPER COVER (THI @X 50MM X 20MM

210X65 RIM + SOLID E GASTER, WITHOUT CAP
ABDUCTOR WEDGE C3G INCL BRACKET AND CUSHION
SWING AR WWD CORPUS HD, RIGHT

SWING /BEARING MWD, CORPUS HD, LEFT
SWING AR W/BEARING MWD, CORPUS HD,

AR G RESPIRATOR SHELF BOX

SPIRATOR SHELF

USE 105782-99-0 SPARE PARTS USE 1827955
UPP TUBE, LEGREST, C3G

GHT REPLACEMENT BRACKET FOR C3G BACKREST
HOOK BAG HOLDER UNIVERSAL CIILVS,PS,C3G,CORPUS
COVER ONYX BLACK NEW C300 SPARE PARTS USE
COVER POPSTAR PINK NEW C300, SPARE

COVER COBALT BLUE NEW C300, PARTS USE 1827976
COVER PURPLE RAIN NEW C300, PARTS USE 1827977
COVER PHANTOM GRAY NEW C300, PARTS USE 1827979

Effective 09/09/2019
Prices subject to change without notice. lofl

permgbil
$581.12 $406.78
$83.70 $58.59
$528.19 $369.74
$20.69 $14.48
$165.07 $115.54
$5.28 $3.70
$430.60 $301.42
$14.40 $10.08
$116.29 $81.40
$52.74 $36.92
$251. $175.83
$175.83
$1,116.12
$9.36
$4.23
$4,319.54
$7,176.60 $5,023.62
$14.08 $9.86
$192.34 $134.64
$116.56 $81.59
$6.07 $4.25
$29.32 $20.53
$215.29 $150.71
$215.29 $150.71
$151.02 $105.71
$7.55 $5.28
$6.04 $4.23
$113.03 $79.12
$347.15 $243.01
$467.12 $326.98
$157.87 $110.51
$157.87 $110.51
$1,414.18 $989.93
$608.07 $425.64
$3,918.07 $2,742.64
$55.44 $38.81
$55.67 $38.97
$717.66 $502.37
$266.10 $186.27
$266.10 $186.27
$266.10 $186.27
$266.10 $186.27
$266.10 $186.27

Permobil Inc.

300 Duke Drive

Lebanon, TN 37090

1-800-736-0925

Sales Fax: 1-800-231-3256

Parts



Parts Price List

320795-80-0
320795-99-0
321002-99-0
321010-40-0
321138-99-0
321638-40-0
321639-40-0
321640-40-0
321641-40-0
321642-40-0
321643-40-0
321644-40-0
321798-99-0
321948-40-0
322724-99-0
323138-99-0
323276-99-0
323585-99-0
325109-99-0
325136-99-0
325143-99-0
325327-99-0
325475-40-0
32649
32664
331432-99-0
334794-99-0
334965-99-0
334985-99-0
335000-99-0
5337-DD
5808
600016-99-0
600037-99-0
600136-00-0
600169-99-0
600182-99-0
600183-99-0
600184-99-0
600186-99-0
600188-99-0
600189-99-0
600190-99-0

COVER VOLCANO RED NEW C300, PARTS USE 1827981
CHASSIS COVER C300 UNPAINTED

SPACER

FOOTPL 1PC, NARROW, POWER TRANSFER, INCL
SPACER ADAPTER

SPACER ARMREST, CORPUS

ARM STOP C3G

SPACER STOP C3G, ELBOW

SPACER TUBE C3G #1 NEW REVISION

SPACER TUBE C3G #2 NEW REVISION

ARM BRACKET, CORPUS

BRACKET ICS SWITCHBOX BACKR MNT

BRACKET ICS SWITCHBOX C3G BACKREST INCL HW
BRACKET, C3G R-NET, BLUE- TOOTH MOUSE MODULE
BATTERY CHARGER AUSTRALIA 24V 8AMP

SUPPORT BRACKET CLAMP INNER

*

LINK, AP-ELEVATOR CORPUS TILT ONLY
SCREW, CLIP F3 F5 x
SUPPORT BRACKET CLAMP OUTER, »#TECH#1

LEAF SPRING, RECLINE ACTU

K\ $48.82
SPACER, CORPUS VS SHEER KIT Q $6.90
*k

C

SPACER, FLEX LINK, M3 M

OWNER'S MANUAL M CeR
OWNER'S MANUAL F3}CORPUS
OWNER'S MANUAL F5 PUS

OWNER'S MANRIAL E6 CORPUS VS
- MINI JS SPARE PARTS USE 1826527
P/N 58080 SPARE PARTS = 1820029
EAD SM 8 VS
AR 6001-2RS1,SEAT TUBE, X850 HD3
TIE SST1M 2.4X102 *
OLT M5 X 12MM SHCS ZINC PLATED
LT MC6S 4X 8 FZB
BOLT MC6S 4X10 FZB
BOLT MC6S 4X12 FZB
SCREW MC6S M4X20 FZB SHCS 8.8 DIN912 1SO4762
BOLT MC6S 5X 8 FZB
SHCS MC6S 5X10 FZB ISO 4762
BOLT MC6S 5X14 FZB

Effective 09/09/2019
Prices subject to change without notice. lofl

permgbil
$266.10 $186.27
$266.10 $186.27
$7.56 $5.29
$326.06 $228.23
$6.70 $4.69
$137.94 $96.55
$137.94 $96.55
$137.94 $96.55
$137.94 $96.55
$137.94 $96.55
$138. $96.73
$ $96.55
g @ $15.07
\ '85 $30.00
0765.00 $535.50
$34.17
$4.83
$20.44 $14.31
$6.68 $4.67
$48.82 $34.17
$48.82 $34.17
$6.90 $4.83
$39.87 $27.90
$700.54 $490.38
$19.51 $13.66
$8.48 $5.93
$23.35 $16.35
$23.35 $16.35
$23.35 $16.35
$23.35 $16.35
$6.90 $4.83
$361.92 $253.34
$67.82 $47.48
$34.24 $23.97
$5.49 $3.85
$6.90 $4.83
$6.90 $4.83
$6.90 $4.83
$6.90 $4.83
$6.90 $4.83
$5.49 $3.85
$6.90 $4.83
$5.49 $3.85

Permobil Inc.

300 Duke Drive

Lebanon, TN 37090
1-800-736-0925

Sales Fax: 1-800-231-3256
Parts



Parts Price List

600191-99-0
600192-99-0
600193-99-0
600194-99-0
600195-99-0
600196-99-0
600197-99-0
600202-99-0
600203-99-0
600207-99-0
600208-99-0
600212-99-0
600222-99-0
600225-99-0
600226-99-0
600227-99-0
600228-99-0
600229-99-0
600230-99-0
600232-99-0
600233-99-0
600237-99-0
600238-99-0
600239-99-0
600241-99-0
600256-99-0
600271-99-0
600274-99-0
600276-99-0
600277-99-0
600499-99-0
600503-99-0
600504-99-0
600522-99-0
600541-99-0
600543-99-0
600546-99-0
600556-99-0
600587-99-0
600590-99-0
600614-99-0
600686-99-0
600692-99-0

BOLT MC6S 5X40 FZB

SHCS MC6S 6X12 FZB

BOLT MC6S 6X14 FZB

BOLT MC6S 6X20 FZB

BOLT MC6S 6X25 FZB

BOLT MC6S 6X30 FZB

BOLT MC6S 6X45 FZB

BOLT MC6S 8X 10 FZB

BOLT M8 X 20MM SHCS ZINC PLATED (8.8)
BOLT 4X 8 10.9 FE/ZN 5 C1 COUNTERSUNK ISO 10642
BOLT M4 X 10MM FHCS ZINC PLATED
SET SCREW SK6SS 4X4

BOLT M6S 6X20 FZB

LOCK NUT M4 FZB NYLOCK *

LOCK NUT M5 FZB

LOCK NUT M6 LOW FZB DIN985/ISO10511
NYLOCK NUT M8 ZINC PLATED

LOCK NUT M10 FZB

NUT M6M 3 FZB

NUT M6M 6 FZB

NUT M6M 8 BHB FZB 0
WASH M5 FLAT ZINC PLATED %

WASH BRB 6.4X12X1.5 FZB STD &
WASH BRB 8.4X16X1.6 FZB ST x LATED
WASH BRB 10.5X20X2 FZB

NUT M6M 10 FZB

CIRCLIP SGA 10, HD3©®ORPUS 3G/VS

*

BOLT MC6S 8X 40 FZ
SHCS MC6S 8X 50 FZB

BOLT MC6S 10% 45 FZB
% ZB

14, LEGREST AND UPPER STAND FRAME
AR 608-2RS1

F6S 6X16 FZB

OLT MC6S 5X20 FZB

T SCREW M5X6 FLAT BOTTM ZINC PLATED
SET SCREW M4X5 FLAT BOTTM *

VELCRO 30MM 1 FOOT LENGTH

SHCS MC6S 8X16 FZB

NUT M6M 5 FZB, VENT C300 SW.BX BRKT
BOLT MC6S 5X30 FZB

BOLT MC6S 6X22 FZB

Effective 09/09/2019
Prices subject to change without notice. lofl

&\ $6.90
$6.90

permgbil
$6.90 $4.83
$6.90 $4.83
$6.90 $4.83
$6.90 $4.83
$6.90 $4.83
$6.90 $4.83
$5.49 $3.85
$5.49 $3.85
$6.90 $4.83
$5.82 $4.08
$6. $4.83
$4.83
> @ $4.83
\ 90 $4.83
0 $6.90 $4.83
$4.83
$4.83
$6.90 $4.83
$5.49 $3.85
$6.90 $4.83
$5.49 $3.85
$6.90 $4.83
$6.90 $4.83
$6.90 $4.83
$6.90 $4.83
$6.90 $4.83
$6.90 $4.83
$6.90 $4.83
$6.70 $4.69
$6.90 $4.83
$6.90 $4.83
$6.90 $4.83
$5.49 $3.85
$12.94 $9.05
$6.90 $4.83
$6.90 $4.67
$5.49 $3.85
$6.90 $4.83
$10.06 $7.04
$6.90 $4.83
$6.90 $4.83
$6.90 $4.83
$5.49 $3.85

Permobil Inc.
300 Duke Drive
Lebanon, TN 37090
1-800-736-0925

Sales Fax: 1-800-231-3256

Parts



Parts Price List

600700-99-0
600701-99-0
600705-99-0
600719-99-0
600729-99-0
600735-99-0
600736-99-0
600737-99-0
600740-99-0
600741-99-0
600743-99-0
600744-99-0
600751-99-0
600752-99-0
600764-99-0
600767-99-0
600768-99-0
600770-99-0
600829-99-0
600832-99-0
600841-99-0
600842-99-0
600855-99-0
600880-99-0
600886-99-0
600888-99-0
600892-99-0
601066-99-0
601068-00-0
601075-99-0
601102-99-0
601124-99-0
601126-99-0
601127-99-0
601157-99-0
601158-99-0
601159-99-0
601165-99-0
601170-99-0
601171-99-0
601173-99-0
601177-99-0
601181-99-0

permgbil
CUP SPRING 28X14.2X1 $5.49 $3.85
BOLT K6S 10X16 FZB $5.49 $3.85
BOLT MC6S 8X 12 FZB SHCS $6.70 $4.69
BOLT MC6S 8X 60 FZB $5.49 $3.85
BOLT MF6S 6X30 FZB $5.49 $3.85
BOLT MF6S 6X25 FZB $6.90 $4.83
BOLT K6S 6X10 FZB $6.90 $4.83
SET SCREW SK6SS 8X10 LEGREST, HD3 VS Cll C3G $6.90 $4.83
BHCS K6S 5X 8 FZB $6.90 $4.83
WASH BRB 4.3X10X 1 FZB $6.90 $4.83
BOLT MC6S 6X16 FZB $6. $4.83
BOLT MF6S 8X25 FZB $4.83
CIRCLIP SGH 32, SWINGARM C3/4/500/350 STR KO HD3 g 9 $4.83
BALL BEARING 6002-2RS1 SWINGARM AND WHEELS a $20.49
BOLT M8 X 20MM FHCS ZINC PLATED ¢ $6.90 $4.83
BOLT MC6S 5X35 DIN 912 K\ $6.90 $4.83
BOLT MC6S 6X70 FZB $6.90 $4.83
TUBE,3.00X8,HD3 C350 X850 C3/4/500 MWD M3/5/1 F $20.55 $14.38
WASH BRB 4.3X12X1 $6.90 $4.83
BOLT MC6S 4X 6 FZB 0 $6.90 $4.83
BOLT MF6S 4X12 FZB $5.82 $4.08
WASH BRB 5.3X12X 1 FZB % $6.90 $4.83
KEY 6X6X22 DRIVE MOTOR MW 5 M1 $9.47 $6.63
HEXAGON SOCKET HEAD BOL 30 FZB $6.90 $4.83
RUBBER BLOCK SEAT ELEV KQALAP+R-NET $17.95 $12.57
BOLT MC6S 6X10 FZB $6.90 $4.83
DRIVEBELT, SEAT EL Qos C3/4/500 C350 M3/400 $72.64 $50.84
BULB 24/3 TAIL LIGHTACHHD, ROBO $8.80 $6.16
PLAST PLUG,SFL 35 300350 500 K450 MWD $5.49 $3.85
BOLT ESLQ WB DRWH MI,2 MA,MWD HD,F5,M5 $5.49 $3.85
3 12 10.9 FE/ZN 5 C1 $6.90 $4.83
ER PINFRP 4X16 $6.90 $4.83
BO X 6 FZB $6.70 $4.69
C6S 8X 22 FZB $5.49 $3.85
HCS 8X 55 FZB $6.90 $4.83
UICK MOUNT CLAMP ARMR,PROT.COVER SEAT ELEV $5.49 $3.85
LT K6S 5X12 FZB $6.90 $4.83
BOLT MC6S 5X16 FZB $6.90 $4.83
BOLT M5 X 16MM BHCS ZINC PLATED $5.49 $3.85
WASHER ROSETTE, SHROUD HD3, ROBO $5.49 $3.85
WASH 1Z 8.4X15 FZB $5.49 $3.85
BOLT MF6S 6X45 FZB $5.49 $3.85
BOLT MC6S 5X25 FZB $6.90 $4.83

Effective 09/09/2019
Prices subject to change without notice. lofl

Permobil Inc.
300 Duke Drive
Lebanon, TN 37090
1-800-736-0925

Sales Fax: 1-800-231-3256

Parts



Parts Price List

601187-99-0
601189-99-0
601194-99-0
601202-99-0
601225-99-0
601227-99-0
601231-99-0
601234-99-0
601246-99-0
601248-99-0
601257-99-0
601265-99-0
601282-99-0
601296-99-0
601301-99-0
601331-99-0
601333-99-0
601337-99-0
601339-00-0
601340-99-0
601346-99-0
601353-99-0
601359-99-0
601363-99-0
601364-99-0
601366-99-0
601370-99-0
601371-99-0
601372-99-0
601375-99-0
601377-99-0
601381-99-0
601385-99-0
601388-99-0
601395-00-0
601396-99-0
601397-99-0
601404-99-0
601413-99-0
601415-99-0
601422-99-0
601424-99-0
601427-99-0

BOLT M4 X 10MM BHCS ZINC PLATED

BOLT MF6S 5X16 FZB

KEY 6X6X36 DRIVE SHAFT M90T, CH, HD3, ROBO, X850
WASH BRB 3.2X 7 FZB STD

CIRCLIP EXTERNAL SGA D=12 DIN471

BOLT MC6S 10X 50 FZB

BOLT MC6S 10X 55 FZB

BOLT MC6S 10X 90 FZB SECOND VERSION LEGREST
WASH TBRB 6.4X12X3 FZB PS/PSJR LEGR, HD3 RECLINE
WASH BRB 6.6X22X2 FZB M3/400 STABILIZER,EX MINI
BOLT MF6S 8X30 FZB

BOLT MF6S 6X10 FZB

BOLT MC6S 4X 5 FZB

WASH M4 FLAT STD - ZINC PLATED

FUSE PLUG 20 A ROBO HD3 C400 C500 X850
BOLT MC6S 6X35 FZB
LINK BOLT M6X50 DIN444 FOOTPLATE, VS

PLAST PLUG GL 16 KNEE STOP, VS \
BOLT MC6S 3X 6 FZB 0
BHCS K6S 5X10 FZB %

BOLT MC6S 6X 8 FZB SHCS K

WASH BRB 10.5X18X2 FZB

BOLT K6S 6X20 FZB

WASHER M6 FENDERO

BOLT K6S 6X45 FZB

QUICK LO CKREST HD3 CIl VS, OXYGEN HOLDER

SLIDE BEAR 141625 A UPPER STAND FRAME, VS
BOLT K6S 8X20 FZB
WASH BRB 6.4X14X1.5 FZB Q
BHCS 1SO 7380 M4X 6 10.
FLANGE FOR BRACE BEAR, VS

JFZB
BO 6X50 FZB
F6S 5X12 FZB M.E.SEAT,C4/500 BRAKE RLS
KNOB 20 M5,ARMREST HD3, ClI, VS
HCS MC6S 10X 60 FZB
LT MC6S 6X75 FZB
BOLT K6S 8X16 FZB
BOLT MF6S 8X35 FZB
ANGLE LINK, ARMREST, Cll ROBO, AS M8 FZB
BOLT K6S 6X12 FZB
BOLT MF6S 5X30 FZB
WASH BRB 8.4X15X1.6 FZB DIN 433

Effective 09/09/2019
Prices subject to change without notice. lofl

permgbil
$5.49 $3.85
$6.90 $4.83
$5.49 $3.85
$6.90 $4.83
$6.90 $4.83
$6.90 $4.83
$5.49 $3.85
$5.49 $3.85
$5.49 $3.85
$7.93 $5.55
$6. $4.83
$3.85
> 9 $4.83
\ $4.83
$5.82 $4.08
K\ $7.44 $5.20
$6.90 $4.83
$12.35 $8.65
$5.49 $3.85
$6.90 $4.83
$6.90 $4.83
$6.90 $4.83
$6.90 $4.83
$6.90 $4.83
$5.49 $3.85
$5.49 $3.85
$5.49 $3.85
$5.49 $3.85
$5.66 $3.96
$11.46 $8.03
$20.55 $14.38
$6.90 $4.83
$6.90 $4.83
$6.90 $4.83
$10.32 $7.22
$6.90 $4.83
$5.49 $3.85
$6.90 $4.83
$6.90 $4.83
$18.10 $12.67
$6.90 $4.83
$6.90 $4.83
$6.90 $4.83

Permobil Inc.
300 Duke Drive
Lebanon, TN 37090
1-800-736-0925

Sales Fax: 1-800-231-3256

Parts



Parts Price List

601456-99-0
601550-99-0
601551-99-0
601557-99-0
601625-99-0
601675-99-0
601693-99-0
601702-99-0
601703-99-0
601707-99-0
601708-99-0
601716-99-0
601756-99-0
601777-99-0
601788-99-0
601798-99-0
601804-99-0
601823-00-0
601855-99-0
601871-00-0
601884-99-0
601889-99-0
601923-99-0
601935-99-0
601941-99-0
601943-99-0
601996-99-0
602033-99-0
602039-99-0
602040-99-0
602065-99-0
602082-00-0
602084-99-0
602124-99-0
602125-99-0
602127-99-0
602130-99-0
602132-99-0
602134-99-0
602135-99-0
602151-00-0
602152-00-0
602153-00-0

EXPANDER PIN FRP 4X20 C3G POWER TRANSFER LEGR
BOLT K6S 10X30 FZB BHCS

BOLT MC6S 10X 35 FZB

NUT CYL 15/ 9X12-M6 PS, VS, MF

BOLT MRX-SEMS 5X12 FZB 6/KOALA SHROUD, BAT.BOX
BOLT K6S 6X16 FZB AP-E, PS/PSJR, MF, HEADR
RUBBER BOOT/COVER ARMR ASSY, MF

BOLT MC6S 8X 90 FZB

BOLT MLC6S 8X10 FZB THIN HEAD

BOLT K6S 5X20 FZB

BOLT M5 X 10MM FHCS ZINC PLATED

BOLT MF6S 8X16 FZB

BOLT MC6S 6X40 FZB

BOLT MF6S 3X 6 FZB

BOLT MF6S 6X12 FZB

ADJ HANDLE, LEGREST KOALA

BOLT MC6S 5X50 FZB

RUBBER SLEEVE 4X16X30 BRAKE

NUT ML6M 10 FZB \'
STAR HANDLE WN 795 6X15 C400/500 SHRC@
BOLT K6S 8X45 FZB

CARRIER LIMIT SWITCH KIT TILT, CII, 2§,

BOLT MC6S 6X60 FZB

WASH SRKB 5.5X22X1.5 FZB \

BOLT MC6S 10X 70 FZB Q

STAR HANDLE, LATERAL ASTIC, CIl & VS, EACH
CIRCLIP SGA 18 COREP, @CKR HINGE

ADJ HANDLE PZ-42-M@
BOLT MC6S 6X65 FZB PS, M5, K450

ADJ HAND -42-M6X40 *
BOLT M B
EDGE ME IG 9MM 1 METER LENGTHS, MF MX

FO

8X16 S SEAT LIFT, KOALA

6S 8X 16 FZB ESL HEX HEAD BOLT
REW LOCKABLE AK8 KOALA

ASH SCHNORR 8.4X13X0.8

ATTERY - GROUP 24 FEMALE TERMINAL 12 VOLT 74
SLIDE BEAR 182015 A *

BOLT SK6SS 6X30 FZB *

BOLT SK6SS 6X25 FZB *

JOYST MOD T JOYSTICK KNOB

JOYST LARGE MOD BALL JOYSTICK KNOB
JOYST MOD MUSHROOM JOYSTICK KNOB

Effective 09/09/2019
Prices subject to change without notice. lofl

O

permgbil
$6.90 $4.83
$6.90 $4.83
$6.90 $4.83
$6.90 $4.83
$6.90 $4.83
$6.90 $4.83
$22.62 $15.84
$8.60 $6.02
$5.49 $3.85
$6.90 $4.83
$5. $3.85
$4.83
g 9 $4.83
49 $3.85
$6.90 $4.83
$14.11 $9.88
$5.49 $3.85
$6.90 $4.83
$6.90 $4.83
$17.29 $12.10
$5.60 $3.99
$36.90 $25.82
$6.90 $4.83
$6.90 $4.83
$6.90 $4.83
$17.29 $12.10
$6.90 $4.83
$22.62 $15.84
$6.90 $4.83
$27.13 $18.99
$6.90 $4.83
$20.10 $14.07
$17.23 $12.06
$6.90 $4.83
$67.82 $47.48
$6.90 $4.83
$776.50 $543.55
$7.19 $5.03
$5.49 $3.85
$5.49 $3.85
$211.00 $147.71
$84.40 $59.08
$146.20 $102.35

Permobil Inc.
300 Duke Drive
Lebanon, TN 37090
1-800-736-0925

Sales Fax: 1-800-231-3256

Parts



Parts Price List

602154-00-0
602155-99-0
602156-00-0
602165-99-0
602179-99-0
602183-99-0
602185-99-0
602187-99-0
602198-99-0
602228-08-0
602229-99-0
602233-99-0
602302-99-0
602307-99-0
602326-99-0
602328-00-0
602352-00-0
602360-00-0
602367-99-0
602373-99-0
602380-99-0
602391-99-0
602396-99-0
602397-99-0
602472-00-0
602510-00-0
602568-99-0
602569-08-0
602631-99-0
602639-99-0
602647-99-0
602690-99-0
602739-00-0
602774-00-0
602821-99-0
603068-00-0
603073-99-0
603083-99-0
603086-99-0
603089-00-0
603090-00-0
603093-99-0
603101-99-0

JOYST MOD CHIN CUP JOYSTICK KNOB
JOYST MOD SOFTBALL JOYSTICK KNOB
JOYST MOD STICK JOYSTICK KNOB

BOLT K6S 8X25 FZB TECH=1828843: SHEER KIT
NUT SPACER M6 FZB, 15X10

ADJ HANDLE VTR.P M5X10 BACKREST, VS
WHEEL, SUPPORT WHEELS EACH, VS
SLIDE BEAR 121420 F HD3

WHEELS SUPPORT FRAME K450,VS,MF,
TIRE 2.50- 8 FRONT, KOALA

TUBE 2.50- 8 FRONT, KOALA

BOLT MC6S 4X35 BRAKE ROBASTOP
BOLT MRX-Z 5X16 FZB

PROG.UNIT PP1A HAND-HELD

RUBBER BLOCK C 15X15 C350 LIGHTS, STR LIGHTS
NON-INDEXING PLUNGER ADJ BOLT, MANUAL LINKAGE

PLAST PLUG GL 32

STARHANDLE, M6X20 MF LAT & THIGH SUPP BRKT

BOLT K6S 6X25 FZB, BHCS 10.9 ISO 7380
SCREW ISO 7380 M8X35 FE/Z

BULB, 26/4 HEADLIGHT C400 C500

ADJ KNOB,BACKR ALL CORPUS SHR
ADJ HANDLE WN500 M8X30

BOLT K6S 6X22 FZB \
CABLE TIE 3.5X150 Q
CABLE HOLD HCMP06 Bl@

TUBE FOR CASTER 2 K450 C350/3/500 F3/F5
TIRE, AIR, CASTER 21Q@X65STR K450 C350/3/500

BOLT K6S 8X50 FZB 1SO /380
RUBBER BLO M6%10, TILT SEAT STABILIZER

X1 .5 FZB SHIM WASHER

ANTI-SLIP TAPE, 1" X 2' FOOTPLATES
BATTERY - GROUP 34 12 VOLT 60 AH, EACH
SCHACKLE, BRAKE RELEASE

JOYST KNOB, STANDARD P+

JOYSTICK BOOT P+

JOYSTICK SHIELD- DUST COVER, P+, RNET, VSI, VR2

ACTU. LAS-100 FOOT PWR ADJ KIT 100
CORK BALL FOR MINI JOYST.

Effective 09/09/2019
Prices subject to change without notice. lofl

HD3 C400

N

permgbil
$110.02 $77.01
$146.20 $102.35
$146.20 $102.35
$7.55 $5.28
$6.90 $4.83
$20.60 $14.42
$99.43 $69.60
$5.49 $3.85
$35.63 $24.94
$99.51 $69.67
$22. $15.84
$4.83
> 4 $3.85
1%ad'80 $1,154.86
$21.28 $14.90
$71.75 $50.23
$5.82 $4.08
$17.29 $12.10
$6.70 $4.69
$6.90 $4.83
$10.57 $7.40
$10.32 $7.22
$19.56 $13.69
$5.66 $3.96
$6.90 $4.83
$6.03 $4.23
$19.60 $13.72
$57.28 $40.09
$5.49 $3.85
$22.62 $15.84
$6.90 $4.83
$6.90 $4.83
$17.29 $12.10
$6.90 $4.83
$6.90 $4.83
$26.20 $18.34
$594.12 $415.89
$5.49 $3.85
$34.26 $23.98
$54.72 $38.30
$47.27 $33.08
$512.70 $358.89
$26.26 $18.39

Permobil Inc.

300 Duke Drive

Lebanon, TN 37090
1-800-736-0925

Sales Fax: 1-800-231-3256

Parts



Parts Price List

603131-00-0
603275-99-0
612300-99-0
612340-99-0
612349-99-0
612359-99-0
612393-99-0
612397-08-0
612474-99-0
612512-99-0
612513-99-0
612530-00-0
612531-99-0
612561-99-0
612668-99-0
612675-99-0
612722-99-0
612723-99-0
612745-99-0
612778-99-0
612781-99-0
612793-99-0
612800-99-0
612802-99-0
612804-99-0
612805-99-0
612807-99-0
612823-99-0
612857-99-0
612871-99-0
612875-99-0
612888-99-0
612902-99-0
612912-99-0
612933-99-0
612947-99-0
612953-00-0
612979-99-0
612980-99-0
612993-99-0
613011-99-0
613017-00-0
613021-99-0

END CAP BACKREST LOESER *

BOLT K6S 8X 12 FZB *

ADJUSTMENT HANDLE 6X45

THIN SHCS, M8X16 DIN 7984, FE/AN 5 C1

BOLT MF6S 8X35 10.9 FZB

HEXAGON SHCS M8X25 12.9 LOCK COAT

WASHER ISO 7093-1 FE/ZN 8

TIRE 210X65 SOLID GRAY STR C3/350/500 F3/5
BHCS ISO 7380 M4X6 10.9 FE/ZN 5, C4

BOLT ISO 4762 M8X25

WASH 8.4X23X5 HB 305 YELLOW

PLASTIC PLUG 26 X 17 1"OD PS, K450, MF TUBULAR
SPACER DB DIN988 8X14X0.5 *

BOLT MC6S 6X 50H FZB

RUBBER BLOCK, SEAT STA- BILIZER, CENTER JSM
WASHER 6,4X18X1,6 FZB

ACTU LAS 1-25MM PERMOLOCK *

MOTOR (CIM # PM805-001A) (K450) (PART # 211449)
SLIDE BEARING 22/25X20SBT **EACH***

BOLT K6S 10X50 FZB C)
BOLT K6S 5X 6 FZB

M3X18 8.8 FE/ZN 5 C1 HEX SOCKET @ SCREW
WASHER DIN 137B 6FE/ZN 5 C1 ( 4 X2 X 0,5)
LOCK HANDLE M5X20 CTR SH 0C350

LEG ACTUATOR, C300/C350 %ARDWARE
ACTUATOR, POWER REC 5.4.100.M1,C300P+R-
SCREW MLC6S 8X16 ®84, LOW HEAD SHCS
SHCS, THIN M8X25 DI 7984 8.8 FE/ZN 5 C1

WASHER 1SQ 7093-1 5 200 HV FE/ZN 5 C1 (5.3X15X1)
ACTUATO WT 45° U136-01,C300/350 Cll PS
SOLEN OCK PLUNGER

LOCK OCK 8,7X13,5 X2,5

WA 6 8,4X15X1,5 TYPE F

RING 015,3X2,4 NBR 70

ELC6S 6X 10 FZB 10.9

QUARE NUT M6 8 FE/ZN 5 C1 DIN 557

ABLE CLIP MAX=17X12MM K450 PSJR M3/400 C3G VS
HEXAGON BUTTON HEAD CAP SCREW,M5X35 10.9
NUT ISO 4035 M6 FE/ZN

LOCK HANDLE M6X20

SHCS 1SO 4762 M8X35 10.9 FE/ZN 5 C2 / LOCKING COAT

R-NET POWER MODULE 120A C350,500S,K450, F3/5 M3/5
TAPPING SCREW 3X8 FE/ZN 5 C1 REMFORM

Effective 09/09/2019
Prices subject to change without notice. lofl

{\

permgbil
$81.39 $56.97
$6.90 $4.83
$6.90 $4.83
$6.88 $4.81
$7.96 $5.58
$6.94 $4.85
$5.49 $3.85
$48.35 $33.85
$6.90 $4.83
$6.90 $4.83
$13. $9.56
$23.94
g 3 $5.83
90 $4.83
$26.00 $18.20
$4.83
$548.61 $384.03
$142.50 $99.75
$10.32 $7.22
$6.90 $4.83
$6.90 $4.83
$6.90 $4.83
$6.90 $4.83
$7.80 $5.46
$1,048.39 $733.88
$1,048.39 $733.88
$6.90 $4.83
$8.59 $6.02
$6.90 $4.83
$874.16 $611.92
$723.64 $506.55
$6.90 $4.83
$6.90 $4.83
$6.90 $4.83
$7.42 $5.19
$5.49 $3.85
$6.90 $4.83
$5.49 $3.85
$5.49 $3.85
$10.95 $7.66
$19.71 $13.80
$1,955.23 $1,368.66
$6.90 $4.83

Permobil Inc.
300 Duke Drive
Lebanon, TN 37090
1-800-736-0925

Sales Fax: 1-800-231-3256

Parts



Parts Price List

613022-99-0
613027-00-0
613028-99-0
613078-99-0
613088-99-0
613108-99-0
613114-99-0
613136-99-0
613149-99-0
613293-99-0
613428-99-0
613430-99-0
613434-99-0
613488-99-0
613489-99-0
613504-99-0
613508-99-0
613509-99-0
613518-28-0
613520-28-1
613531-28-0
613537-99-0
613542-99-0
613549-99-0
613554-00-0
613555-00-0
613564-28-0
613590-99-0
613772-00-0
613809-99-0
613863-99-0
613890-99-0
613901-99-0
613933-99-0
613987-99-0
613991-99-0
614011-99-0
614013-99-0
614183-99-0
614239-99-0
614375-99-0
614508-99-0
614509-99-0

TAPPING SCREW 3X16 FZB REMFORM

CABLE BUS R-NET L=2.5 SPARE PARTS = 1821526
CABLE BUS 3.5M RNET MALE - MALE

TAPPING SCREW 4X16 FE/ZN

BOLT MC6S 8X16 FZB ESL 10.9 C1 ISO4762 DIN267-28
HEX SOCKET SET SCREW M4X8 45H

BOLT K6S 8X40 FZB 1SO7380

SCREW, SOCKET BUTTON HEAD ISO 7380 M6X40
BHCS M8 X 25 W/LOCKING PATCH; TECH USE 1828843
SCREW MLC6S 10X 40 FZB DIN7984
HEXAGON SOCKET SET SCREW M6X8 45H ISO 4029
ESP MODULE R-NET SPARE PARTS USE 1822804
LUBRICANT GREASE LITHIUM (KLUBER GL261)APROX
ACTU. TILT LA 28C 156+200 KIT-U139-00, K450
ACTUATOR LA28C, SEAT ELEV KIT-U140-00
SHCS, THIN HEAD, M10X70 8.8FE/ZN 8 C1, DIN 7984
WASHER PA 11.92X17X3
BUSH SS 8X11.98X19.5
FOOTPLATE SMALL K450 \'
ARMREST RIGHT MX SEAT(K45 (K450) C)
FOOTPLATE LARGE K450
BRACKET TRANSPORTATION Kl (K45 %
BELT SEAT WAIST (K450) {
SEAT FRAME ASSEMBLY (K450 \
ANTI-SKID FOR SMALLFOOTP¥\K458)-PARTS USE
ANTI-SKID FOR LARGEFO 50)-PARTS USE
CHASSIS K450 INCL S @AS & ELEV/TERRA ASSM
SHCS IS0 4762, M6X1%E/ZN 5 Cl / LOCKING COAT
HANDLE GRIP, EACH, BLACK PUSH/TRANSFER
CONFIG U 24649-0 700MM LEAD,PARTS=1825758
BUTTO SCREW 1SO7380 M6X8 10.9 BLACK
LOCK H 5X10 LOW F3 F5 M3 M5 M1 SHROUD
62 M8X20 FE/Z LOCKING COAT DIN 267-28
CABLE, CHARGER, UK PERMOBIL CHARGER,
ANDLE M5X20 LOW M300/M400 SHROUD
EXAGON SOCKET SET SCREW ISO 4029 M8X16 45H
XAGON SOCKET HEAD CAP S M10X35X1.25 8.8 FE/ZN
SHCS M6X30 10.9 FE/ZN 5 C1, ISO 4762
HEAVY DUTY SHOCK ABSORBER (RED DOT)
SHCS M6 X 6 8.8 FE/ZN 5 C1 ISO 4762
SHCS, M6X12 FE/ZN 5 CI ISO 4762
TAPPING SCREW 3X6 FE/ZN 5 C1 REMFORM
COMPRESSION SPRING C350

Effective 09/09/2019
Prices subject to change without notice. lofl

permgbil

$5.49
$204.04
$76.86
$6.90
$6.90
$5.39
$6.90
$5.74
$28.86
$7.46

$1,911.51
$251.35
$1,911.51
$724.02
$203.75
$1,234.59
$52.74
$52.74
$14,040.95
$6.90
$41.61
$7,176.60
$6.90
$13.02
$6.90
$30.14
$7.80
$6.90
$6.90
$13.26
$131.43
$7.22
$6.90
$6.68
$36.59

$3.85
$142.83
$53.80
$4.83
$4.83
$3.77
$4.83
$4.03
$20.20
$5.23
$4.83
$5,023.62
$86.13
$1,746.10
$367.13
$5.46
$4.83
$4.83
$1,338.06
$175.94
$1,338.06
$506.81
$142.63
$864.22
$36.92
$36.92
$9,828.67
$4.83
$29.13
$5,023.62
$4.83
$9.12
$4.83
$21.09
$5.46
$4.83
$4.83
$9.28
$92.00
$5.05
$4.83
$4.67
$25.62

Permobil Inc.
300 Duke Drive
Lebanon, TN 37090
1-800-736-0925

Sales Fax: 1-800-231-3256

Parts



Parts Price List

614633-99-0
614692-99-0
614798-99-0
614799-99-0
614811-99-0
615050-99-0
615228-99-0
615235-99-0
615301-99-0
615354-99-0
615355-99-0
615386-99-0
615415-99-0
615416-99-0
615417-99-0
615419-99-0
615608-99-0
615749-99-0
615750-99-0
615779-99-0
615878-99-0
615931-99-0
7000-2002A
75347
95003
AF-SL
CEO0013

CUSTOM OPTION -

ROHO
D50611

D50883
D51113
D51189
D51190
E23171-01

FSTN-1175205

FSTN-94017

HELMODIFIEDQS1010

LPC
HWO0053

HWO0125
HWO0156

K306431-99-90-0
K306470-99-90-0

SHCS M4X10 10.9 FE/ZN C1/ LOCKING COAT DIN 267-28
CABLE, PJSM CONTROL PANEL R-NET, 1.5M, 90°

BHCS M10X20 10.9 FE/ZN 5 C1, DIN 267-28, ISO 7380
BHCS M10X30 10.9 FE/ZN C1 DIN 267-28, ISO 7380
BHCS M4X8 10.9 FE/ZN 5 C1 LOCKING COAT DIN 267-28
SHCS M6X20, EACH

DISC SPRING 8.4X18X2 DIN 6796

SHCS, M8X50 12.9 FE/ZN 5 C1/LOCKING COAT

SHCS ISO 4762 M5X12 8.8 FE/ZN 5 C1/DIN 267-28

BHCS. LOCKING COAT M10X16

*SHCS COUNTERSUNK #4-40 X 3/8" FE/ZN 3AN

BHCS M10X35 10.9 FE/ZN 5 CI/LOCKING COAT,DIN267-28
HEX HEAD BOLT, DIN 931 M12X65 10.9 FE/ZN 5 C1

HEX HEAD BOLT, M12X90 DIN 931 10.9 FE/ZN 5 C1

permgbil

$6.68 $4.67
$218.45 $152.91
$6.68 $4.67
$6.68 $4.67
$6.90 $4.83
$13.21 $9.24
$6.90 $4.83
$6.94 $4.85
$6.68 $4.67
$6.70 $4.69
$6. $4.69
$4.83

¢ 1 $5.73
NS s

HEX HEAD BOLT, DIN 933 M12X40 10.9 FE/ZN 5 C1 $6.94 $4.85
WASHER, (ID13X0OD24XS2.5) ISO 7089 12 300 HV FE/ZN K\ $6.70 $4.69
HEX HEAD BOLT, ISO 4017 M6X25 10.9 FE/AN 5 C1 $6.68 $4.67
SHCS, M6X70, BLACK ZINC ISO 4768, 8.8 FE/ZN 5 C4Q $10.89 $7.62
HEX NUT, M6, BLACK ZINC I1SO 4032, 8 FE/ZN 5 $6.90 $4.83
BHCS M5X12 10.9 FE/ZN C1 LOCKING COAT 8 $6.68 $4.67
SHCS M3X2 2 8.8FE/ZN 5 C1, ISO 4762 $6.68 $4.67
TAPPING SCREW M5X12 WN 1452 RT, @ $6.68 $4.67
SCREW, 3X8 DIN7985, SELF- $5.49 $3.85
SWIVEL ASSEMBLY, HAIMES H & $217.34 $152.14
STRAP, HAIMES HARNESS $113.94 $79.76
AIR FORCE EMBLEM $72.34 $50.64
DB9 MALE TO FEMAL @ MODIFIED FOR FOOT C $129.59 $90.71
CUSTOM ROHO CUS@RDERED FROM ROHO $1,122.79 $785.95
RNET OEM GRAMMER NFS INTERNAL USE ONLY $1,039.89 $727.92
R-NET | T MODULE SPARE PARTS USE $678.20 $474.74
R-NET MING KEY FOR/ W/PC- PARTS USE $1,942.25 $1,359.58
RJIOYST MODULE 1-TOGGLE-POT-NO $1,068.91 $748.24
R JOYST,L-S-P-T SPARE PARTS USE $1,778.36 $1,244.85
SEAT FUNCTION CTRL SPARE PARTS USE $838.85 $587.20
ASS SHIM FOR 0027-7027A TO FIT ON 1/2" ROD $6.90 $4.83
TTON HEAD CAP SCREW, 6-32 X 3/8" LONG (EGG SW) $6.90 $4.83
ROHO QS LP 18WX18D CUSH - QS1010LPC, MOD FOR $896.72 $627.71
HELIUM
INDEXING PLUNGER -LOCKING JW WINCO GO01/AK $76.96 $53.88
WASHER,DIN 9021,M6, ZINC $6.70 $4.69
SCREW-BHCS M5X0.80X35MM NEED QTY.4 FOR $6.90 $4.83
SEAT CUSH ERGO 450X500 LEATHERETTE $140.77 $98.55
SEAT CUSH ERGO 500X500LEA TTE $140.03 $98.02

Effective 09/09/2019
Prices subject to change without notice. lofl

Permobil Inc.

300 Duke Drive

Lebanon, TN 37090
1-800-736-0925

Sales Fax: 1-800-231-3256
Parts



Parts Price List

K450WC191208
L5008XXXFO
M24 SLD G FT
M34 SLDG
M40-12 SLDG
MACCH
MACCHL
MICROSWITCH
NAVY-SL

OX50

P77291

P77293
SA75948
SA76525
SA78445
SA78640L10
SA80033
SWBOXBRKT
VC172-8

VIS-CBHC5X10ZN
VIS-CBHC6X10ZN

VIS-CHC5X16ZN
VIS-CHC8X50ZN
VIS-CHC8X60ZN
VIS-FHC4X8ZN
VIS-FHC5X10ZN
VIS-FHC6X12ZN
VIS-FHC6X20ZN
VIS-H8X65ZN

DVD INSTRUCTIONAL VIDEO - K450 WC 19 KIT
12V BATTERY FOR LSE, EACH STAND UP FUNCTION
BATTERY -GROUP24 12V74AH TECH USE 602130-99-0
BATTERY - GROUP34 12V60AH TECH USE 603073-99-0
BATTERY KOALA M40 TECH USE 603097-99-0
HAIMS HARNESS MULTIACCESS SMALL- TECH USE
HAIMS HARNESS- LARGE SPARE PARTS USE 1826559
MICROLITE SWITCH TASH SPAREPARTS USE 1820039
NAVY EMBLEM
I.V. POLE TWO HOOK FOR WHEELCHAIR
KEYPAD, REAR, MONO/COLOR R-NET JSM, NO LIGHTS
KEYPAD, FRONT, MONO/COLOR R-NET JSM, NO LIGHTS
CABLE, JOYSTICK, 1 METER W/ STRAIN RELIEF BOOT,
PC PROGRAMMING CABLE *
CABLE ATTENDANT CTRL RNET
R-NET BUS CABLE EXTENSION M-TO-F (TECH USE
CABLE FOR LED JSM, LONG ~27.5"L
ALTERNATIVE SWITCH BOX BRACKET (NEW DRAWI
CAP, RUBBER - INNER- MINI JOYST, PARTS U &2652
OVAL-HEADED SCREW M5X10
OVAL-HEADED SCREW M6X10
FILLISTER-HEADED SCREW M5X16 %
FILLISTER-HEADED SCREW M8X K
FILLISTER-HEADED SCREW M
COUNTESUNK-HEAD SCREW 4X

M5X10

COUNTESUNK-HEAD SC
COUNTESUNK-HEAD 6X12

COUNTESUNK-HEAD %w
HEXAGON-HEAD SCREW M8X65

Effective 09/09/2019

Prices subject to change without notice.

lofl

Q\

permgbil
$15.07 $10.55
$116.88 $81.82
$734.37 $514.06
$594.12 $415.89
$488.89 $342.22
$1,184.58 $829.20
$1,422.62 $995.84
$238.12 $166.68
$72.34 $50.64
$316.50 $221.55
$45. $32.12
$31.98
g 6 $94.95
$72.79
$64 59 $45.21
$215.88 $151.12
$239.48 $167.64
$30.32 $21.23
$5.69 $3.99
$6.90 $4.83
$6.90 $4.83
$7.51 $5.25
$6.90 $4.83
$6.90 $4.83
$6.90 $4.83
$7.55 $5.28
$6.90 $4.83
$6.90 $4.83
$6.90 $4.83

Permobil Inc.

300 Duke Drive

Lebanon, TN 37090
1-800-736-0925

Sales Fax: 1-800-231-3256
Parts





